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 ���
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� ������
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 !������ � �� �����	
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�� ������� LQG �����
� �
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��� �

���
��� ����

������ �� �����
�	� �� �
 ����	�� �� ������� �� 
� ���
����� 0����� �� 	�������� �
 ����
�

�� 
� �
����

ẋ = Ax+Bu+ Γw

y = Cx+ v,

����� w � v ��� �
���� �
��	��� 	��������������� � ���	���� ����	����	�� ��
������� ��

)�
�� ����� �

� � �� 	����
�	������� 	�� �
 ������� �� 	�)�������� E
{
wwT

}
= W ≥ 0



�1 ����
�� ��������

� E
{
vvT
}
= V > 0�

�
 ����
��� �
� �� �
����� �� 	!�� ����
)�� 
� 0
�	�!� �� 	����

J = ĺım
T→∞

E

⎧⎨⎩
T

0

ˆ
(zTQz + uTRu)dt

⎫⎬⎭ ,

����� z = Mx �� �
�
�� 	������	�!� 
����
 �� 
�� �������� � Q = QT ≥ 0 � R = RT > 0
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���	����� ����
	�
����� ����� � ������� ��0�������

������� ���� ������ 
�� ��	�����
������ �� ������ 

���� �����	� 
� ������ μ ����
���� ���

���
� G���
� ��� (����� *1/*H� G���
�� *1/+H� �
 ���
��� �� ���
������	�!� 
��
����� ��

���� ������ �� �
����� �� 
� :�
�� *�,� �
 �
��
� M(s) �� 
�� ������ �� �����0����	�� ��

�����	�����!�� � Δ(s) = diag(Δ1, . . . ,Δr) �� 
�� ������ �������
 �������	����� � 
� 	
���

�� ����
���	�����

DU
1 (r) = {diag(Δ1, . . . ,Δr) : Δi ∈ Δ∗} ,

����� Δ∗ �� 
�� ��0��� �� �
 ����	�� �� 
�� 0
�	����� ��	����
��� �� ����� 
������ �� ��	��

Δ∗ = {Δ : Δ ∈ RH∞, ‖Δ‖∞ ≤ 1} .

C

Δ

u vM
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��� �������������� ������������� � �� �������������� ��


� �
���� ������
 ($(Q� G0(s) = N0(s)/D0(s), ���

�����

M(s) =

⎛⎝ M11(s) M12(s)

M21(s) M22(s)

⎞⎠ ,

�����

M11(s) = D−1
o (s) =

⎛⎜⎜⎜⎜⎜⎝
−De(s) −De(s) Ne(s)De(s) No(s)De(s)

−Do(s) −Do(s) Ne(s)De(s) No(s)De(s)

0 0 0 0

0 0 0 0

⎞⎟⎟⎟⎟⎟⎠
M12(s) = D0(s)−1

(
N0(s)De(S) N0(s)Do(S) Ne(s) No(s)

)t
M21(s) = D0(s)−1

(
−1 −1 1 1

)
M22(s) = D0(s)−1N0(s) = G0(s)

������ Ne(s)� De(s)� No(s)� Do(s) 
�� ������ ����� � ������� �� N0(s) � D0(s)

�����	��)�������

(� �� �%��� 
� 	�����
���� C(s)� �
 ������� �� 
��� 	������ �
��� ������������� 	���


�� �����	�����!� ���
�������� �� 
� ������ �������
 �� ��	�����
����� ΔR 	�� 
��

������ �� �����0����	�� Mcl(s) = Pcl(s)
−1Dc(s)V (s)W t(s)� �����

V (s) =
(

De(s) Do(s) −C(s) −C(s)
)t

W (s) =
(

−1 −1 Ne(s) No(s)
)t

� Pcl(s) = Do(s)Dc(s) + No(s)Nc(s) �� �
 ��
������ 	���	�������	� ������
 �� 
���

	������� �
 ������� �� 
��� 	������ �� ���
�������� �����
� �� � �!
� �� Pcl(s) �� �����
� �

det
(
I −Mcl(jw)Δ

R
) �= 0, ∀w ≥ 0, ∀Δ :

∣∣ΔR
i

∣∣ ≤ 1�

#��� �
��� �����)���� 
� ����������	�!� �� ����� ��	�����
����� �� �� ����� �	������
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�
�
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��	�����
����� ����� ���	�� �� �
��� ��	����� �� 
� 0����

p(s,q) = a0(q) + a1(q)s+ a2(q)s
2 + . . .+ an(q)s

n, @*�*A

����� q = (q1, q1, q2, . . . , qn) ∈ Rn �� �
 )�	��� �� ����
���	����� �
� ���������� 
��

��	�����
����� �� 
�� ����������� � Q = {q : qi ∈ [q−i , q
+
i ], i = 0, 1, . . . , n} ������ 
�
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�	�� ������������� �������
�� �� ������������ #��� 	��������� qi �� q

�����	� �!
� �� 
� 	��:	����� ai(q)�

+�  �������
�	�� 
!�� ����
�� #��� 	��:	����� ai(q) �� 
�� 0
�	�!� �0�� 
����
� �� ����

	��� qi �
��� �����	�� �� 0���� 
����
 �� ��� �� 
� 	��:	������
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�� 0���
�� �� ��
������� P (s,Q)� �������� ��� 
� ��
������ p(s,q) �� ����� n 	
���

	��:	������ ���
�� ai(q) ��� 0
�	����� 	�����
�� �� 
� )�	��� q �� �������!� l ��

���������� ��	������ ���
��� 	��� 
�� �	����� �� 
� �����)�
� [q−i , q
+
i ]�

P (s,Q) = {p(s,q) : q ∈ Q}
p(s,q) = a0(q) + a1(q)s+ a2(q)s

2 + . . .+ an(q)s
n,q = (q0, q1, q2, . . . , ql) @*�+A



	0 ����
�� ��������

0������� �����	�� �
 	��&
��� �� )�	����� q �� ����� 
�� ���������� �����
�� 
�

�������	����

� Q �� �
 ����	�� �� ����������� Q =
{
q : q−i ≤ qi ≤ q+i , i = 0, 1, 2, . . . , l

}
.
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 ���
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� ������
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��� �� P (s,Q)�
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���� � 
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�� ��� R[P (s,Q)] = {v ∈ C : p(v,q) = 0, p(s,q) ∈ P (s,Q)}
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 � Q� ��	 ����

a0(q1) + a1(q1)s+ . . .+ an(q1)s
n = an(q1)(s− α1)(s− α2) . . . (s− αn)

a0(q2) + a1(q2)s+ . . .+ an(q2)s
n = an(q2)(s− β1)(s− β2) . . . (s− βn)
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βi� ���� i = 1, 2, . . . , n�
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�������
 q1, q2 ∈ Q ��	�
 ���

p(s,q1) = a0(q1) + a1(q1)s+ . . .+ an(q1)s
n

�
 �
��"	� �

p(s,q2) = a0(q2) + a1(q2)s+ . . .+ an(q2)s
n

�
 ���
��"	�� �������
 �	 ���#���� 
� �����
 
� P (s,Q) �������� �	 ����
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��
� �� ��	������ p(s)� 
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������� ����� ��� ���	
��	� �
 �� ���
��

	� w �	 �+����

����	�#� ��� ��
�	�� 
� ���	��� p(s) �� s = jw�
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 ;���	���� ��
 6��
����� ���)� 	��� ���� ���� �
 �
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 ����
��� �� 
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��� ���

�,�������� 
�	 )�$������ ��� Γ �� �������� �����
� 
���	� �������
� ��
����������� ��� f

��� �����'� ���	����� 
�"�� Γ � 
����� 
� Γ� 
�	�� �� ��	�
 ���������
 � Γ� �� f �� ����� ����



�"�� Γ� �	 ���������� ���� 
�	 ��$������ 
� f(z) -ΔΓ arg f(z). ����
� z 
� ��� ���	��

����	��� � 	� 	��$� 
� Γ �
 2π(Z −P )� 
��
� Z � P 
�� �	 �+���� 
� ����
 � 
� ��	�
 
� f

���������
 � Γ�

��������� �� �
 ;���	���� ��
 6��
������ '�R���
�) G'�R���
�)� *1./H �������! �
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� ������
���� �
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� ��
�������

2��
��� ���

�%������ 
� /�01��	�� 2� ��	������ p(s) �
 �
��"	� 
� � 
'	� 
� �	 
��$���� �� �	 �	���

����	�#� 
� 
�
 ��	���
 p(jw) ���� 0 ≤ w ≤ ∞ 
���
���� 	�
 
�
 ���
������
 
�$������
�

�� p(j0) = a0� �
 
����� �	 
��$���� �������� �� �	 �#� ���	 ��
������

�� &���
� w ������ �	 
��$���� 
� p(jw) �������� �	 ���$�� �� 
����
� ��
����� � 
� ��
�

����
� � n
π

2
����
� w ����
� � ∞�
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��� ��1

�� �� ��	������ p(s) �
 �
��"	�� �������
 
� ��$������ �
 ���'��������� ���������� �
 
����

∂ arg p(jw)

∂w
> 0� ���� ��
� w�

2� ��������� �� �����
����� ������� ������� 
� ���� �� ������
���� �
�E��� 	���	���

	��� 4������ �� �����
����� � �� �������C����
��� ;��� �

�� ��� p(s) 
� ��
������ ��

����� n� (� ��:��� 
�� ������ ��� � ����� �� p(s)� �����	��)������� 	���

pe(s) = ao + a2s
2 + . . .

po(s) = a1s+ a3s
3 + . . . ,

� ����

P e(w) ≡ pe(jw) = a0 − a2w
2 + a4w

4 − . . .

P o(w) ≡ po(jw)

jw
= a1 − a3w

2 + a5w
4 − . . .

#��� P e(w) � P o(w) ��� ��
������� �� w2 �
� ���	�� ��� ��� ���	�� �����	�� �
 ������

��
 �
��� 	���
�&��

(� �
 ����� �� p(s) �� ��� @n = 2m, m > 0A �� ����� �
�

P e(w) = a0 − a2w
2 + a4w

4 − . . .+ (−1)ma2mw
2m

P o(w) = a1 − a3w
2 + a5w

4 − . . .+ (−1)m−1a2m−1w
2m−2

� �� �
 ����� �� ����� @n = 2m+ 1, m � 0A� �����	��

P e(w) = a0 − a2w
2 + a4w

4 − . . .+ (−1)ma2mw
2m

P o(w) = a1 − a3w
2 + a5w

4 − . . .+ (−1)ma2m+1w
2m

��$������ ���

2� ��	������ p(s) 
� $��
� ��� -��
������������ �����. 
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���� 	� ������
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� �����	���
��


� ����	� 	�
 
�
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������
 
�$������
�

a2m(a2m+1) � a2m−1(a2m) ������ �	 ��
�� 
�$���

%�
�
 	�
 �����
 
� P e(w) � 
� P o(w) 
�� ���	�
 � 
�
�����
 � �
���
 	�
 m �����




	� ����
�� ��������

��
�����
 
� P e(w) � 	�
 m−1(m) �����
 ��
�����
 
� P o(w) 
� �����	���� 
� 	� 
�$������

������

0 < we,1 < wo,1 < we,2 < . . . < we,m−1 < wo,m−1 < we,m


� n �
 ��� �

0 < we,1 < wo,1 < . . . < we,m−1 < wo,m−1 < we,m < wo,m


� n �
 ������

;�� ������ 
� ��
������ p(s) = pe(s) + po(s) �����0�	� 
� ��������� �� �����
�����

�� � �!
� �� 
�� 	��:	������ 	��������������� � 
�� � ������ �� ����� ����� �� �
 �����

��� � �� �
 ����� ����� ��� ��
 ����� ������ 
�� 	���� �� 
�� ��
������� ��� � �����

��� ���������� ���
���� �� �
 �&� ���������� � �
������ � 
� 
���� �� ��	�� �&�� (� �
���

��
�	��� �
 ���
����� 4������ �� �����
����� � �� �������C����
���
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2� ��	������ ���	 p(s) �
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� � 
'	� 
� 
���
���� 	� ������
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� �����	���
��

2� ��������� �� �����
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�)�
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� ��������� �� ��	�������

���!��������� 	��	����� �� 
� 0��� @4������ �� '�R���
�)A� �� ��	��� �
 �������� ��

p(jw) ���� 	�
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�� �&�� �� 0���� �������� �� 
� ��	
��	�� �&� ���������� ������)�

C �&� ���
 ������)� C �&� ���������� ������)� C �&� ���
 ������)� C ��	�� �����0�	� ����� �
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� ���
&� ��

�
 ������� �� 
� 0��	
��	��� �� 0�	�
 ���������� �� 
� ��
������ �� �����
��

;��� �������� �
 4������ ��
 �����
����� �
 ���
���� �� 
� ������
���� �� 
�� 0���
�� ��

��
�������� �� ���� ���
���� 
� ����� ��������	�!� �
� �� 	�����! ���� �
 

��� �� 
��

���	��� ���� ��� 	�
	

�� �
 �������� ��
�� ���� 	��� ��
������ �� 
� 0���
�� � 	��������

�� 	
��
� � �� �
 �����
����� 	����	��� �
 ���
����� ���

���� ���
�� ���� ����������	�!��

2��
��� ��-

�� ����	�� 
� ��	������
 P (s,Q) �
 ��"�
������� �
��"	� 
� � 
'	� 
��

�� 5!�
�� �� ��	������ �
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�� q ∈ Q ��	 ��� 
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P (jw,Q) = {p(jw,q) ∈ C : q ∈ Q} .
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��� �� ������� ��
 �������

� �� 
� ������

�� ���

����� �� �
���� ��������� 2�� ��	�����
����� �� 
�� ���������� �� �����������

�������� �
 )�	��� �� ����
���	����� q = (q0, q1, q2, . . . , qn) ∈ Rn+1 ��������������� ��

��	��� �
 )�
�� �� 	��� ��������� �� ����
���	�!� �� ���� ��
�	������ 	�� �
 )�
�� �� ����

��������� �� ����
���	�!�� � 	�� 
������ 	���	���� q−i ≤ qi ≤ q+i , i = 0, 1, ..n�

���� ���� ����
	�
�� �� ����
���	����� ��������������� �� 	�������� 
� 0���
�� ��

�����)�
�� �� ��
������� PI ���	���� ���

p(s,q) = q0 + q1s+ q2s
2 + . . .+ qns

n @*�.A

�
 ����
��� �� ���������� �� ���� 
� 0���
�� PI �� �����	������� �����
�� �� ��	�� ��

����� 
�� ���	�� �� ����� 
�� ��
������� �������	������ � 
� 0���
�� PI �� ��	
������ ��

�
 �����
��� ���
����� ��
 �
��� 	���
�&� C� �� ���� 	������� �� ���
���� 
�� ���
������

��:��	������

��$������ ���

2� ��	������ p(s) �
 �
��"	� -
� 3��4���. 
� ��
�
 
�
 �����
 �
��� �� �	 
����	��� �������
�

�"����� 
�	 �	��� ����	�#��

��$������ ���

2�� ����	�� 
� ��	������
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��� ��"�
������� �
��"	� 
� ��
�
 
�
 ��	������
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��"	�
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��$������ ��1

2�� ����	�� 
� ��	������
 ���
���� ����������� 
� $��
� 
� ��
�
 
�
 ��	������
 
�� 
�	 ��
��

$��
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����� 
� �	 ���(������ 
� ����� $��
� �
 
�
����� 
� ���� ���� ��
�
 	�
 ��	������



� 	� ����	���



�� ����!����� �� "����� �#������� 	�

�� 
� 0���
�� �� �����)�
�� �� ��
������� PI @�	
�	�!� *�.A �� ����� 
�� ���
������

	
���� ��
������� �������
�����

K1(s) = q−o + q−1 s
1 + q+2 s

2 + q+3 s
3 + q−4 s

4 + q−5 s
5 + . . .

K2(s) = q+o + q−1 s
1 + q−2 s

2 + q+3 s
3 + q+4 s

4 + q−5 s
5 + . . .

K3(s) = q+o + q+1 s
1 + q−2 s

2 + q−3 s
3 + q+4 s

4 + q+5 s
5 + . . .

K4(s) = q−o + q+1 s
1 + q+2 s

2 + q−3 s
3 + q−4 s

4 + q+5 s
5 + . . .
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p(s) = sn +
n∑

i=1

ais
n−i, 0 < a−i ≤ ai ≤ a+i . @*�7A

���	���������� p(s) �� �
� ������ ��� � ����� p(s) = h(s2) + sg(s2) �� 	�����
���


�� ��
������� �� 5��������)

K1(s) = h1(s
2) + sg1(s

2); K2(s) = h2(s
2) + sg1(s

2)

K3(s) = h1(s
2) + sg2(s

2); K4(s) = h2(s
2) + sg2(s

2)

�����

h1(s) = a−n + a−n−2s
2 + a−n−4s

4 + . . . , h2(s) = a+n + a−n−2s
2 + a+n−4s

4 + . . .

g1(s) = a−n−1 + a+n−3s
2 + a−n−5s

4 + . . . , g2(s) = a+n−1 + a−n−3s
2 + a+n−5s

4 + . . .

2� ��������	�!� ��
 4������ �� 5��������) �� ���� �� �
� ���� s = jw 
� ����� ���

�� 
�� ��
������� �� 
� �?���� ���
 � 
� ����� ����� �� 
� �?���� ���������� �
��� ��

��	���

Re(p(jw)) = h(−w2); Im(p(jw)) = wg(−w2).

�)�

���� h1(s
2) � h2(s

2) �� s = jw �� �������

h1(−w2) = a−n − a+n−2w
2 + a−n−4w

4 + . . .

�

h2(−w2) = a+n − a−n−2w
2 + a+n−4w

4 + . . . .

4������� �� 	
���� 
�� ������		����� �� 
� �	
�	�!� *�7 �� �����0�	�� 
�� ���
������

�����
�
�����

h1(−w2) ≤ h(−w2) = an − an−2w
2 + an−4w

4 + . . . ≤ h2(−w2) @*�,A

6��
��������

g1(−w2) ≤ g(−w2) ≤ g2(−w2). @*�-A

2�� 	����	����� *�, � *�- ����	�� �
�� ���� 
�� 0��	
��	�� ����� �
 )�
�� p(jw) ��
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z =
s + 1

s− 1
�� �����0���� �
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� �� ��
������� �� z �� 
�� 0���
�� �� ��
������� �� s
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p(s,q) = sn +
n−1∑
i=o

ai(q)s
i,

����� 
�� 	��:	������ ai(q) �������� �� 0���� �0�� 
����
 �� 
�� ���������� 0���	�� q =

(q0, q1, q2, . . . , ql)� #
���� 	��� 
�� �� ����� ���������� �� 	���	� ������ �� 
�� 
������

������ �� ��	��� qi ∈ [q−i , q
+
i ], i = 0, 1, 2, . . . , l� �
 )�	��� q �� ���������� �� ����
���	�!�
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a(Q) = {a0(q), a1(q), . . . , an(q) : q ∈ Q}

��:�� 
� ��
����� �� Rn+1� �� ��	��� 
��
������ ���
������ �� ���
���� 	��)���� ��

�
��� �������� a(Q) 	��� �
 ��	
��������� 	��)��� �� 
�� ����������� a(qi)� a(Q) =

conv (a(qi)) , ������ qi, i = 0, 1, .., l� 
�� �
���� �������� �� Q� �����	��� �� �����
� 	����
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#��)���� ����� �������� �
� ����� 
�� ��
������� �� 
� 0���
�� P = {p(s,q) : q ∈ Q}
�
���� ���������� 	��� 
�� 	������	�!� 	��)��� �� 
�� ��
������� �������� p(s, qi)� ��

��	��� P = conv (p(s, qi))� ���� &
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�� ���	�� �� 
�� ��
������� (1− λ)pi(s) + λpj(s)

)�������λ �� 0 � 1� ������ pi(s) � pj(s) ��� ��
������� ) ���	�� ��
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P (s) =
pi(s)

pj(s)
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G(s)K
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−
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δ(s) = F1(s)P1(s) + F2(s)P2(s) + · · ·+ Fm(s)Pm(s). @*�<A

��	��������

F (s) ≡ (F1(s), F2(s), . . . , Fm(s))

P (s) ≡ (P1(s), P2(s), . . . , Pm(s))

���

��

〈F (s), P (s)〉 ≡ F1(s)P1(s) + F2(s)P2(s) + . . .+ Fm(s)Pm(s).

(� ��	� �
� F (s) ������
��� P (s) �� δ(s) ≡ 〈F (s), P (s)〉�� �����
� �
�E���� 6 
� 
����

�� ���� ��		�!� �����
� �����:	� �����
� �� �
 ������� �� �
�E����

2�� ��
������� Fi(s) ��� ��
������� ���
�� �� ����� :&�� �������� �
� Pi(j) ���

��
������� ���
�� 	
��� 	��:	������ )����� �� 0���� ������������� �� 
� �����������

�����)�
��

(�� do(Pi) �
 ����� �� Pi(s) ≡ pi,0 + pi,1s + . . . + pi,do(Pi)s
do(Pi) � ��������� ��� #i ≡(

pi,0, pi,1, . . . , pi,do(Pi)

)
�

(�� m = (1, 2, . . . , m)� #��� Pi(s) �������	� � 
�� 0���
�� �� �����)�
�� 3i(s)

����	�:	��� ��� 
�� �����)�
�� pi,j ∈ [αi,j , βi,j], i ∈ m, j = 0, . . . , do(Pi). 2� 	�&� ��:����

�� �
 ����	�� �� ���������� 	�������������� ��

Πi ≡ {#i : αi,j ≤ pi,j ≤ βi,j , j = 0, 1, . . . , do(Pi)}



�� ����!����� �� "����� �#������� �	

(� ������ ��� P (s) ≡ (P1(s), P2(s), . . . , Pm(s)) � ��� 3(s) � 
� 0���
�� �� �C
�
��

3(s)×32(s)×, . . . ,×3m(s).

(�� # ≡ [#1,#2, . . . ,#m] �
 )�	��� �� ���������� �
���
��� � ��� Π ≡ Π1 ×
Π2×, . . . ,×Πm �
 	��&
��� �� ��	�����
����� �� 
�� ���������� �
���
��� �
 ��
������ *�<

�� ��	���� 	��� δ(s,#) � δ(s, P (s)) ���� ��0������ �
 ��������	�� ��
 )�	��� �� ����������

# � �� 
� �C
�
� P (s)�

�
 ��&���)� 	������� �� ���������� 
� ������
���� �
�E��� ��
 	��&
��� �� ��
�������

Δ(s) ≡ {δ(s,#),# ∈ Π} =
{
〈F (s), P (s)〉 : P (s) ∈ 3(s)

}
�
� �� �������� !
����
 �� ������
��� ����
� �� ����������� ��������� 
� ����	�!�

Δ(s) = F1(s)31(s) + F2(s)32(s) + . . .+ Fm(s)3m(s).

2�� ���
������ �
����	����� ����� ���� 0���
�� ��� ��	��������

*� 2�� �
������� �� # ��� ��������������� �� 0���� ��
�)�
����� Π �� 
�� 	�&�

��	����

�� �� 
���� ����
�
�� � 
�� �&���

+� 4���� 
�� ��
������� �� Δ(s) ������ �
 ����� ������

2�� �
����	����� ���������� �������� 
��
���� ���

����� ��
�� 	��� �
 4������ �� 
� 6�����

���� �������

�� 
� ��

	�!�� 6��� Δ(s) �� ���
	�� �� ���� ��������� �� Δ(s) �� ���
	��

'
�(��)� �� 0���� ��
�)�
����� F (s) ���
	���)
 ���� �������� P (s) ∈ $(s)�

2� ��

	�!� �������� � 	�����
�	�!� 	�����
�� 
� �
�	��&
��� ������� �� ���������

ΔE(s) ⊂ Δ(s), 	�� 
� ��������� �� �
� 
� ������
���� �� ΔE(s) ���
�	� 
� ������
����

�� Δ(s)� �� 
�� ��

	�!� 	�����
	��)�� �� �
� 
� ������
���� �� ΔE(s) �
��� )���:	����

����
)����� 
� ����
��� �� ���������	�!� ��
 

��� �� 
�� ���	���

2� ��

	�!� �� �:	������ �� �
� �
 �?���� �� �
������� �� ΔE(s) �� ������������� �� 
�

�������!� ��
 ����	�� �� ���������� Π� �
 �
�	��&
��� ΔE(s) �� ������ 	�����
����� ��

������ 

��� 
� �
�	��&
��� ������� 3E(s) �� 
� 0���
�� �� �C
�
��3(s)� �
 �
�	��&
���

������� 3E(s) �� 	�����
�� � ������ �� 
�� ��
������� �� 5��������) �� 3i(s)�

�����
������ ��� !�����4���� �5�
��� ΔE(s)�



�� ����
�� ��������

2�� ��
������� �� 5��������) 	��������������� � 	��� 3i(s) ���

K1
i (s) = αi,0 + αi,1s+ βi,0s

2 + βi,3s
3 + . . .

K2
i (s) = αi,0 + βi,1s+ βi,2s

2 + αi,3s
3 + . . .

K3
i (s) = βi,0 + αi,1s+ αi,2s

2 + βi,3s
3 + . . .

K4
i (s) = βi,0 + βi,1s+ αi,2s

2 + αi,3s
3 + . . .

� 	������
��� �
 	��&
��� Ki(s) ≡ {K1
i (s), K

2
i (s), K

3
i (s), K

4
i (s)}�

;��� 	��� 3i(s) �� ������
	�� 4 ��������� �
� 
��� ����� �� ��
������� ��

5��������)� �� 
� 0���� ���
������

�i(s) ≡
{
[K1

i (s), K
2
i (s)], [K

1
i (s), K

3
i (s)], [K

2
i (s), K

4
i (s)], [K

3
i (s), K

4
i (s)]

}
����� 4 ��������� �� ��������� ��%������ �� #$
��������

;��� 	��� l ∈ {1, . . . , m} �� ��:�� 3l
E(s) ≡ K1(s)× . . .×Kl−1(s)×�l×Kl+1(s)× . . .×

Km(s)� 	
��� �
������� ��� �� 
� 0����

(
Kj1

1 (s), Kj2
2 (s), . . . , K

jl−1

l−1 (s), (1− λ)K1
l (s) + λK2

l (s), K
jl+1

l+1 (s), . . . , K
jm
m (s)

)
, @*�/A

	�� λ ∈ [0, 1]� 2� �������!� *�/ �
��� ��	������� 	���

(1− λ)
(
Kj1

1 (s), Kj2
2 (s), . . . , K

jl−1

l−1 (s), K
1
l , K

jl+1

l+1 (s), . . . , K
jm
m (s)

)
+λ
(
Kj1

1 (s), Kj2
2 (s), . . . , K

jl−1

l−1 (s), K
2
l , K

jl+1

l+1 (s), . . . , K
jm
m (s)

)
.

#�������������� � 
� �C
�
� 3l
E(s)� �� ��:�� 
� 0���
�� �� ��
�������

Δl
E(s) ≡

{
〈F (s), P (s)〉 : P (s) ∈ 3l

E(s)
}
,

�
� �
��� ��	������� 	���

Δl
E(s) = F1(s)K1(s) + . . .+ Fl−1(s)Kl−1(s) + Fl(s)Sl(s)+

+Fl+1(s)Kl+1(s) + . . .+ Fm(s)Km(s).



�� ����!����� �� "����� �#������� ��

F� �
������ ����	� �� Δl
E(s) �
 �������� �� ��
�������

F1(s)K
j1
1 (s) + . . .+ Fj−1(s)K

jl−1

l−1 + Fl(s)
[
(1− λ)K1

l (s) + λK2
l (s)

]
+

+ Fl+1(s)K
jl+1

l+1 (s) + . . .+ Fm(s)K
jm
m (s)

	�� λ ∈ [0, 1]�

�
 �
�	��&
��� ������� �� 3(s) ���� ��:���� ���

3E(s) ≡
m⋃
l=1

3l
E(s).

2�� ��
������� �� ��������� ������
������ �� 5��������) ���

ΔE(s) ≡
m⋃
l=1

Δl
E(s) =

{
〈F (s), P (s)〉 : P (s) ∈ 3E(s)

}
.

�
 	��&
��� �� �C
�
�� �� ��
������� �� 5��������) �� ������ ��� 3K(s) � �� 	���	�

	��� 
�� ) ���	�� �� 5��������) �� 3(s)�

3K(s) ≡ K1(s)×K2(s)× . . .×Km(s) ⊂ 3E(s).

�
 	��&
��� �� ��
������� �� ) ���	�� �� 5��������) ��

ΔK(s) ≡
{
〈F (s), P (s)〉 : P (s) ∈ 3K(s)

}
,

� 
� �
������ �� ���� 	��&
��� �� �� 
� 0����

F1(s)K
j1
1 (s) + F2(s)K

j2
2 (s) . . .+ Fm(s)K

jm
m .

�
 	��&
��� 3E(s) ���� 	�����
��� � ������ �� 
�� 0���
�� 
������� ���	� �� )�	�����

�� ��
�������� ������� m4m ��������� �� �
 	��� ������
� ����� ��� 4 ��
�������

�� 5��������) ��������� ���� 	��� 3i(s)� 2�� �
�	��&
���� ��
 ����	�� �� ����������

	��������������� � 3l
E(s) � � 3E(s) �� ������� ��� Πl �

ΠE ≡
m⋃
l=1

Πl



�1 ����
�� ��������

�����	��)������� �� 0���� ����
��� �� ΠK ��� 
�� ) ���	�� �� Π 	��������������� � 
��

��
������� �� 5��������)� �����	�� �� ����� �
�

ΔE(s) ≡ {δ(s,#) : # ∈ ΠE}
ΔK(s) ≡ {δ(s,#) : # ∈ ΠK}

�
 	��&
��� 3K(s) ����� 4m �
������� ���������� ����� 	��� 3i(s) ����� 	
���� ��
�������

�� 5��������) ���������� ;�� ������ ΔK(s) �� 
� 	��&
��� ���	���� �� ��
�������� ΔE(s)

�� 
� 	��&
��� �� ��������� �� ��
��������Δ(s) �� 
� ��
����� �� ��
�������� � ΔK(s) ⊂
ΔE(s) ⊂ Δ(s)�

��	����� �� 2��
��� �� 67�
�����" ����
���8����

(� ��	� �
� F (s) ������
��� 
� 	��&
��� �� �C
�
��� 	
���� ������
��� 	��� �
������

��
 	��&
����

2� ������
���	�!� ��
 4������ �� 5��������) ���� 0���
��� �� �����)�
�� 
����
�� ��

��
������� �� 
� ���
������

2��
��� ����

�%������ 
� 81�������� <�����	���
�� �&1���		�� ��
 91�����1������ �:;:  ,��� ��� �=��	�

F (s) = (F1(s), . . . , Fm(s)) 
� ��	������
 ���	�
�

�� F (s) �
��"�	��� 	� ����	�� �(s) 
� �=��	�
 
� � 
'	� 
� F �
��"�	��� ��
� �=��	� 
�


�$�����
 
� �(s)� �� ����� ������	���� Δ(s) �
 �
��"	� 
� � 
'	� 
� ΔE(s) �
 �
��"	��

�� �� 	�
 ��	������
 Fi(s) 
�� 
� 	� ����� Fi(s) = sti (ais+ bi)Ui(s)Qi(s) 
��
� ti ≥ 0

�
 �� �+���� ������ ��"�������� ai � bi 
�� �+����
 ���	�
 ��"�������
� Ui(s) �
 ��

��	������ ����=3��4���� � Qi(s) �
 �� ��	������ ��� � ������ �������
 �
 
�(������

��� F (s) �
��"�	��� �	 ���#���� (���� 
� �=��	�
 �K(s)� � 
� ����� ������	����� ��� �	

���#���� 
� ��	������
 �>�����
 
� 81�������� Δ(s) 
�� �
��"	��

?� ����	������ ��� �	 ���#���� (���� �K(s) 
�� �
��"	�� �� �
 
�(������ ���� �
��"�	����

� ����
� 	�
 ��	������
 Fi(s) �� 
���
����� 	� ���
���'� �� �� ����� ������	����� 	�

�
��"�	�
�
 
� ΔK(s) �� ���	��� 	� �
��"�	�
�
 
� Δ(s) ����
� Fi(s) �� 
���
���� 	�


���
������
 
� ��



�� ����!����� �� "����� �#������� ��

2� ���������� ���
��� ���� �
 ��������	�!� @) ��� G������	������ �� �
�� *11,HA

	������� �� 	�����
�� 
� ��
����� ���������� ΔI(s) �� �������!� 2m �
� )���:�
�

ΔE(s) ⊂ ΔI(s) ⊂ Δ(s). ��	�� ��������	�!� ���� ������ �� ���� 
���� �������������

�
� �� ��	
����� � 	�����
�	�!��

�� �
 ������ 
���� @
��� *�*A� �� ���
����� �
� 
� ������
���� �� ΔE(s) ���
�	� 
�

������
���� �� ΔI(s)�

�
 ���
��� � �
 ���	�� 
���� @
���� *�+ � *�.A �� 
��� ���� ��������� �
� 
� ������
����

�� ΔI(s) ���
�	� 
� ������
���� �� Δ(s)�

��	������� 
� ������
���� �� 	�����
�� 
�� ��
������� �� 5��������) � ������ �� �


����� ��� � ������

K1
i (s) = Kpar,min

i (s) +Kimpar,min
i (s)

K2
i (s) = Kpar,min

i (s) +Kimpar,max
i (s)

K1
i (s) = Kpar,max

i (s) +Kimpar,min
i (s)

K1
i (s) = Kpar,max

i (s) +Kimpar,max
i (s)

�����

Kpar,min
i (s) = αi,0 + βi,2s

2 + αi,4s
4 + . . .

Kpar,min
i (s) = βi,0 + αi,2s

2 + βi,4s
4 + . . .

Kpar,min
i (s) = αi,1 + βi,3s

3 + αi,5s
5 + . . .

Kpar,min
i (s) = βi,1 + αi,3s

3 + βi,5s
5 + . . .

�
��� 	�����
���� �
 ��
����� ΔI(s) �� 
� 0�����

ΔI(s) ≡
{

m∑
i=1

Fi(s)
(
(1− λi)K

par,min
i (s) + λiK

par,max
i (s)

+(1− μi)K
impar,min
i (s) + μiK

impar,max
i (s)

)
:

(λ1, μ1, λ2, μ2, . . . , λm, μm), λi ∈ [0, 1], μi ∈ [0, 1]
}
.

 ��� ���

ΔI(s) �
 �
��"	� 
� � 
'	� 
� ΔE(s) �
 �
��"	��

������
�����9



�- ����
�� ��������

�� 	
��� �
� 
� ������
���� ��ΔI(s) ���
�	� 
� ������
���� �� ΔE(s)� ;��� 
� ���
�	�	�!�

	��������� �!���� �
� �
 ����� �� ����� 
�� ��
������� �� ΔI(s) �� �
 ������ 6����� 
��

������� ���
����� �� ΔI(s) �� �������� �����
�	����� �
 )�
�� �� 2m − 1 	���������� ��


	��&
��� (λ1, μ1, λ2, μ2, . . . , λm, μm) � 0 ! � 1� � �
 ����� �� 
�� 	���������� )�������

����� [0, 1]� 2�� 
����� �� ��������� ��� ��������� 0����� �
 	��&
��� ΔE(s)� 6�
�	����

�
 4������ �� 
� 6������ �� ���
� �
� 
� ������
���� �� ΔE(s) ���
�	� 
� ������
���� ��

ΔI(s)�

�

 ��� ���

��� Be(s) 	� ����	�� 
� ��	������
 ���	�
 ����
� � 
�� B(s) = b0+ b2s
2+ b4s

4+ . . .+ b2ps
2p ∈

Be(s)� 
��
� b0 ∈ [x0, y0], b2 ∈ [x2, y2], . . . , b2p ∈ [x2p, y2p]@ 
� 
�(��� K1(s) = x0 + y2s
2 +

x4s
4 + . . . � K2(s) = y0+ x2s

2 + y4s
4 + . . .� ���� A(s) � B(s) 
�
 ��	������
 ��"�������
� 
�

���(������
 ���	�
 (#�
� 5������
�

�. A(s) +C(s)B(S) �
 �
��"	� ���� ��
� ��	������ B(s) ∈ Be(s) 
� � 
'	� 
� �	 
�$�����

[A(s) + C(s)K1(s), A(s) + C(s)K2(s)] �
 �
��"	��

�. )
���
� 
� C(s) = st(as+b)U(s)R(s) 
��
� t ≥ 0� a � b 
�� �+����
 ���	�
 ��"�������
�

U(s) �
 �� ��	������ ����=3��4���� � R(s) �
 �� ��	������ ��� � ������ �������


A(s) + C(s)B(s) �
 3��4��� �
��"	� ���� ��
� ��	������ B(s) ∈ Be(s) 
� � 
'	� 
�

A(s) + C(s)K1(s) � A(s) + C(s)K2(s) 
�� 3��4��� �
��"	��

 ��� ��	

��� Bo(s) 	� ����	�� 
� ��	������
 ���	�
 ������
� � 
�� B(s) = b1 + b3s
3 + b5s

5 + . . . +

b2p+1s
2p+1 ∈ Bo(s)� 
��
� b1 ∈ [x1, y1], b3 ∈ [x3, y3], . . . , b2p+1 ∈ [x2p+1, y2p+1]@ 
� 
�(���

K1(s) = x1 + y3s
3 + x5s

5 + . . . � K2(s) = y1 + x3s
3 + y3s

5 + . . .� ���� D(s) � E(s) 
�


��	������
 ��"�������
� 
� ���(������
 ���	�
 (#�
� 5������
�

�. D(s)+E(s)B(S) �
 �
��"	� ���� ��
� ��	������ B(s) ∈ Bo(s) 
� � 
'	� 
� �	 
�$�����

[D(s) + E(s)K1(s), D(s) + E(s)K2(s)] �
 �
��"	��

�. )
���
� 
� E(s) = st (as+ b)U(s)R(s) 
��
� t ≥ 0� a � b 
�� �+����
 ���	�


��"�������
� U(s) �
 �� ��	������ ����=3��4���� � R(s) �
 �� ��	������ ��� � ������

�������
 D(s) + E(s)B(s) �
 3��4��� �
��"	� ���� ��
� ��	������ B(s) ∈ Bo(s) 
� �


'	� 
� D(s) + E(s)K1(s) � D(s) + E(s)K2(s) 
�� 3��4��� �
��"	��



�� ����!����� �� "����� �#������� �'
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PI =

{
G(s, a, b) : G(s, a, b) =

Np(s, a)

Dp(s, b)
, Np(s, a) ∈ NI , Dp(s, b) ∈ DI

}
,

����� Np(s, a) � Dp(s, b) ��� ��
������� 	�� ��	�����
����� �� 
� 0����

Np(s, a) = ans
n + an−1s

n−1 + . . .+ a0, a ∈ A =
{
a : a−i ≤ ai ≤ a+i , i = 0, . . . , n

}
,

Dp(s, b) = bms
m + bm−1s

m−1 + . . .+ b0, b ∈ B =
{
b : b−i ≤ bi ≤ b+i , i = 0, . . . , m

}
,
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2 + . . .+ an−1s

n−1 + ans
n

D(s) = b0 + b1s+ b2s
2 + . . .+ bm−1s

m−1 + bms
m,

����� ak ∈ [a−k , a
+
k ] ���� k ∈ n = (0, . . . , n) � bk ∈ [b−k , b
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D(s) = b0 + b1s + . . .+ bms
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1 (s) = 0.1s+ 0.9, K2

1(s) = 0.2s+ 0.9

K3
1 (s) = 0.1s+ 1, K4

1(s) = 0.2s+ 1

� � P2(s)

K1
2 (s) = s2 + 1.8s+ 1.9, K2

2 (s) = s2 + 2s+ 1.9
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2 (s) = 0.9s2 + 1.8s+ 2.1, K4

2 (s) = 0.9s2 + 2s+ 2.1
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�� U0
�	�!� �� ��	�����
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�� �������

�� ��

G������	������ �� �
�� *11,H 
� ���	��������� �� ������:	�	�!� �� 
�� 0���
�� ��

0
�	����� �� �����0����	���� 	
��� 	��:	������ ����� �	������ �� �
�?� �����)�
� �
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�� )�
���� ������
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��� �
 ���	��������� ��

������:	�	�!� ���
��� ��� ����� �
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�������� 
�+�
���� �� �������� ��� �� ���4���� �� ����� ���#���

�� �
 � ���� �������

��� �� G������	������ �� �
�� *11,H� 
�� �
����� ������ �� 
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��� ������%������ �� �������� �� �����&�!��� 1�

Entrada
Sistema

Salida

9��
�� +�,� ����
	�
�� ��
 ����������� ���� ������:	�	�!� ���
����

#�� �
 ��&���)� �� ���������� �
 ��&�� ����
� 
����
 � ��)������� �� �
 ������ �
�

�� �&
��� �
 	��&
��� �� ����� ��������� �� 
� ����
���� ��
 �������� 
�� �
����� �������

��� w1, w2, . . . , wN 
�� 0��	
��	��� � 
�� �
� �� ���
��� �
 ����� � 
�� �?����� 	���
�&��

u(jwi), y(jwi) ����������� �
 ��� �� �
���� �� ������� C ��
��� � 
� 0��	
��	�� wi� (��

y(jwi) = D(jwi)u(jwi), i = 1, 2, . . . , N @+�,A

�
 ���

���� �� 
� ����������� �� ������:	�	�!�� (
�!����� �
� GI(s) �� 
� 0
�	�!� ��

�����0����	�� �� 
� ������� 
����
 � ��)������� �� �
 ������� �� 0���� �
� GI(jw) ���

��!���� � D(jw) ���?� 
�� ����� ������������ �� ������
� �� �� �����
� ��	������


�� 0
�	�!� ��	����
 GI(s) ���� 
� �
� GI(jwi) = D(jwi) ∀wi� ;�� �

� �� ��� 	���
���

������:	�� 
�� 0���
�� �(s) �� 0
�	����� �� �����0����	�� �
� ���� 	���	�� �� )�
���� 
��

������ �� �
 ������� �� �
� ���� 	��� �
��� D(jwi) ���

���� �� 
� ������:	�	�!�� ������

�
�
�� 0
�	�!� �� �����0����	�� Gi(s) ∈ �(s) 	�� 
� ��������� �� �
� Gi(jwi) = D(jwi)�

2� 0���
�� �(s) �
��� ��� ������������� �� )����� 0������ ;�� �&���
�� ���� 
� 	��� ��

����
	�
����� 	��� �
������ G(s) �� �(s) �
��� ���	������� 	��� G(s) = GI(s)+�G(s)

����� ‖�G(s)‖ < ρ� �� ���� 	���� 
� 0���
�� �(s) �
��� ������:	��� 
�� )�� �
� ��

���������� GI(s) � ρ�

�
 �
������� �� ������:	�	�!� ������� ��� �:	������ �� �
 ������� �� �
� 
� 0���
���(s)

�������� ���� ��� 
� ����� ����� 
�� 0���
��� �
� 	�������� � 
�� ������ �� �
 �&���
�

�������� ����� 	�� �
���� �
 ����� )�
�� �����
� �� ρ�

�
 ��&���)� ���	��� ��� 
�� �
������ �� �������

�� 
� �
������� �� ������:	�	�!� ���� �


	��� ����
	�
����� ����� 
� 0���
���(s) �� �������� ��)�������� �� �
 ������� �� �������

� ������ �� 
� )����	�!� �� 
�� )�
���� �� 
�� 	��:	������ �� 
� 0
�	�!� �� �����0����	��

������
 GI(s) �� 	������ �����)�
��� ;��� �

�� �� ���
���� �
� D(jwi) ∈ �(jwi), ∀wi�

6 ��
 :� 
�� �
����� ��:���

GI(s) =
n0 + n1s+ n2s

2 + n3s
3 + . . .+ nns

n

d0 + d1s+ d2s2 + d3s3 + . . .+ dnsn
, @+�-A



1- !������� �� ����
"���� �� #������

G(s) =
n̂0 + n̂1s+ n̂2s

2 + n̂3s
3 + . . .+ n̂ns

n

d̂0 + d̂1s+ d̂2s2 + d̂3s3 + . . .+ d̂nsn

�

�(s) =
{
G(s) : n̂i ∈ [ni − wni

ε−ni
, ni + wni

ε+ni
], d̂i ∈ [di − wdiε

−
di
, di + wdiε

+
di
], ∀i

}
@+�<A

2�� 	���������� �� w = (wd0, . . . , wdn , w, . . . , wnn) �� 	��������� 	��� 
��

����� �
������ � ������� �������� �
� ε+ =
(
ε+d0 , . . . , ε

+
dn
, ε+n0

, . . . , ε+nn

)
� ε− ≡(

ε−d0 . . . ε
−
dn

ε−n0
. . . ε−nn

)
�� 	��������� 	��� 
�� ���������� �� ��
���	�!� � ���������� ���

�
 �
������� �� ������:	�	�!� � ��� 
�� ����� D(jwi)�

2�� ���
���������� �
� 
�� �
����� ���
���� ����� 
� 0���
�� �� ����
�� �(s) ��� 
��

���
�������

*� ��,
��������� �� ����������
3 D(jwi) ∈ �(jwi)� ���� ���� i�

+� ��,
��������� �� �
�
4�3 ‖ε+‖ � ‖ε−‖ ��� ���
�%�� 	��� ��� �����
��

.� ��,
��������� �� ����
���
 �� !���
����
3 2�� ����� w ����� �
������ �� ��
 0����

�
� 
� ����
���� �� 0��	
��	�� �� �(jw) ���� �	����� ��� ��������������� 	���

��� �����
�� � ���� ����� 
�� 0��	
��	����

2�� ���
���������� �� ����
���� �� 0��	
��	�� � �� ����%�� ��� ������������ �� �
�

�����)�
�� �� �����������	�!� ���
�%�� �� ������� �� 	����������� 	�� 	��&
���� ��

)�
���� ���
�%�� � 0���
��� �� 0
�	����� ���
�%���

Q�� �)��� �
� 
�� �
����� 	��������� �
� ����� �
 ����� �� 
�� ��
������� �
������� �

����������� ��
 ����
� ������
� 	��� �
 ����� �� 
� 0���
�� �� ��
������� ��
 �
�������

� ������������ �� �
 ������

*���!��� �� !� '���!�� �� '�������� �� �����'��������

#��� �� ���	����! �������������� �
 ���	��������� �� ��)��� �� ��� ������� �� ������
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����
 � ��)������� �� �
 ������GI(s) �
� ���������� 
�� �����

��
 ���� D(jw) �� 
� 0���� ��� �&
����� �����
�� ;��� �

� ������� �� 
� 
������
�� ����
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��� 
�� ������ �� �
 � ���� �� 
�� ������� 	
��������



��� ������%������ �� �������� �� �����&�!��� 1'

F�� )�� �������� �
 ����
� ������
� �� ���������� 
�� �����)�
�� �� 
�� �
� 	���

	��:	����� �� 
� 0
�	�!� �� �����0����	�� ������
 GI(s) �� ��	
����� ��:����� �� 0����

�
� �� �����0���� 
�� ���
���������� �� ��������	�� � 
�� �� ����
���� �� 0��	
��	���

������%������ ��! ������� ������!�

2�� �
����� 	�������� 	�� 
� ���	���	�!� �� 
� � ���� �������� �� �������

	
�������� 	�� �
 ��&���)� �� ������:	�� 
�� 0
�	�!� �� �����0����	�� ������
 	
��

����
���� �� 0��	
��	�� �� �&
���� 
� ��� �����
�� � 
�� ����� ��
 ���� D(jwi)�

�
 ����� ��
 ����
� 
� �������� )���:	���� 
�� �
��)�
���� �� 
� ������ �� ���R�


�������� � ������ �� 
�� ����� �� 
� ����
���� �
 ���

��� ��&� 
� �
����	�!� �� �
� �


���� ���� 
���� �� �
���� �
 �?���� �� �
��)�
���� ��������� �� 	��� ��������� �
 ����� ��


�������� F�� )�� ����������� �
 ����� ��
 �������� 	��������� 
� 0
�	�!� �� �����0����	��

������
 	��� 	�	����� �� ��� ��
�������

GI(s) =
n(s)

d(s)
.

2�� 	��:	������ �� 
� 0
�	�!� �� �����0����	�� ������
 ��� �
������ �� 0���� �
�

������	�� 
� �������!�

N∑
i=1

{
W I(jwi) {Re[D(jwi)d(jwi)− n(jwi)]}2 + {Im[D(jwi)d(jwi)− n(jwi)]}2

}
,

�
� ��������� 
� ������� 
����
 �� 2N �	
�	����� � 2n ��	!������� �
� ��� 
�� 	��:	������

�� 
� 0
�	�!� �� �����0����	��� 2�� ����� W I �� �
���� ��
�		����� ��	�������� �


��������� �� ������ )������� �� 
�� ��	!������� #��� �
 ����� ��
���)� �� 
� ����� )�

� ��


� ����
���� �� 0��	
��	�� �� ��� �����:	���)� �
� �
 ����� �� 
�� ������ ��	�� �� ��	������

������� ����� �
��� ���� 
�� ������ �� 0��	
��	��� �� 
�� ������ )�

� �� 
� ����
���� ��

0��	
��	���


�!������ �� "�����

#��� �� �
����� �� 
� �������!� +�<� �
 ����%� ��
 �����)�
� �� )����	�!� �� 	���

	��:	����� �� 
� 0���
�� �(s) ������� �� w � �� ε+ � ε−� �� ���� ��		�!� �� 	��������

�
 ����
��� �� ��	������ �
 	��&
��� �� ����� ���	
��� w � 
� ��

	�!� �������� ��� 
��

�
������ 2� ��
�		�!� �� ����� �� ����������� �� �
� 
�� �
�		�!� �����	
��� 	��

�)� 
��

0���
�� �� 0
�	����� �� �����0����	�� ��	���)������ �
������� � 
� 	��&
��� �� )�
����



�0 !������� �� ����
"���� �� #������

�������������� ������� ��	

�� 	
���� �
 �����)�
� �� )�
���� ��� ���
�%��

2�� �
����� �����
�	�� 
� ���
����� ���� 
� ��
�		�!� �� 
�� ������ (
�������� �
� 
��

�
���� ����� ��
 ���� 	������ �� N �
���� ��������� � 
�� 0��	
��	��� 	����������������

D(jw) = {D(jwi) = αi + jβi, i = 1, 2, . . . , N}

��:��� �
 ����
� lC ���� 	��� ���
��

Gl(jw) =

⎧⎨⎩ D(jwi), i = l

GI(jwi), i = 1, 2, . . . , l − 1, l + 1, . . . , N

�� ����� ��
������ �
 ����
�Gl(jw) �� �� ���	� �
 ����
� ������
GI(jw) ������:	����

���� 	�� �
 �
��� lC ���� �����
����� ��� �
 lC ���� 	��������� ��
 ���� ��
 ����

D(jw)� ;������������� 	�����
��� �
 lC ���� ����
� ������:	���� �������� ��� GI
l (s)�

� ������:	��� � ������ ��
 lC ���� 	��&
��� �� ����� Gl(jw)� ;��� �

�� ���

GI
l (s) =

nl
0 + nl

1s+ nl
2s

2 + nl
3s

3 + . . .+ nl
ns

n

dl0 + dl1s+ dl2s
2 + dl3s

3 + . . .+ dlns
n

� ��������� p ≡ (n0, n, . . . , nn, d0, d1, . . . , dn)�

6
 �
����� �
� |Gl(jw) − GI
l (jw)| �� ���
�%�� 
� �������
���� �� 
�� 	��:	������ ��


����
� ������
 	�� �����	�� � 
�� )����	����� �� �
 �
��� lC ���� �� ���	���� 	���

∂p

∂GI(jwl)
=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

|n0 − nl
0|

���

|nn − nl
n|

|d0 − dl0|
���

|dn − dln|

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
4������� �� 	
���� �
 	�
	

� ���� ����� 
�� 	��:	������ ��
 ����
� ������
� �����	�� �

����� 
�� �
���� ����� l = 1, 2, . . . , N � �� �����



��� ������%������ �� �������� �� �����&�!��� ��

∂p

∂GI(jw)
=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎝

∂p

∂GI(jw1)
∂p

∂GI(jw2)
���
∂p

∂GI(jwN)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎠
=

⎛⎜⎜⎜⎜⎜⎝
|n0 − n1

0| . . . |d0 − d10| . . . |dn − d1n|
|n0 − n2

0| . . . |d0 − d20| . . . |dn − d2n|
���

���
���

|n0 − nN
0 | . . . |d0 − dN0 | . . . |dn − dNn |

⎞⎟⎟⎟⎟⎟⎠

2�� ����� �� ��:��� 	��� �
 )�
�� ����� ���� 	��� 	��:	�����

w =
1

N

(
N∑
l=1

|n0 − nl
0|, . . . ,

N∑
l=1

|dn − dln|
)

= (wn0 , . . . , wnn, wd0 , . . . , wdn) .

������%������ �� !� '���!�� �� '���������

����
 � �� ���������� �
 )�	��� �� ����� ���	
���� �� ��	������ ��	������ ε+ � ε−

���� �����0�	�� 
�� ���
���������� ������ 2�� �
����� 	��������� �� ������ 

��� 
��

���
���������� �� ��������	��� =�
)����� �
 ������� ������
 ��:���� �� +�- � �
����
�����

s = jw ���������

GI(jw) =
n(jw)

d(jw)

=
(n0 − w2n2 + . . .) + j(wn1 − w3n3 + . . .)

(d0 − w2d2 + . . .) + j(wd1 − w3d3 + . . .)

=
npar(w) + jnimpar(w)

dpar(w) + jdimpar(w)

#��� 
� 0
�	�!� �� �����0����	�� ������
 GI(s) �� �
��� ����������� �� 0���� ���	��

�
 	��&
��� �� ����� D(jw)� ���� 
�� 0��	
��	�� �����	

�� wi �� �����

D(jwi) = αi + jβi ≈ GI(jwi) =
npar(wi) + jnimpar(wi)

dpar(wi) + jdimpar(wi)

2� ��0����	�� �
��� �%������ � 
�� 	��:	������ ��
 ����
� ������
 �� 
� 0����

D(jwi) = αi + jβi =
(n̂0 − w2

i n̂2 + . . .) + j(win̂1 − w3
i n̂3 + . . .)

(d̂0 − w2
i d̂2 + . . .) + j(wid̂1 − w3

i d̂3 + . . .)

����� n̂i = ni +wni
εni

� d̂i = di +wdiεdi � ���� i = 1, 2, . . . , N � ��	�������� 
�� �	
�	�����



�� !������� �� ����
"���� �� #������

�� 0���� �����	��
� A(wi, αi, βi)Wεi = B(wi, αi, βi) �����

A(wi, αi, βi) =

⎛⎝ αi −βiwi −αiw
2
i βiw

3
i . . . −1 0 w2

i 0 −w4
i 0 . . .

βi αiwi −βiw
2
i −αiw

3
i . . . 0 wi 0 −w3

i 0 w5
i . . .

⎞⎠

εi =
(
εid0 , . . . , ε

i
dn ε

i
n0
, . . . , εinn

)

W =

⎛⎜⎜⎜⎜⎜⎝
wd0

. . .

wn0

. . .

⎞⎟⎟⎟⎟⎟⎠
�

B(wi, αi, βi) =⎛⎝ −αi(d0 − w2
i d2 + w4

i d4 − . . .) + βi(wid1 − w3
i d3 + w5

i d5 − . . .) + n0 − w2
i n2 + w4

i n4 − . . .

−βi(d0 − w2
i d2 + w4

i d4 − . . .)− αi(wid1 − w3
i d3 + w5

i d5 − . . .) + win1 − w3
in3 + w5

i n5 − . . .

⎞⎠
;
��� �
������� ��� � ����� �� ������
���� �
� A(wi, αi, βi) �� �� ����� 	���
����

�����	�� 
� ��

	�!� �� ����� ������ εi �
��� 	�
	

���� 	���

εi = A(·)t (A(·)A(·)t)−1
B(·).

F�� )�� ��	�������� 
�� εi ���� i = 1, 2, . . . , N � �
���� ������������ 
�� �����)�
�� ��


�� 	��:	������ �� 
�� 0
�	����� �� �����0����	����

ε−nk
= mı́ni

{
0, εink

}
ε+nk

= máxi
{
0, εink

}
ε−dk = mı́ni

{
0, εidk

}
ε+dk = máxi

{
0, εidk

}
���� ���� k = 1, 2, . . . , N � (��?� 
�� �
������ �
 ���	��������� �� ������:	�	�!� ���������
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�� �����)�
�� �� )����	�!� �� 
�� 	��:	������ ��
 ��
������

�
������� � ��
 ��
������ ����������� �� ���� 
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� � ���
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�� ����������� �� 
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���� ������������� ��� ���������

#����������� 
�� 0���
�� �� �����)�
�� �� �
���� �� 	��:	������ ���
��� �� 
� 0����

G(s, a,b) =
Np(s, a)

Dp(s,b)
,

����� Np(s, a) � Dp(s,b) ��� �����)�
�� �� ��
������� �� 
� 0����

Np(s, a) = ans
n + an−1s

n−1 + . . .+ a0, ai ∈
[
a−i , a

+
i

]
, i = 0, . . . , n

Dp(s,b) = bms
m + bm−1s

m−1 + . . .+ b0, bi ∈
[
b−i , b

+
i

]
, i = 0, . . . , m

	��m ≥ 1� n ≥ 1� 0 /∈ Dp(s,b), � ����� a = (a0, a1, . . . , an)� an �= 0� � b = (b0, b1, . . . , bm)�

bm �= 0 ��� 
�� ���������� ��	�������

�
 �
������� � �
 ����������� �� 
� 0���
�� �� �����)�
�� �� 	���	������� ��� �
�

�����	��)�� ��
������� �� 5��������)� �
� �
���� ���������� �� � ������ �� �
� ������

��� � ����� �)�

���� �� s = jω� 	��� ���
��

9���
�� Np(s, a)�

Kn1 = pemı́n (jω) + j pomı́n (jω) ; Kn2 = pemáx (jω) + j pomı́n (jω)

Kn3 = pemáx (jω) + j pomáx (jω) ; Kn4 = pemı́n (jω) + j pomáx (jω) @.�*A

������

pemı́n (jω) = a−0 − a+2 ω
2 + a−4 ω

4 − a+6 ω
6 + ..., pemáx (jω) = a+0 − a−2 ω

2 + a+4 ω
4 − a−6 ω

6 + ...

pomı́n (jω) = a−1 ω − a+3 ω
3 + a−5 ω

5 − a+7 ω
7 + ...,pomáx (jω) = a+1 ω − a−3 ω

3 + a+5 ω
5 − a−7 ω

7 + ...

9���
�� Dp(s,b)�

Kd1 = qemı́n (jω) + j qomı́n (jω) ; Kd2 = qemáx (jω) + j qomı́n (jω)

Kd3 = qemáx (jω) + j qomáx (jω) ; Kd4 = qemı́n (jω) + j qomáx (jω) @.�+A

������

qemı́n (jω) = b−0 − b+2 ω
2 + b−4 ω

4 − b+6 ω
6 + ..., qemáx (jω) = b+0 − b−2 ω

2 + b+4 ω
4 − b−6 ω

6 + ...

qomı́n (jω) = b−1 ω − b+3 ω
3 + b−5 ω

5 − b+7 ω
7 + ...,qomáx (jω) = b+1 ω − b−3 ω

3 + b+5 ω
5 − b−7 ω

7 + ...
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 � ���� �� ������:	�	�!� ����
���� �� ���� �� 
� ������:	�	�!� ���	��
 ��


�� )�
���� �� 
�� ��
������� �� 5��������) ��
 �
������� � ��
 ������������

��������� � ������ �� 
�� 	��&
���� �� )�
����� F�� )�� ��������� 
�� )�
����

(Kn1(jω), Kn2(jω), Kn3(jω), Kn4(jω)) � (Kd1(jω), Kd2(jω), Kd3(jω), Kd4(jω)) ��

�
����� �
 ���
����� ������� �� �	
�	������ ���� s = jω�

Re (Kn1 (ω)) = pemı́n(jω) = a−0 − a+2 ω
2 + a−4 ω

4 − ...

Im (Kn1 (ω)) = pomı́n(jω) = a−1 ω − a+3 ω
3 + a−5 ω

5 − ...

Re (Kn3 (ω)) = pemáx(jω) = a+0 − a−2 ω
2 + a+4 ω

4 − ...

Im (Kn3 (ω)) = pomáx(jω) = a+1 ω − a−3 ω
3 + a+5 ω

5 − ...

Re (Kd1 (ω)) = qemı́n(jω) = b−0 − b+2 ω
2 + b−4 ω

4 − ... @.�.A

Im (Kd1 (ω)) = qomı́n(jω) = b−1 ω − b+3 ω
3 + b−5 ω

5 − ...

Re (Kd3 (ω)) = qemáx(jω) = b+0 − b−2 ω
2 + b+4 ω

4 − ...

Im (Kd3 (ω)) = qomáx(jω) = b+1 ω − b−3 ω
3 + b+5 ω

5 − ...

����� 
�� ��	!������ ��� 
�� ���������� ��	�������
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(pemı́n(jω), pemáx(jω), pomı́n(jω), pomáx(jω)) � 	
���� )�
���� ���� �
 �����������

(qemı́n(jω), qemáx(jω), qomı́n(jω), qomáx(jω))� ���� 	��� 	��&
��� �� )�
����� (�

���������� �����	��)������� �
����� �� ��� ���������� �� #$
������� p 5 q�

2� ������:	�	�!� �� 
�� ���������� �� 
� 0
�	�!� �� �����0����	�� �� ������� ����
)�����

�
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 ������ �?���� �� 	��&
���� ��

)�
���� ��	��������

�� �
 �������

� ��
 �
������� �� ������	������ �� �
� G������	������ �� �
�� *11,H� �
�

�� )�� ���
������� �� �
 	����

� +� ��� ���� ����	��� � 	����������



�1 ������$������ �� �������� �� ����
"�����

*� (��?� +�+�+�* 
�� �
���� �
��� ��������� ��� D(jw) ≡
{D(jwi) = αi + jβi, i = 1, 2, . . . , N}� �� �������� 	��� ���

���� �� 
� �����������

�� ������:	�	�!�� � ������ �� 
�� �	
�	����� +�,�

+� 2�� �
����� �
����� �
� �
 ����� ��
 ��
������ �
������� �� ��
�
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 ����� ��
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������ ������������ ��
 � 	��� �� ��S�&� �� 
�� ����������� +�- � �� 
� ��:��	�!�

�
� 
�� �
����� ��	�� �� 
� 0���
�� �� ����
�� @+�<A�

.� 2�� �
����� ��:��� �
 ����
� 
C ���� �� 
� ���
����� 0�����

Gl(jw) =

⎧⎨⎩ D(jwi), i = l

GI(jwi), i = 1, 2, . . . , l − 1, l + 1, . . . , N,

�� ��	��� �
 ����
� Gl(jw) �� �� ���	� �
 ����
� ������
 GI(jw) ������:	���� ����

	�� �
 �
��� lC ���� �����
����� ��� �
 lC ���� 	��������� ��
 ���� ��
 ���� D(jw)�

��
 ���
���� ��
 � ���� �� ���
	� �
� �
 ���	��������� �� ������:	�	�!� ���

��

	�����)����� �� �
� �� �� ���� 	����������� 
� ������
���� �� ������:	�� ����� � 0���
���

�����	������� ������� 	��� �� �������� �� ��
�
 0����� 
� �
�		�!� ��
 ����
� lC ����

�
��� ��� 
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�� 0���
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�� ������:	��� �
� �
������� �� �
� �� �
 
C ����

	��������� ��
 ���� ��
 ���� D(jw) 
��
����� ���� 	��	��� � 
� 0�������� �� ��	����������

	��� ����� �� 
� 0���
�� ������:	���� ����
�� �
� ��0������� �� 
� 0���
�� �������
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 :� �� �
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� ������
	� ���� � ����� �� �
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�)� �
����������� �� ������:	�	�!�� ����� �� ������� �� 	
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������ �� 5��������) 	�� �
� ������ ��� � ����� @�	
�	����� .�* � .�+A� �


� ��
�	�!� ��  ���� 	�� 
�� 	��:	������ �� 
� 0
�	�!� �� �����0����	�� �� 
� 0���
�� ��

�����)�
�� @�	
�	����� .�.A� �
 �
������� �� ������:	�	�!� �
� �� ������� ���
�
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�� 0��	
��	�� ����������� w� �
 ���
����� ������� �� �	
�	������

Re (Kn4(jw)) = Re (Kn1(jw)) = a−0 − a+2 w
2 + a−4 w

4 − a+6 w
6 + . . .

Re (Kn2(jw)) = Re (Kn3(jw)) = a+0 − a−2 w
2 + a+4 w

4 − a−6 w
6 + . . .

Im((Kn2(jw)) = Im (Kn1(jw)) = a−1 w − a+3 w
3 + a−5 w

5 − a+7 w
7 + . . .

Im (Kn4(jw)) = Im (Kn3(jw)) = a+1 w − a−3 w
3 + a+5 w

5 − a−7 w
7 + . . .



 �� ���������+����� �� !� '������� ��! ���,���� �� &�!����� ��

Re (Kd4(jw)) = Re (Kd1(jw)) = b−0 − b+2 w
2 + b−4 w

4 − b+6 w
6 + . . .

Re (Kd2(jw)) = Re (Kd3(jw)) = b+0 − b−2 w
2 + b+4 w

4 − b−6 w
6 + . . .

Im (Kd2(jw)) = Im (Kd1(jw)) = b−1 w − b+3 w
3 + b−5 w

5 − b+7 w
7 + . . .

Im (Kd4(jw)) = Im (Kd3(jw)) = b+1 w − b−3 w
3 + b+5 w

5 − b−7 w
7 + . . .

����� 
�� 	��:	������ A+
− = {a−i , a+i , i = 0, ..., n} � B+

− = {b−i , b+i , i = 0, ..., m} ��� 
��

��	!�������
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� �� 5��������)A� ��:����� 	���

���
��

A1 = λK2 (jω) + (1− λ)K1 (jω) , A2 = λK3 (jω) + (1− λ)K2 (jω)

A3 = λK4 (jω) + (1− λ)K3 (jω) , A4 = λK1 (jω) + (1− λ)K4 (jω)

�!��� λ ∈ [0, 1] � K1 (jω)� K2 (jω)� K3 (jω)� K4 (jω) ��� 
�� ��
������� �� 5��������)

��
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��� � �������� 
� ��	�$���
� �91�����1����� �� �	�� �::A  ,��� i = 1, 2� 
��

Qi �� ��	�$��� �� �	 �	��� ����	�#� 
� �>�����
 Vi � ���
��
 Ei. ∂(•) 
����� 	� �������� 
�	

���#���� (•)� �� ����(���



�- ������$������ �� �������� �� ����
"�����

�� ∂(Q1 +Q2) ⊂ (V1 + E2) ∪ (E1 + V2)�

�� ∂

(
Q1

Q2

)
⊂ E1

V2

⋃ V1

E2
�

#
���� 
�� ��
������ ��
 2��� .�* ��� ��	����
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� Qi -i = 1, 2. �
 �� ������$�	� 
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�
 ����	�	�
 � 	�
 �#�
� 
�

����(���

�� ∂(Q1 +Q2) = ∂(Q1) + ∂(Q2)�

�� ∂(Q1 +Q2) = ∂ ((V1 + E2) ∪ (E1 + V2))�

?� ∂

(
Q1

Q2

)
= ∂

(
E1

V2

⋃ V1

E2

)
�

������
�����9

*� (� ���������� �
� z ∈ ∂(Q1 + Q2) ⇔ z ∈ ∂(Q1) + ∂(Q2)� �
��
� 
� ���
�	�	�!�

z ∈ ∂(Q1 +Q2) ⇒ z ∈ ∂(Q1) + ∂(Q2) �� 	���	��� @) ��� �
 
��� .�*A�

9��
�� .�*� >���	�!� ���� �
 
��� .�+�

(��?� 
� :�
�� .�* �� ������



 �� ���������+����� �� !� '������� ��! ���,���� �� &�!����� �'

= ���	�� �� Q1� z11 � z
1
2 � z

1
3 � z

1
4 � �
� ������ ���
 � ����������

x1
min = Re(z11) = Re(z14), x1

max = Re(z12) = Re(z13),

y1min = Im(z11) = Im(z12), y1max = Im(z14) = Im(z13).

2���� � ������� �� Q1� z11z
1
2 � z

1
2z

1
3 � z

1
3z

1
4 � z

1
4z

1
1 � ����� z

1
i z

1
k = λz1i +(1−λ)z1k � 	��

λ ∈ [0, 1]�

= ���	�� �� Q2� z21 � z
2
2 � z

2
3 � z

2
4 � �
� ������ ���
 � ����������

x2
min = Re(z21) = Re(z24), x2

max = Re(z22) = Re(z23),

y2min = Im(z21) = Im(z22), y2max = Im(z24) = Im(z23).

2���� � ������� �� Q2� z21z
2
2 � z

2
2z

2
3 � z

2
3z

2
4 � z

2
4z

2
1 � ����� z

2
i z

2
k = λz2i +(1−λ)z2k � 	��

λ ∈ [0, 1]�

= ���	�� �� Q1 +Q2� z1� z2� z3� z4 � �
� ������ ���
 � ����������

xmin = Re(z1) = Re(z4), xmax = Re(z2) = Re(z3),

ymin = Im(z1) = Im(z2), ymax = Im(z4) = Im(z3).

2���� � ������� �� Q1+Q2� z1z2� z2z3� z3z4� z4z1� ����� zizk = λzi +(1−λ)zk�

	�� λ ∈ [0, 1]�

�� �	
���� 	�� ���� ����	�!�

∂(Q1) + ∂(Q2) =
(
z11z

1
2 ∪ z12z

1
3 ∪ z13z

1
4 ∪ z14z

1
1

)
+
(
z21z

2
2 ∪ z22z

2
3 ∪ z23z

2
4 ∪ z24z

2
1

)
=
(
z11z

1
2 + z21z

2
2

)
∪
(
z12z

1
3 + z22z

2
3

)
∪
(
z13z

1
4 + z23z

2
4

)
∪
(
z14z

1
1 + z24z

2
1

)
, @.�7A

�
���� �
� 
�� 
���� �� 
�� ��
������ ��� ����
�
�� � 
�� �&���

6��
��������

∂(Q1 +Q2) = z1z2 ∪ z2z3 ∪ z3z4 ∪ z4z1. @.�,A

#���

z1z2 = λz2 + (1− λ)z1 = λ(xmax + jymin) + (1− λ)(xmin + jymin) @.�-A
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xmax = x1
max + x2

max, xmin = x1
min + x2

min,

ymax = y1max + y2max, ymin = y1min + y2min,

�
����
����� �� 
� �	
�	�!� .�-� �� ������� �
�

z1z2 = λ(x1
max + x2

max + j(y1min + y2min)) + (1− λ)(x1
min + x2

min + j(y1min + y2min)),

��	����� �����	����� � ���
����� � ������

z1z2 = (λx1
max + λjy1min + (1− λ)(x1

min + jy1min))

+ (λx2
max + λjy2min + (1− λ)(x2

min + jy2min)) = z11z
1
2 + z21z

2
2 .

��������� �� 0���� ���
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z2z3 = z12z
1
3 + z22z

2
3 , z3z4 = z13z

1
4 + z23z

2
4 , z4z1 = z14z

1
1 + z24z

2
1 . @.�<A

;�� ����� �� 
� �
��� z ∈ ∂(Q1+Q2)� �����	�� z �������	� � �
�
�� �� 
�� ���������

�
� 0����� ���� 0������� @�	
�	�!� .�,A� ��� �&���
� z ∈ z2z3� ���� �
� z2z3 =

z12z
1
3 + z22z

2
3 � ∃z1 ∈ z12z

1
3 � ∃z2 ∈ z22z

2
3 ��
 �
� z = z1 + z2� #��� z1 ∈ z12z

1
3 ⇔ z1 ∈

∂(Q1) � z2 ∈ z22z
2
3 ⇔ z2 ∈ ∂(Q2)� ���?� 
� �	
�	�!� .�7� z ∈ ∂(Q1) + ∂(Q2)�

��	����	������� �� z ∈ ∂(Q1) + ∂(Q2)� �����	�� z �������	� � �
�
�� �� 
��

��������� �
� 0����� ���� 0������� @�	
�	�!� .�,A� ��� �&���
� z ∈ z12z
1
3 + z22z

2
3 =

z2z3 @��� .�<A� � ��� ����� z ∈ ∂(Q1 +Q2).

+� (�� z0 ∈ ∂(Q1 +Q2)� ;�� �
 �������� @*A� ∂(Q1 +Q2) = ∂(Q1) + ∂(Q2)� ;�� ������

������� z10 ∈ ∂Q1 � z20 ∈ ∂Q2 )���:	���� z0 = z10 + z20 �

#��� z10 ∈ ∂Q1 � ∂Q1 = V1 ∪ E1 �����	�� ���� ���� ε10 > 0 �
 ���	� �������

|z1 − z10 | < ε10 ������ �
 ������ 
� �
��� z1 ��
 �
� z1 /∈ (V1 ∪ E1)� 
� 	
�
 ���
�	�

�
� z1 /∈ V1 � z1 /∈ E1�

#��� z20 ∈ ∂Q2 � ∂Q2 = V2 ∪ E2 �����	�� ���� ���� ε20 > 0 �
 ���	� �������
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|z2 − z20 | < ε20 ������ �
 ������ 
� �
��� z2 ��
�� �
� z2 /∈ (V2 ∪ E2)� 
� 	
�
 ���
�	�

�
� z2 /∈ V2 � z2 /∈ E2�

;�� ������ 	��� z1 /∈ V1 � z2 /∈ E2� �����	�� z = z1 + z2 /∈ V1 + E2� $�
�
������

	��� z1 /∈ E1 � z2 /∈ V2� �����	�� z = z1+z2 /∈ E1+V2� 2
��� �
 �
��� z = z1+z2 /∈
(V1 + E2) ∪ (E1 + V2)�

6���� ����� �
 �
��� z0 ∈ ∂ ((V1 + E2) ∪ (E1 + V2))� �� �
� ���� ���� ε = ε10 + ε20

�
 ���	� ������� |z − z0| = |z1 + z2 − z10 − z20 | < ε10 + ε20 	�������� �
 ������ 
� �
���

z = z1 + z2 ��
�� �
� z /∈ (V1 + E2) ∪ (E1 + V2)�

��������� �� 0���� ����
��� �� ������� 
� ���� ��	

��!�� ;��� �

�� ��� z0 ∈
∂ ((V1 + E2) ∪ (E1 + V2))� �����	�� ���� ���� ε > 0 �
 ���	� ������� |z − z0| < ε

	�������� �
 ������ 
� �
��� z ��
 �
� z /∈ (V1+E2)∪(E1+V2)� 2
��� z /∈ (V1+E2)

� z /∈ (E1 + V2)� ;�� ������ ������� z∗1 � z∗2 ��
 �
� z∗1 /∈ V1 � z∗1 /∈ E1 � ��� �����

z∗1 /∈ V1∪E1� � ��
 �
� z∗2 /∈ V2 � z∗2 /∈ E2 � ��� ����� z∗2 /∈ V2∪E2� ������ z = z∗1+z∗2 �

�
 �
��� z0 ∈ ∂(Q1)+∂(Q2)� �� �
� ������ �
 ����� 
� �
��� z = z∗1+z∗2 )���:	����

�
� z∗1 /∈ ∂(Q1) � z∗2 /∈ ∂(Q2) ��
 �
� |z − z0| < ε�

.� ;�� �
 2��� .�* �� ���� �
�

z ∈ ∂

(
Q1

Q2

)
⇔ 0 ∈ ∂ (Q1 − z ·Q2) .

;�� ���� � 
��
������ �
 �������� @+A

z ∈ ∂

(
Q1

Q2

)
⇔ 0 ∈ ∂ (Q1 − z ·Q2)

⇔ 0 ∈ ∂ ((V1 − zE2) ∪ (E1 − zV2)) ⇔ z ∈ ∂

(
V1

E2

∪ E1

V2

)
.
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�� �&��� ;�� ������ �� Kni � Kdj ��� 
��
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,��� ��� ����	�� 
� �������	�
 	����	�
 �(s) ���	��
� �� 	� ���������� �������	�� wl� 
� ����(��

���

∂ (�(jwl)) = ∂

(
Kni(jwl)

λKdj(jwl) + (1− λ)Kdk(jwl)

⋃ λKnj(jwl) + (1− λ)Knk(jwl)

Kdi(jwl)

)
��� λ ∈ [0, 1] � 	�
 ��
���
 i ∈ {1, 2, 3, 4} , (k, j) ∈ {(1, 2), (2, 3), (3, 4), (4, 1)}�

������
�����9

#����� ���� 
� �
��� z ∈ ∂(�(jwl))� �� )���
� ��
 2��� .�+� �������� .� �
 �
��� z

�������	� � 
� 0������� ��
 	��&
��� ������� @
��!� �� 
�� 	�	������ �� ����� ������C) ���	�

� ) ���	�C������A� �� ���� 	���� 
�� ������� ��� 
�� ��������� �� 5��������) � 
�� ) ���	��

��� 
�� ) ���	�� �� 5��������)� 

��� �
 �
��� z �������	� �
 	��&
���

∂

(
Kni(jwl)

λKdj(jwl) + (1− λ)Kdk(jwl)

⋃ λKnj(jwl) + (1− λ)Knk(jwl)

Kdi(jwl)

)
.
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 ����
 � 
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 ���
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��� �::B 

�� ,��� ��
� ����� s = jwl (#� 
�	 �	���� �	 ���#���� 
� �����
 �"����
� ��
����� 	�

����
�������'� Ta(s) =
Kni(jwl)

λKdj(jwl) + (1− λ)Kdk(jwl)
����� 16 ����
 
� ��������������


� �!�����

Kni(s)

Kdj(s)
�
Kni(s)

Kdk(s)
� ��
 ��������������
 ��� ��������� � 
��1�
 ����
 ������

�� 1�� ��� ��
� ��� �	 ���$���

�� ,��� ��
� ����� s = jwl (#� 
�	 �	���� �	 ���#���� 
� �����
 �"����
�
 ��
�����

	� ����
�������'� Ts(s) =
λKnj(jwl) + (1− λ)Knk(jwl)

Kdi(jwl)
����� ������ ����	�	�$����
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Knk(s)

Kdi(s)
,
Knj(s)

Kdi(s)
����
 	�
�
 �
��� �������
�
 �� �����
 
�

���
�����

− sin(θid)

cos(θid)
, �

cos(θid)

sin(θid)

� �	 
�$����� 
�� ����
������ �
 �� 
�$����� 
�

81�������� 
�	 ������
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� �������	�
� ����	�	� �	 �#� x � ����	�	� �	 �#�

y� ��
������������� 5
��
 ���
�����
 
�� 	� ���$���� 
�	 ��$�	� ��� ����� ��
� ��� �	

�#� ����
�����
� u -����
�����
� 
�	 �#� x 
�$+� Ts.� ��
�
� �� 
����
� ��������� � 	�


�$�#�
 
�	 ��	�#� � 
��
� θid �
 �	 ��$������ 
�	 �+���� ����	�#� ��
�	��
� 
� ���	���
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� 81�������� Kdi(s) �
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� �	���� 
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�(s) =
a1s+ a0

b2s2 + b1s+ b0
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� 	�
 ���������
 
� 	� �	���� ������ ���� 
� ��
���

0.9 ≤ a0 ≤ 1.1, 0.1 ≤ a1 ≤ 0.2, 1.9 ≤ b0 ≤ 2.1, 1.8 ≤ b1 ≤ 2.0, 0.9 ≤ b2 ≤ 1.0.

��
 ��	������
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�� 
��

K1
N(s) = 0.9 + 0.1s, K2

N(s) = 1 + 0.1s,

K3
N(s) = 1 + 0.2s, K4

N(s) = 0.9 + 0.2s,
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K1
D(s) = 1.9 + 1.8s+ s2, K2

D(s) = 2.1 + 1.8s+ 0.9s2,

K3
D(s) = 2.1 + 2s+ 0.9s2, K4

D(s) = 1.9 + 2s+ s2.
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�(s) =
F1(s)

F2(s)
=

a1s+ a0
b2s2 + b1s + b0
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F1(s)K
i
N(s) + F2(s)

(
λKj

D(s) + (1− λ)Kk
D(s)

)
F2(s)K

i
D(s) + F1(s)

(
λKj

N(s) + (1− λ)Kk
N(s)

)
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��� �� 
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����� ����� �� ������� � ) ���	�� ���	������ #��� �� 	���	���� 
�� �
�������
E1

V2

���

���������� � 
�� �
�������
V1

E2

��� ��	�� �
� ����� ��� 
�� ) ���	�� @G#��E��� *1/7H �

G#�
�	��

 ��� ���E�� *11+HA�

>!���� �
� �� V S(ω) �� 
� 	��&
��� �� )�
���� ����������� ��� γNp(s)� ����� γ ��


� �?���� 	���
�&� � Np(s) �� 
� ��	����

� �� 5��������)� �����	�� V S(ω) �� 
�

����
�
������ 	
��� ) ���	�� ��� γKi(s) ����� Ki(s), i = 1, 2, 3, 4� ��� 
�� ��
������� ��

5��������) �� Np(s)� (� ����� �
�� �
 ���
����� 
����

 ��� 	�	

�� �������� 
�	 ���#���� 
� ��	���
 
� �� �������	� 
� �	����
 �
�� �����
� ��� �� 
�"���#����
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�	 ������
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Np

Kdi
, i = 1, 2, 3, 4, � ��� 	�
 ����
 ����� 
�
 �>�����
�

������
�����9

#����	
��	�� ��������� ��
 2��� .�* � ��
 4������ .�+�

�

(��
�������� �� 	���	������ 
� ��	����

� �� 5��������) 	�� ) ���	�� ��������� �

��:����� ���?� 
�� �	
�	����� .�* � .�+� ��� 
� 	��&
��� �� ) ���	�� �� ������� ������������

2� ���
����� ��:��	�!� �����
�	� ���� 	���	�������	��

��$������ 	��

��
� �� ������$�	� 
� 81�������� N ��� �>�����
 n1, n2, n3, n4� �	 &��#���� C�
���
� 
�

�>�����
 SSn = {n1, n2, n3, n4}� ����� 
�
� ��� ni+1 = next (ni)� i = 1, 2, 3� n1 = next (ni)

���� i = 4 
��
� next 
�$��(�� �	 
�$������ �>����� ����
� ���������
 �	 ������$�	� 
�

81�������� �� 
����
� ����1�������

F��
������ 
� ��:��	�!� .�*� 
�� #��&
���� Q�������� �� ) ���	�� ��
 ��	����

� ��

5��������) ��
 �
������� � ��
 ����������� ��� SSn = {n1, n2, n3, n4}� ����� n1 ��

	
�
�
��� ) ���	� ��
 ��	����

� �� 5��������) ��
 �
�������� � SSd = {d1, d2, d3, d4}�
����� d1 �� 	
�
�
��� ) ���	� ��
 ��	����

� �� 5��������) ��
 ������������

#��� n1 � d1 ��� ������������ �� ������ �
� 	���	���� ��	����������� 	�� 
�� ��
�������

�� 5��������) Kn1 � Kd1 �����	��)������� ;�� �

�� �� ����������� "�!�������

���(������ Q�)�������� 
�� ��
������� �� 5��������) �� �������� �� 
�� ��
�������

���������� 
��
����� 
� ���
����� ��������	�!��

Kn1 (jω) = mı́n {Re (SSn)}+ jmı́n {Im (SSn)}
Kn2 (jω) = máx {Re (SSn)}+ jmı́n {Im (SSn)}
Kn3 (jω) = máx {Re (SSn)}+ jmáx {Im (SSn)}
Kn4 (jω) = mı́n {Re (SSn)}+ jmáx {Im (SSn)} @.�/A

���� �
 �
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 ������������



 �� ���������+����� �� !� '������� ��! ���,���� �� &�!����� -�

Kd1 (jω) = mı́n {Re (SSd)}+ jmı́n {Im (SSd)}
Kd2 (jω) = máx {Re (SSd)}+ jmı́n {Im (SSd)}
Kd3 (jω) = máx {Re (SSd)}+ jmáx {Im (SSd)}
Kd4 (jω) = mı́n {Re (SSd)}+ jmáx {Im (SSd)} @.�1A

��������� �� 
� ����
	�
�� �� 
�� ��
������� ���������� ����� ����������� �
����

����
�:	����� ������ �����

Kn1 (jω) = mı́n {Re (n1) , Re (n3)}+ jmı́n {Im (n1) , Im (n3)}
Kn2 (jω) = máx {Re (n1) , Re (n3)}+ jmı́n {Im (n1) , Im (n3)}
Kn3 (jω) = máx {Re (n1) , Re (n3)}+ jmáx {Im (n1) , Im (n3)}
Kn4 (jω) = mı́n {Re (n1) , Re (n3)}+ jmáx {Im (n1) , Im (n3)} @.�*3A

���� �
 �
�������� � ���� �
 ������������

Kd1 (jω) = mı́n {Re (d1) , Re (d3)}+ jmı́n {Im (d1) , Im (d3)}
Kd2 (jω) = máx {Re (d1) , Re (d3)}+ jmı́n {Im (d1) , Im (d3)}
Kd3 (jω) = máx {Re (d1) , Re (d3)}+ jmáx {Im (d1) , Im (d3)}
Kd4 (jω) = mı́n {Re (d1) , Re (d3)}+ jmáx {Im (d1) , Im (d3)} @.�**A
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�	����� .�*3 � .�** �� �
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��������� n1� n3� d1 � d3� ;��� �

�� �� ��	������ �
������ � ����
)�� �
 ������� �� �	
�	�����

vi =
nj

dk
@.�*+A

	�� j = 1, 2, 3, 4 � k = 1, 2, 3, 4� �� �
 �
� ��	��� ��
������� :�
��� 	��� ��	!�������
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� ����������� �	 ����
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 ��	������
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�$��
�
 n1, n3� d1 � d3�

���� ������� �� 	
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�� 	��&
���� �� )�
���� ��� ������:	��
�� ��
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�
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� �������	� 
� �	����
 ���� ���#���� 
� ��	���
 �
�� �����
����
� �� 	� ($��� ?�B�

&��� ���
� �"
�����
�� 
'	� ����� �� 
� �������� ������ �>�����
� v1 =
Kn4

Kd3

� v2 =
Kn2

Kd3

�

v3 =
Kn3

Kd4

� v4 =
Kn1

Kd4

�

5� �
�� ��
� 
� ����� 
� 	� �
������'� ����� �>����� � �������� 
� ��	������
� ������
� 
�

��������� 
������'� ��� 
� 1� ���
�
���
� 
�	� ���� �
�� �#���	�� �� ��� �� 	� �������� 	�

�
������'� ���	 ����� �>����� � �������� ����� ��	������
 �� 
��� ������
��

)	 �	������ �	 
�
���� 
� ���������
 ?��� ���� �
��
 ������ �>�����
�

−14.2976− 2.4376j =
Kn4

Kd3
, 9.1554 + 1.9344j =

Kn2

Kd3
@.�*.A

−1.992 + 0.0200j =
Kn3

Kd4
, 3.0935− 0.1673j =

Kn1

Kd4
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Kn1(jw) = −10 + 2j, Kn2(jw) = 10 + 2j, Kn3(jw) = 10 + 3j, Kn4(jw) = −10 + 3j,

Kd1(jw) = −5 − 2j, Kd2(jw) = 1− 2j, Kd3(jw) = 1− 3j, Kd4(jw) = −5 − 3j,

����(��� �	 
�
���� 
� ���������
 ?��?� �	 �$��	 ��� 	�
 ������$�	�


Kn1(jw) = −10 + 2j, Kn2(jw) = 10 + 2j, Kn3(jw) = 10 + 3j, Kn4(jw) = −10 + 3j,

Kd1(jw) = −5 − 2j, Kd2(jw) = 1− 2j, Kd3(jw) = 1− 4j, Kd4(jw) = −5 − 4j,
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Ta =
E1

V2

� Ts =
V1

E2
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����� ��$�	�
 ����� �� ��$����
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2�� �����0����	����� Ta =
E1

V2
� Ts =

V1

E2
��� ����	��)�� � 	��0����� @) ���� ���

�&���
� G'������� *1/.HA� 6����� 
� �������	�!� �� 
�� ���

�� �����0�������� �� 	�����)�

	
���� �
 "�	������ @6 A �� ������)� @) ���� ��� �&���
� G>������ *1<,HA�

2�� �����0����	�!� Ta(s) =
Ki

N(s)

λKj
D(s) + (1− λ)Kk

D(s)
�
��� ��	�������� �� 0���� ���

������
 Ta(s) =
η

s
� 	�� η = ηx + jηy ∈ C � s ∈ {λKj

D(s) + (1− λ)Kk
D(s), λ ∈ [0, 1]

}
�

#��� Ta(s) �� �
 	�	����� �� ��� �?����� 	���
�&��� ���� 	
�
�
��� s = x + jy�

�
��� ��	������� �� 
� 0���� f1(x, y) + jf2(x, y)� ����� f1(x, y) =
ηxx+ ηyy

x2 + y2
� f2(x, y) =

ηyx− ηxy

x2 + y2
�

����)���� � ����
�:	����� ���

��

∂f1
∂x

=
y2ηx − x2ηx − 2xyηy

(x2 + y2)2
,

∂f1
∂y

=
x2ηy − y2ηy − 2xyηx

(x2 + y2)2
,

∂f2
∂x

=
y2ηy − x2ηy + 2xyηx

(x2 + y2)2
,

∂f2
∂y

=
y2ηx − x2ηx − 2xyηy

(x2 + y2)2
.
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"�����

;�� ������
∂f1
∂x

=
∂f2
∂y

�
∂f1
∂y

= −∂f2
∂x

@Ta �� 	��0����A � J =
∂f1
∂x

∂f2
∂y

− ∂f1
∂y

∂f2
∂x

=(
∂f1
∂x

)2

+

(
∂f2
∂y

)2

> 0 �
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����� n = nR+jnI � d = dR+jdI @�
������� � �����������A� 
� �	
�	�!� �
� ��:��


� �����)�
� �� �
����� )���� ���� ���

P =
nRdR + nIdI

d2R + d2I
+ j

nIdR − nRdI
d2R + d2I

= x+ jy

;��� ���
���� 
�� 	���� �� 
�� �
� 
� �
��� �� �������		�!� (xc, yc) �������	� � 
�

0�������� ���
�������� ��&� �
 	����	����� ������� �
����� ��
 �����)�
� �� �
����� 	��

����� ���������� ����� �
� yc� � ����� ���������� ����� �
� yc ���� �
 ����� )�
��

x = xc�

�� ������ �
%
�� �� ���
������ 
�� �������		����� 	�� �
 �&� ���������� @x = 0A� @2�

��������	�!� ���� �
 	��� �� 	����� 	�� �
 �&� ���
 @y = 0A �� ����
��A� #����������� 
��

�
���� �� ����������� d = dR + jdI � 	
�� �
������� ����� �� ) ���	�� n1 � n2� � �
���

��� ����
�
� �
 �&� ���
 � �
 �&� �����������

#
���� n1I = n2I @n1n2����
�
� �
 �&� ���
A� �� x = 0 �� )���:	� 
� ��
�	�!� nR =
−n1IdI
dR

� nR ∈ [n1R, n2R]� 2� ����� ���������� ���� y =
n1I

dR
� >!���� �
� 
� )����	�!� ��

λ ∈ [0, 1] ���� ��	

��� �� nR ∈ [n1R, n2R]�

#
���� n1R = n2R @n1n2 ����
�
� �
 �&� ����������A� �� x = 0 �� )���:	� 
� ��
�	�!�

nI =
−n1RdR

dI
� nI ∈ [n1I , n2I ]� 2� ����� ���������� ���� y = −n1R

dI
�

(�� S1 
� �������� �� 
� 0�������� 	�� ����������� d1 � 	�� �
������� ��:���� ���



 �� ���������+����� �� !� '������� ��! ���,���� �� &�!����� '�


�� ) ���	�� n1 � n2, �� ���� �
� S1 	���� �
 �&� �� �
 �
��� (0, y1)� (�� S2 ���� ��������

�� 
� 0�������� 	�� ����������� d2 � 	�� �
������� ��:���� ��� 
�� ) ���	�� n3 � n4, ��

���� �
� S2 	���� �
 �&� �� �
 �
��� (0, y2)� (� S1 �� 	���� � S2 �� x = 0 �
 �
��� ��

�������		�!� �� (0, yc)� ����� yc �
��� ����

*� (� n1I = n2I � n3I = n4I �����	�� yc =
n1I

d1R
=

n3I

d2R
� �� �
� 
� �������		�!� S1 	�� �


�&� ��

(
0, y1 =

n1I

d1R

)
� 
� �������		�!� �� S2 	�� �
 �&� ��

(
0, y2 =

n3I

d2R

)
�

+� (� n1R = n2R � n3R = n4R �����	�� yc = −n1R

d1I
= −n3R

d2I
� �� �
� y1 = −n1R

d1I
�

y2 = −n3R

d2I
�

.� (� n1I = n2I � n3R = n4R �����	�� yc =
n1I

d1R
= −n3R

d2I
� �� �
� y1 =

n1I

d1R
� y2 = −n3R

d2I
�

;��� �
 ������ 	���� 
� �������		�!� �� x = 0 �� �� �����
�� ����
� y1 =
n1I

d1R
�� ������

@������A 	
���� n1I �� ������ @������A � d1R �� ������ @������A� � y2 =
n3I

d2R
��

������ @������A 	
���� n3I �� ������ @������A � d2R �� ������ @������A� ���� ��

�� �����
�� ��� �
� �� n1I �� ������ @������A �����	�� n3I ���� ��� ������ @������A�

;�� ����� y1 � y2 �� �� 	������

�
 ������������ �� ����
�� ���� �
 ���
��� 	����

;��� �
 ���	�� 	���� �� n1I �� ������ @������A � d1R �� ������ @������A� � �� −n3R

�� ������ @������A � d2I �� ������ @������A� �����	�� yc �� ������ @������A � 
�

�������		�!� �������	� � 
� 0��������

2� ��������	�!� �� ����
�� ���� �������		����� ����� ��� ��	�� � ����� ��	� � ���������

�� ��%
��� �
%
�2 ���
�������� 
�� �������		����� �� 
�� �
������� ��
 �����)�
� ��

�
����� ���� �
���� �� 
�� �
� x �= 0�

#
����

x �= 0, x = Re (P ) =
nRdR + nIdI

d2R + d2I
, d2R + d2I =

nRdR + nIdI
x

;�� ������ 
� ����� ���������� ��������� �� 0
�	�!� �� 
� ����� ���
 ��

y = Im (P ) =
nIdR − nRdI
nRdR + nIdI

x.



'� ������$������ �� �������� �� ����
"�����

;��� 
� )�
�� x = xc �= 0 
� )����	�!� �� 
� 0���
�� y 	�� �����	�� � 
�� ���������� ��

∂y

∂dR
=

dI (n
2
I + n2

R)

(nRdR + nIdI)
2xc,

∂y

∂dI
=

−dR (n2
I + n2

R)

(nRdR + nIdI)
2xc,

∂y

∂nR
=

−nI (d
2
R + d2I)

(nRdR + nIdI)
2xc,

∂y

∂nI
=

nR (d2R + d2I)

(nRdR + nIdI)
2xc.

6��������� ��
������ �
 ������ �� 	����������� 
�� ������������

∂y

∂dR
= dIxc,

∂y

∂dI
= −dRxc,

∂y

∂nR
= −nIxc,

∂y

∂nI
= nRxc.

�������� 
�� �������		�!� ����� ��� �
������� �� 
� 0�������� P1 � P2� �� x �= 0 	
����

Re (P1) = Re (P2) � Im (P1) = Im (P2)�

������������ ����� ��� ��%������� (�� S1 (d1) 
� �������� �� 
� 0�������� ������ ���

d1, � ��� S2 (d2) 
� �������� �� 
� 0������� ������ ��� d2� (��� y1c (d1) � y2c (d2)

�
� ������ ����������� �� �
 �
��� �� �������		�!� y1 (d1) = y2 (d2)� 6��
�������� 
��

)�
���� �� 
�� ������ ����������� �� 
� 0���
�� �� �
����� 	
���� �
 ����������� )����

����� d1 ����� d2� �
 �������� d1d2 �
��� ��� ����
�
� �
 �&� ���
 � �
 �����������

*� #��� �� �
 �
� �
 ����������� �� 
� 0������� )���:	� d1I = d2I = dI � dR ∈
[d1R, d2R]�


A S1 (d1) ����� �
 �������� ��
 �
�������� �� ) ���	�� n1 � n2� ����
�
� �
 �&�

���
� nI = n1I = n2I � � S2 (d2) ����� �
 �������� ��
 �
�������� �� ) ���	��

n2 � n3� ��������	

�� �
 �&� ���
 nR = n2R = n3R� 2� ����� ���������� ��

�
 �
��� �� 	����

y = Im (P ) =
nIdR − nRdI
nRdR + nIdI

xc

)���� ���� ���

y1 (nR, dR) ≡ n1IdR − nRd1I
nRdR + n1Id1I

xc, y2 (nI , dR) ≡ nIdR − n2Rd1I
n2RdR + nId1I

xc

����� y1 (nR, dR) ����	� �
� 
� ����� ���������� �� S1 (dR) �� 
�� 0
�	�!�

�� ��� )�����
��� nR � dR� $�
�
������ y2 (nI , dR) ����	� �
� 
� �����

���������� �� S2 (dR) �� 
�� 0
�	�!� �� ��� )�����
��� nI � dR� ;�� ����



 �� ���������+����� �� !� '������� ��! ���,���� �� &�!����� '	


���� 
� ����� ���
 �� x =
nRdR + nIdI

d2R + d2I
� 6��� 
� ����� ���
 ��
 ��������

S1 (d1) )���� ���� ��� x1 =
nRd1R + n1Id1I

d21R + d21I
�� ���� 
� x1 ����� �
 )�
�� ��

nR [x1] ≡ nR =
x1 (d

2
1R + d21I)− n1Id1I

d1R
�
��� ��:����� �� ������ ����
���


� ����� ���
 ��
 �������� S2 (d2) )���� ���� ��� x2 =
n2Rd2R + nId1I

d22R + d21I
��

���� 
� x2 ����� �
 )�
�� �� nI [x2] ≡ nI =
x2 (d

2
2R + d21I)− n2Rd2R

d1I
�
���

��:�����

;�� ������ �� �
 �
��� �� �������		�!� xc = x1 = x2 
�� ������ �����������

���

y1 (dR) ≡ n1IdR − nR [x1] d1I
nR [x1] dR + n1Id1iI

xc, y2 (dR) ≡ nI [x2] dR − n2Rd1I
n2RdR + nI [x2] d1I

xc

� 
� �������		�!� �� y1 (d1) = y2 (d2)� 2� :�
�� .�, �
����� ���� 	����

9��
�� .�,� @�A (�������� ���	��
��� @�A $������		�!� �� 
�� ����������

#��� �� �
��� �����)��

sign

(
∂y1
∂dR

)
= sign

(
∂y2
∂dR

)
= sign (dIxc) ,

����� sign(•) �� 
� 0
�	�!� ������

#
���� dIxc > 0 �����	��
∂y1
∂dR

> 0 � 
� 0
�	�!� y1 (dR) �� 	��	����� 	��

�����	�� � dR� 

��� y1 (dR) > y1 (d1R) ���� dR > d1R� 6������
∂y2
∂dR

> 0 �


� 0
�	�!� y2 (dR) �� 	��	����� 	�� �����	�� � dR� 

��� y2 (dR) < y2 (d2R)



'� ������$������ �� �������� �� ����
"�����

���� dR < d2R� ;�� ������ 
� �������		�!� y1 (d1) = y2 (d2) ���� �	�����

��� y1 (dR) > y1 (d1) = y2 (d2) > y2 (dR)� �����	�� �
 �
��� �� �������		�!�

(xc, y1 (d1) = y2 (d2)) �� �������	� � 
� 0��������

#
���� dIxc < 0�
∂y1
∂dR

< 0 �
∂y2
∂dR

< 0 � y1 (dR) < y1 (d1) = y2 (d2) <

y2 (dR)� ���
����� �
 ����� ������������� �
 �
��� �� �������		�!�

(xc, y1 (d1) = y2 (d2)) �� �������	� � 
� 0��������

	A S1 (d1) ����� �
 �
�������� �� ) ���	�� n1 � n2� ����
�
� �
 �&� ���
� nI =

n1I = n2I � � S2 (d2) ����� �
 �
�������� �� ) ���	�� n3 � n4 ����
�
� �
 �&�

���
� nI = n3I = n4I � 2� ����� ���������� �� �
 �
��� �� 	���� )���� ����

���

y1 (nR, dR) =
n1IdR − nRd1I
nRdR + n1Id1I

xc, y2 (nR, dR) =
n3IdR − nRd1I
nRdR + n3Id1I

xc

6��� 
� ����� ���
 ��
 �������� S1 (d1) )���� ���� ��� x1 =
nRd1R + n1Id1I

d21R + d21I
� ���� 
� )�
�� ���� x1� �
 )�
�� �� nR ≡ nR [x1] ���� ������������

$�
�
������ 
� ����� ���
 ��
 �������� S2 (d2) )���� ���� ��� x2 =
nRd2R + n3Id1I

d22R + d21I
�� ���� 
� )�
�� ���� x2� �
 )�
�� �� nR ≡ nR [x2] ����

������������ �� 
� �������		�!� xc = x1 = x2 
�� ������ ����������� ���

y1 (dR) =
n1IdR − nR [x1] d1I
nR [x1] drR + n1Id1I

xc, y2 (dR) =
n3IdR − nR [x2] d1I
nR [x2] dR + n3Id1I

xc.

�� ���� 	���

sign

(
∂y1
∂dR

)
= sign

(
∂y2
∂dR

)
= sign (dixc)

� �� �������� 
�� ������ �����
�
����� �
� �� �
 	��� �A�

�A S1 (d1) ����� �
 �
�������� �� ) ���	�� n1 � n2� ��������	

�� �
 �&� ���
�

nR = n1R = n2R� � S2 (d2) ����� �
 �
�������� �� ) ���	�� n3 � n4�

��������	

�� �
 �&� ���
� nR = n3R = n4R� 2� ����� ���������� �� �


�
��� �� 	���� )���� ���� ���

y1 (nI , dR) =
nIdR − n2Rd1I
n2RdR + nId1I

xc, y2 (nI , dR) =
nIdR − n4Rd1I
n4RdR + nId1I

xc.

6��� 
� ����� ���
 ��
 �������� S1 (d1) )���� ���� ��� x1 =
n1Rd1R + nId1I

d21R + d21I
�



 �� ���������+����� �� !� '������� ��! ���,���� �� &�!����� '�

� ���� 
� )�
�� ���� x1� �
 )�
�� �� nI ≡ nI [x1] ���� ������������

$�
�
������ 
� ����� ���
 ��
 �������� S2 (d2) )���� ���� ��� x2 =
n3Rd2R + nId1I

d22R + d21I
�� ���� 
� )�
�� ���� x2� �
 )�
�� �� nI ≡ nI [x2] ����

������������ �� 
� �������		�!� xc = x1 = x2 
�� ������ ����������� ����

y1 (dR) =
nI [x1] dR − n2Rd1I
n2RdR + nI [x1] d1I

xc, y2 (dR) =
nI [x2] dR − n4Rd1I
n4RdR + nI [x2] d1I

xc

�� ���� 	���

sign

(
∂y1
∂dR

)
= sign

(
∂y2
∂dR

)
= sign (dIxc)

� �� �������� 
�� ������ �����
�
����� �
� �� �
 	��� �A�

+� #��� �� �
 �
� �
 ����������� �� 
� 0������� )���:	� �
� d1R = d2R = dR�

dI ∈ [d1I , d2I ]�


A S1 (d1) ����� �
 �
�������� 	�� ) ���	�� n1 � n2� ����
�
� �
 �&� ���
� nI =

n1I = n2I � � S2 (d2) ����� �
 �
�������� 	�� ) ���	�� n2 � n3� ��������	

��

�
 �&� ���
� nR = n2R = n3R� �����	�� 
� ����� ���������� �� �
 �
��� ��

	����

y = Im (P ) =
nIdR − nRdI
nRdR + nIdI

xc

)���� ���� ���

y1 (nR, dI) =
n1Id1R − nRdI
nRd1R + n1IdI

xc, y2 (nI , dI) =
nId1R − n2RdI
n2Rd1R + nIdI

xc.

	A S1 (d1) ����� �
 �
�������� 	�� ) ���	�� n1 � n2� ����
�
� �
 �&� ���
� nI =

n1I = n2I � � S2 (d2) ����� �
 �
�������� 	�� ) ���	�� n2 � n3� ����
�
� �


�&� ���
� nI = n2I = n3I � �����	�� 
� ����� ���������� �� �
 �
��� �� 	����

)���� ���� ����

y1 (nR, dI) =
n1Id1R − nRdI
nRd1R + n1IdI

xc, y2 (nR, dI) =
n3Id1R − nRdI
nRd1R + n3IdI

xc

�A S1 (d1) ����� �
 �
�������� 	�� ) ���	�� n1 � n2� ��������	

�� �
 �&� ���
�

nR = n1R = n2R� � S2 (d2) ����� �
 �
�������� 	�� ) ���	�� n2 � n3�

��������	

�� �
 �&� ���
� nR = n2R = n3R� �����	�� 
� ����� ����������



'1 ������$������ �� �������� �� ����
"�����

�� �
 �
��� �� 	���� )���� ���� ����

y1 (nI , dI) =
nId1R − n2RdI
n2Rd1R + nIdI

xc, y2 (nI , dI) =
nId1R − n4RdI
n4Rd1R + nIdI

xc

�� �
�)�� ����� ���� 	���� ����� ��0������� )�
���� �� �
 ����� �����������

���� 
� )����	�!� �� 
� ����� ���������� 	�� �����	�� � dI �� 
� ������

����
� �� xc

sign

(
∂y1
∂dI

)
= sign

(
∂y2
∂dI

)
= sign (−dRxc) .

#
���� −dRxc > 0 �����	��
∂y1
∂dI

> 0 � 
� 0
�	�!� y1 (dI) �� 	��	����� 	��

�����	�� � dI 

��� y1 (dI) > y1 (d1I) ���� ���� dI > d1I � 6������
∂y2
∂dI

> 0

� 
� 0
�	�!� y2 (dI) �� 	��	����� 	�� �����	�� � dI � 

��� y2 (dI) < y2 (d2I)

���� ���� dI < d2I � ;�� ������ 
� �������		�!� y1 (d1) = y2 (d2) ���� �	�����

��� y1 (dI) > y1 (d1) = y2 (d2) > y2 (dI)� �����	��� �
 �
��� �� �������		�!�

(xc, y1 (d1) = y2 (d2)) �� �������	� � 
� 0��������

#
���� −dRxc < 0�
∂y1
∂dI

< 0� �
∂y2
∂dI

< 0� � y1 (dI) < y1 (d1) =

y2 (d2) < y2 (dI)� ���
����� �
 ����� ������������� �
 �
��� �� �������		�!�

(xc, y1 (d1) = y2 (d2)) �� �������	� � 
� 0��������

������������ ����� ��� 
����2 5 ����� ��%����� 5 
���� �� ���� ����
��� �� ���
����

����� 	�����

2� ��������	�!� ���� �
 	��� y = yc �= 0 �� ���
����

�

#����������� 
�� ���

����� ����������� �
 ���
����� ������� 	���	������ 
� ��������� ��


� ����� �� 
� 0������� ��
 	��&
��� �� )�
����� �
� �� ��	
����� �� 
� ����� 	
��������

2��
��� 	��

�� �������� 
�	 ���#���� 
� ��	���
 ��� 
� ��������� �� �� ��
�� ���
������ �
�� �����
� ���

��� 
���
�'� 
�$�����=����=
�$�����=����=���� �
 
����� �� �!�
��� 
�
 ����
 � 
�
 
�$�����


���
�������
 �� �
� ����� 
� 	� ���������

������
�����9



 �� ���������+����� �� !� '������� ��! ���,���� �� &�!����� '�

�
 
��� .�7 ����
�� �
� �
 	��&
��� �� )�
���� ���� 0������ ��� ���������

�������	������ � ��	����

�� ������� ��
 �
������� � � ��	�� ����� �

��� 6������ �� �


	��&
��� �� )�
���� �� 
� �����)�
� �� �
����� ���� 	�������� �� 
� ?��	� 	
�������� �


������� .�. ��������� �
� �� ������� �������		����� ����� 
�� ��	�� � 
�� ��������� �� 
�

0������� @��
)� ) ���	��A�

(�� v1 
� ) ���	� �� 
� 0�������� ;�� 	�����
		�!� �� 
� 0������� ��
 	��&
��� �� )�
�����

v1 �� �
 ) ���	� �� ��� ��	�� ��������	

���� @A1 � A2A � �� ��� ��������� ��������	

����

@S1 � S2A �������	������ �
 	��&
��� �� �����
�� �
������� �� 
� 0��������

#����� ����� 
�� ���

�� �
� ����� ��	�� @�
� ��	��� ���������A � ����� ���������

0����� 	�� �
 �&� u� (�� α �
 ���

� ��
 �������� S1� #��� 
�� �����0����	����� �
�

�������� 
�� ��	�� � 
�� ��	����

�� ������� ��� 	��0������ �� 	�����)�� 
�� ���

��� ;��

������ �
 ���

� ��
 �������� S2 �� 90◦ + α� 6��
��������� �� β �
 ���

� ����� �
 ��	�

A1� �
 ���

� ��
 ��	� A2 ���� 90◦ + β� 2� :�
�� .�- �

���� ���� ���
�	�!��

9��
�� .�-� B��

�� ���� 
�� �
������� �� 
� 	��&
��� �� )�
���� ���
���� �� 
�
	
��������

(� α < β �����	�� 90◦ + α < 90◦ + β� 

��� �
 ��	� A2 �� ���� ����� 
�� ��������� S1

� S2� (�β < α 
� ���
�	�!� �� ����
��� 2�� 	��:�
��	����� �� 
� :�
�� .�<� ���� ��� �����

�������
���

(
�!����� �
� S1 �� 
� �������� �� 
� 0�������� (� A1 �� 
� ��	� �� 
� 0�������� �


������� �
��� ����������� (� �� 
� ��� �
 ���
����� �
������ �� 
� 0������� ���� ��� A2,

�
���� �
� �� 0
��� S2� 
�� ��	�� A1� A2 ������ 
�� �������� � ���� �������� � 
� 0�������� 
�

�
� 	�������	� 
� ��:��	�!� �� 0������� ��
 	��&
��� �� )�
����� �� 
� ����� 	
��������

�
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9��
�� .�<� (��
�	����� �� ��	� � �������� �� �����
�� �� 
� ����� 	
��������

;��� 	���	������� �
 	��&
��� �� )�
���� �� 
� �����)�
� �� �
������ �� ��:�� �
 #��&
���

Q������� �� = ���	�� @((=� (��� (�� �0 =����	��A� 	��� ���
��

��$������ 	�	

��� v1 =
n1

d1
�� �>����� 
�	 ���#���� 
� ��	���
� 
��
� n1 � d1 ���������� �	 ���#����

��
���
� 
� �>�����
 
�	 ������$�	� 
� 81�������� 
�	 ������
�� -SSn. � 
�	 
�������
��

-SSd.� ��
������������� ��� n (vk) -d (vk). �	 ������
�� -
�������
��. �
����
� �	 �>�����

vk� n

(
ni

dj

)
≡ ni�

(
d

(
ni

dj

)
≡ dj

)
� 5	 ��
��
�� ����
��� �� ����	
�� ����� ����� 
�
�

��� vi+1 =
next (n (vi))

d (vi)
� vi+2 =

next (n (vi))

next (d (vi))
��	 ��� i �
 ��� 
� v1 � v2 ���������� � ��


�$����� 
�	 ���#���� 
� ��	���
� � i �
 ����� 
� v1 � v2 ���������� � �� ���� 
�	 ���#����


� ��	���
�

(� v1 � v2 �������	�� � 
� ��������� �
 ..7 	�� 8 ) ���	�� ��{
v1 =

n1

d1
, v2 =

n2

d1
, v3 =

n2

d2
, v4 =

n3

d2
, v5 =

n3

d3
, v6 =

n4

d3
, v7 =

n4

d4
, v8 =

n1

d4

}
,

� �� v1 � v2 �������	�� � 
� ��	�� �
 ..7 	�� 8 ) ���	�� ��{
v1 =

n1

d1
, v2 =

n1

d2
, v3 =

n2

d2
, v4 =

n2

d3
, v5 =

n3

d3
, v6 =

n3

d4
, v7 =

n4

d4
, v8 =

n4

d1

}
.

�� ���� � ���� ��:��	�!�� �
 ���
����� ������� ������	���� 
�� 	���	������	�!� �� 
��

) ���	�� �� 
� 	��&
��� �� )�
����� 	
���� ��	��� ) ���	�� ����� �� �
 ����� 	
��������
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��� 	��
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 �>�����
 
� 	� �������� 
� �� ���#���� 
� ��	���
 
� �� �������	� 
� �	����
 �� �	 ��
��

���
����� ������ �� ��
��
�� ����
��� �� ����	
���
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� 	
�������� �����	�� �� ������� �������		����� 	��
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�� �&�� ��
 �
��� 	���
�&�� �� �	
���� �
 ������� .�7� 
� 0������� ���� 0������ ��� 
��

�
	���!� ��������C��	�C��������C� � � � 4������� �� 	
���� �
 
��� .�7� 
� ����		�!� ��


��	������ �� 
�� ) ���	�� �� 
� 0�������� �� ��
 �
� ����� 
�� ��
������� ��
 �
�������

	��� 
�� ��
 ����������� �� ��	����� �� ����		�!� 	�������� � 
�� ��
&�� ��
 ��
�&� ;��

������ �
 ������� ���� �����������

�

2� ���
����� ���������� ������� �����
�	�� 
�� 	����	�!� �
:	����� ���� ����������


�� )�
���� �� 
�� ��
������� �� 5��������)�

��
���
�� 	��

��
� �� ���#���� 
� ��	���
 
� �� �������	� 
� �	����
� ���� ��	��	�� 	�
 ��	���
 
� 	�


��	������
 
� 81��������� �
 
�(������ ��� 5 �>�����
 �
�>� �� �	 ��
�� ���
������

������
�����9

����	������� 
��
������ �
 ������� .�, � �
 ��	�� �� �
� �� �
:	����� ���������� 
��

��
������� n1, n3� d1 � d3�

�

����  ��������

�4��#�� 	�	

��� Gp �	 
�$������ �������	� 
� �	����
�

Gp (s) =
[4, 4.5]s2 + [2.5, 3.5]s+ [1.5, 2.5]

[1.25, 1.75]s3 + [2, 3]s2 + [1.5, 2]s+ [2, 3]
@.�*7A

�� ($��� ?�; ���
��� 	� �������� 
�	 ���#���� 
� ��	���
� ���� 	� ���������� ω = 3.15� ��


�>�����
 
�� 	�
 �����


v1 = 0.2693− 1.1784j, v2 = 0.3453− 1.1393j,

v3 = 0.5171− 0.8630j, v4 = 0.4269− 0.7602j,

v5 = 0.2034− 0.6272j, v6 = 0.1560− 0.6544j,

v7 = 0.0272− 0.7351j, v8 = 0.0633− 0.8422j.
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9��
�� .�/� 9������� ��
 	��&
��� �� )�
���� ���� ω = 3.15�

&��� 
� �"
����� �	 ���#���� 
� ��	���
 �
�� +��������� �� �	 ������ ���
������ ��


�	������
 
� 	� �������� �� 
� ������ ����� 
� � ������� ������ � ���$��� 
� 	�
 �#�
� ��

�������� 
�	 ���#���� 
� ��	���
 �
�� �����
� ��� ��� 
���
�'� 
�$�����=����=
�$�����=����

� �� �!�
��� 
�
 ����
 � 
�
 
�$�����
 ���
�������
 �� 	� ��������� ,�� ���� 	�
�� ���
�

����(���
� 
����������� ��� 	�
 �>�����
 {v1, v2, v3, v4, v5, v6, v7, v8} 
��

Kn4 (jω)

Kd3 (jω)
,
Kn1 (jω)

Kd3 (jω)
,
Kn1 (jω)

Kd4 (jω)
,
Kn2 (jω)

Kd4 (jω)
,
Kn2 (jω)

Kd1 (jω)
,
Kn3 (jω)

Kd1 (jω)
,
Kn3 (jω)

Kd2 (jω)
,
Kn4 (jω)

Kd2 (jω)

� ��� 
��������� �� ��� -%������ ?�A.�

�

�4��#�� 	��

��� Gp �	 �������	� 
� �	����
 
�(��
� ��� 	� ������'� ?��B� �� ($��� ?�: ���
��� 	� ��������


�	 ���#���� 
� ��	���
 �� 	� ���������� ω = 1.35� � 
�
 �>�����
 
�� 	�
 �����
�

v1 = 4.5749− 9.9887j, v2 = 5.4849− 8.4254j,

v3 = 1.7227− 1.1019j, v4 = 1.2045− 1.0486j,

v5 = 0.5283− 1.2548j, v6 = 0.3621− 1.5209j,

v7 = −0.8202− 2.3322j, v8 = −1.3683− 2.4873j.

&��� 
� �"
����� �	 ���#���� 
� ��	���
 �
�� �� �	 ������ ���
������ 
��
� ����� 6 �>�����
�

� �� �	 ������ ���
������ ��� 2 �>�����
� ��
 �	������
 
� 	� �������� ������ �	 �#� ���$������

�� 	�
 �����
 y1 = −2.1004j � y2 = −7.3240j�
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9��
�� .�1� 9������� ��
 	��&
��� �� )�
���� ���� ω = 1.35�

�� �������� 
�	 ���#���� 
� ��	���
 
����
� �� �	 ������ ���
����� �
�� �����
� ��� ���


���
�'� 
�$�����=����=
�$�����=���� �� 1�� 
�
 ����
 � 
�
 
�$�����
 ���
�������
 ����
�

	� �������� �
�� �� �� +���� ���
������ 5
�� �� 
� ����(�� ����
� 	�
 �	������
 
� 	� ��������

������ �	 �#� ���$������ -%������ ?�B.�

v6 =
Kn3 (jω)

Kd1 (jω)
, v7 =

Kn2 (jω)

Kd2 (jω)
, v8 =

Kn3 (jω)

Kd2 (jω)
, v1 =

Kn4 (jω)

Kd3 (jω)
.

����	������ ���
� ����(���
� 
����������� ��� 	�
 �>�����
 ��� �
��� 
����
�
 �� �	 ������

���
����� 
��

v1 =
Kn4 (jω)

Kd3 (jω)
, v2 =

Kn1 (jω)

Kd3 (jω)
, v3 =

Kn1 (jω)

Kd4 (jω)
,

v4 =
Kn2 (jω)

Kd4 (jω)
, v5 =

Kn2 (jω)

Kd1 (jω)
, v6 =

Kn3 (jω)

Kd1 (jω)
.

)
� ���
� 	�
 �>�����
 
����
�
 �
 �� �	��� 
�����
�� ������ �� ��� -%������ ?�A.�

�

�4��#�� 	��

��� Gp �	 �������	� 
� �	����
�

Gp (s) =
[2.5, 4]s2 + [1.3, 2]s+ [0.5, 1]

[0.5, 2]s3 + [2.5, 3]s2 + [2, 4]s+ [1, 2]

�� ($��� ?��D ���
��� 	� �������� 
�	 ���#���� 
� ��	���
 �� 	� ���������� ω = 1.2� ���



�0� ������$������ �� �������� �� ����
"�����

�>�����
�

v1 = 0.5755− 0.6529j, v2 = 0.5024− 0.8827j

v3 = 0.4423− 1.7919j, v4 = 1.6004− 2.5562j

v5 = 0.8063 + 1.0086j, v6 = 0.5706 + 0.4286j

v7 = 0.5571 + 0.1906j, v8 = 0.6818 + 0.0854j.

9��
�� .�*3� 9������� ��
 	��&
��� �� )�
���� � 0��	
��	�� ω = 1.25�

5	 ���#���� 
� ��	���
 ����� �	������
 
� 
� �������� �� �	 ������ � ������ ���
�����
� ���

4 �>�����
 �� ��
� ��� 
� �		�
� ��
 �	������
 
� 	� �������� ������ �	 �#� ���	 �� 	�
 �����


x1 = 0.7831 � x2 = 3.2865� 	� �������� 
�	 ���#���� 
� ��	���
 
����
� �� �	 ������ ���
�����

�
�� �����
� ��� ��� 
���
�'� 
�$�����=����� � �� �!�
��� 
�
 �	������
 ���
�������
 -
�


����
 � 
�
 
�$�����
. �� 	� �������� -������� ?�?.� �� �	 ��
�� ���
������ 5
�� �� 
� ����(��

����
� 	�
 �	������
 ������ �	 �#� ���	 -������� ?�B.�

v8 =
Kn3 (jω)

Kd4 (jω)
; v1 =

Kn2 (jω)

Kd1 (jω)
; v4 =

Kn4 (jω)

Kd2 (jω)
; v5 =

Kn1 (jω)

Kd3 (jω)
.

����	������ ���
� ����(���
� 
� ����� ����
����� ��� 	�
 �>�����
 
����
�
 �� �	 ������

���
����� 
���
Kn2 (jω)

Kd1 (jω)
,
Kn3 (jω)

Kd1 (jω)
,
Kn3 (jω)

Kd2 (jω)
,
Kn4 (jω)

Kd2 (jω)
,



 �- .�!���� �� !�� "�!������� �� /0�������&� ����������� ���������� "��� !�
������%������� �0	

� 	�
 
����
�
 �� �	 ������ ���
�����

Kn1 (jω)

Kd3 (jω)
,
Kn2 (jω)

Kd3 (jω)
,
Kn2 (jω)

Kd4 (jω)
,
Kn3 (jω)

Kd4 (jω)
.

E ��� ������ 	�
 �>�����
 
����
�
 �
 �� �	��� 
�����
�� 
��������� �� ��� -������� ?�A.�

�

��!� "������ �� ��� ���������� �� #$���������

�����
����� ��
������� ���� �� �������
�
����

(� �� ���������� �
� 
�� ) ���	�� �� 
� 0������� ��
 	��&
��� �� )�
���� �� 
� �����)�
�

�� �
����� �� 
� ����� 	
�������� 0����� 
� ���"
��� 8����
�� �� 7������� �..7��

��	��� ) ���	�� �
���� ��������� �������� 
�� �	
�	�����

vi =
nj

dk
, @.�*,A

����� nj , j = 1, 2, 3, 4 � dk, k = 1, 2, 3, 4 ��� 
�� ��
������� ��������� ��
 �
������� �

��
 ������������ �����	��)�������

�� ���� 	���	��� �
� 
�� )�
���� �� 
�� ��
������� �� 5��������) �
���� ��������� �

������ �� 
�� ���
������ ��
�	������

Kn1 (jω) = mı́n {Re (n1) , Re (n3)}+ jmı́n {Im (n1) , Im (n3)}
Kn2 (jω) = máx {Re (n1) , Re (n3)}+ jmı́n {Im (n1) , Im (n3)}
Kn3 (jω) = máx {Re (n1) , Re (n3)}+ jmáx {Im (n1) , Im (n3)}
Kn4 (jω) = mı́n {Re (n1) , Re (n3)}+ jmáx {Im (n1) , Im (n3)} @.�*-A

Kd1 (jω) = mı́n {Re (d1) , Re (d3)}+ jmı́n {Im (d1) , Im (d3)}
Kd2 (jω) = máx {Re (d1) , Re (d3)}+ jmı́n {Im (d1) , Im (d3)}
Kd3 (jω) = máx {Re (d1) , Re (d3)}+ jmáx {Im (d1) , Im (d3)}
Kd4 (jω) = mı́n {Re (d1) , Re (d3)}+ jmáx {Im (d1) , Im (d3)}

4������� �� 	
���� 
�� �	
�	����� .�*- �� �
:	����� ���������� 
�� ��
�������

��������� n1, n3� d1 � d3 ���� 	�
	

�� 
�� )�
���� �� 
�� ��
������� �� 5��������)�
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�� 
�� ��
������� ���������� �� ��	������ ����
)�� �
 ������� �� �	
�	�����

.�*,� ��  
� 	��� �	
�	�!� ����� ��� ��	!������� � �� ��� ��� �	
�	����� 	�� 
�� ������

��	!������� 

��� ���� ������������ �
 )�
�� �� 
� ��
������ ��������� ;�� �&���
��

�
�������� �
� ��� 	���	���� 
�� )�
���� �� 
�� ) ���	�� vi ��
 ���
����� 	��&
��� ..7{
v1 =

n1

d1
, v2 =

n2

d1
, v3 =

n2

d2
, v4 =

n3

d2
, v5 =

n3

d3
, v6 =

n4

d3
, v7 =

n4

d4
, v8 =

n1

d4

}
@.�*<A

�����	��� �� 
� ��
������ ��������� ��� �&���
� n1� ���� ������������ ����� 
��

����� ��
������� ��������� �� SSn = {n1, n2, n3, n4} � �� SSd = {d1, d2, d3, d4} �
����

��������� ����	�������� �� ��	��� ������� ��:����� ��

	����� ��
 ������� 0������ ��� 
��

�	
�	����� .�*<� �� �
� ���� 	
�
�
��� )�
�� �� n1 ∈ C �
��� 	�
	

���� 
� 	��&
���

..7 ��0������� (�� ������� ���
����� �� �+���
 
�
 9���
 ���
����� �:����� �� ��

:�� ��� "���
�� �� ��� #��������� ���+����� ���������� SSn = {n1, n2, n3, n4}
( SSd = {d1, d2, d3, d4} )�
��� �� 
���;�+��� �� �� #���� ���#��4�< �� �����

#�
������ � ��� �4���

2�� ���
������ ���

����� �
������ 	!�� ���������� 
� ��
������ �������� ���� �
�

���� 	����	�!� �� �����0����

2��
��� 	�1

��� v1 =
n1

d1
�� �>����� 
� 	� ��������� � 
�� v1λ =

n1λ

d1
�� ����� ���	������ 
�	 
�$����� 
�

	� �������� ��� �>����� v1� n1λ = λn1 + (1− λ)n4, λ ∈ [0, 1]� 5������
 �	 ��$������ 
� n1

�
 ϕ1 =
1

2
arg (β) + k

π

2
, ��� k = 0, 1, 2, 3, . . . � 
��
� β =

(z2 − 1)

(z2 − 1)
� � z2 =

v1λ
v1

�

������
�����9

(�� n1λ 
� �
��� ��
 �������� �� ) ���	�� n1 � n4� �
 �������� �� ) ���	�� n1λ � n1�

�
��� ��� ����
�
� �
 �&� ���
 ��
 �
��� 	���
�&�� � ��������	

�� � ��	�� �&��

(� �
 �������� n1λn1 �� ����
�
� �
 �&� ���
� �
 ���
����� �� n1λ − n1 �� 0 �

π� 

��� Im (n1λ − n1) = 0� (
����
����� n1λ = z2n1 ���

�� �
� Im (z2n1 − n1) =

Im ((z2 − 1)n1) = 0�

#��� Im (z) =
z − z̄

2j
∀z ∈ C� �����	��

Im ((z2 − 1)n1) =
(z2 − 1)n1 − (z2 − 1)n1

2j
= 0,



 �- .�!���� �� !�� "�!������� �� /0�������&� ����������� ���������� "��� !�
������%������� �0�

� �����&����
n1

n1
=

(z2 − 1)

(z2 − 1)
≡ β�

���������� n1�� �
 0���� �������	��
 ρ1ejϕ1� ���

��
n1

n1

= e2jϕ1 � 

��� 2ϕ1 = arg (β)+

2kπ� k = 0, 1, 2...

;�� ����� �
 ���
����� ��
 ��
������ ���	���� n1 ��

ϕ1 =
1

2
arg (β) + kπ =

1

2
arg

(
(z2 − 1)

(z2 − 1)

)
+ kπ

(� �
 �������� n1λn1 �� ��������	

�� �
 �&� ���
� �
 ���
����� �� n1λ − n1 ��
π

2
�

3π

2
� 

��� Re (n1λ − n1) = 0� (
����
����� n1λ = z2n1 ���

�� �
� Re (z2n1 − n1) =

Re ((z2 − 1)n1) = 0�

#��� Re (z) =
z + z̄

2
, ∀z ∈ C �����	��

Re ((z2 − 1)n1) =
(z2 − 1)n1 + (z2 − 1)n1

2
= 0;

� �����&����
n1

n1
= −(z2 − 1)

(z2 − 1)
= −β�

���������� n1 �� �
 0���� �������	��
 ρ1ejϕ1� ���

��
n1

n1
= e2jϕ1 � 

��� e2jϕ1 = −β �

2ϕ1 = arg(−β) + 2kπ = arg (β) + 2kπ + π� k = 0, 1, 2...

;�� ����� �
 ���
����� ��
 ��
������ ���	���� n1 ��

ϕ1 =
1

2
arg (β) + kπ +

π

2
=

1

2
arg

(
(z2 − 1)

(z2 − 1)

)
+ kπ +

π

2
.

�

�
 ������� �������� 	�
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 )�
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 ���
����� �� 
�� �� 
�� ��
������� ����������

>!���� �
� 	
�
�
��� )�
�� ���
 ��
 �!�

� �� n1 �� )�
��� ���� ���������� �
 )�
�� ��


��
������� �� �
� �
 �

���
�	�� n1 ��� 
� �?���� ���
 ρ� 
� ��

	�!� ��
 ������� ��

�	
�	����� vi =
nj

dk
���� ��
� �
� ����� 
�� ��
������� ��������� ������� �

���
�	���� ���

ρ� �	���������� �� ����� ���"
��� �� �
������

#��� �
 )�
�� ��
 �!�

� �� n1� ρ1 �� ����0������� ���� ���������� 
�� ��
�������

��������� ���� 
� 9���� 	��&
��� �� )�
����� �
 ��
������ n1 �� �
��� �����
����
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@��)������� ��� �
 �!�

�A� �
������ �� 
� 0���� n1 = cos (ϕ1) + j sin (ϕ1)� 2�

�����
���	�!� �� ��
 �
� |n1| = 1�

2�� 	����	����� ��&� 
�� �
� �� �� ����������� �
 ��
������ �������� ���	��
� ����������

�
� 
�� ��������� ) ���	�� ��������� 	�
	

���� 0����� 
� ��	����

� �� �
 �
��� 	���
�&��

Q�� �)��� �
� 	
�
�
��� ���� )�
�� ��
 ���
����� ϕ1 ������ ���������� �
 ����� ..7 � �


����� 	��&
��� �� )�
����� ���� �
 	��&
��� �� )�
���� ��
 �
������� � ��
 �����������

�� ������ ��	����

��� ���� ����
�
��������

�
 ������� .�- �� ��
�	� � 
� ��������� �
 ���
����� ������� �� ���
���� ���� ��
�	���

� 
� ��	��

2��
��� 	��

��� v1 =
n1

d1
�� �>����� 
� 	� �������� � 
�� v1λ =

n1

d1λ
�� ����� ���	������ 
�	 ���� 
� 	�

�������� ��� �>����� v1� d1λ = λd1 + (1− λ) d4, λ ∈ [0, 1]� 5������
 �	 ��$������ 
� d1 �


ϕ1 =
1

2
arg (β) + k

π

2
� k = 0, 1, 2, 3, . . . � 
��
� β =

(z2 − 1)

(z2 − 1)
� z2 =

v1
v1λ

�

������
�����9

(��� d1λ 
� �
��� ��
 �������� �� ) ���	�� d1� d4� �
 �������� �� ) ���	�� d1λ � d1

�
��� ��� ����
�
� �
 �&� ���
 ��
 �
��� 	���
�&�� � ��������	

�� � ��	�� �&��

(� �
 �������� d1λd1�� ����
�
� �
 �&� ���
� �
 ���
����� �� d1λ − d1 �� 0 � π� 

���

Im(d1λ−d1) = 0� (
����
����� d1λ = z2d1 ���

�� �
� Im(z2d1−d1) = Im ((z2 − 1)d1) =

0�

#��� Im(z) =
z − z

2j
∀z ∈ C �����	��

Im ((z2 − 1)d1) =
(z2 − 1)d1 − (z2 − 1)d1

2j
= 0

� �����&����
d1

d1
=

z2 − 1

z2 − 1
≡ β�

���������� d1 �� �
 0���� �������	��
 ρ1ejϕ1 ���

��
d1

d1
= e2jϕ1 

��� 2ϕ1 = arg (β)+

2kπ� k = 0, 1, 2...

;�� ����� �
 ���
����� ��
 ��
������ ���	���� d1 )���� ���� ���

ϕ1 =
1

2
arg(β) + kπ =

1

2
arg

(
z2 − 1

z2 − 1

)
+ kπ.
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(� �
 �������� d1λd1 �� ��������	

�� �
 �&� ���
� �
 ���
����� �� d1λ − d1 ��
π

2
�

3π

2
� 

��� Re(d1λ − d1) = 0� (
����
����� d1λ = z2d1 ���

�� �
� Re(z2d1 − d1) =

Re ((z2 − 1)d1) = 0�

#��� Re(z) =
z + z

2
∀z ∈ C �����	��

Re ((z2 − 1)d1) =
(z2 − 1)d1 + (z2 − 1)d1

2
= 0

� �����&����
d1

d1
= −z2 − 1

z2 − 1
= −β�

���������� d1 �� �
 0���� �������	��
 ρ1ejϕ1 � ���

��
d1

d1
= e2jϕ1 � 

��� e2jϕ1 = −β �

2ϕ1 = arg(−β) + 2kπ = arg (β) + 2kπ + π� k = 0, 1, 2...

;�� ����� �
 ���
����� ��
 ��
������ ���	���� d1 ��

ϕ1 =
1

2
arg (β) + kπ +

π

2
=

1

2
arg

(
(z2 − 1)

(z2 − 1)

)
+ kπ +

π

2
.

�

2�� 	���������� ����� 
� �����
���	�!� �� d1 ��� ����
���� � 
�� ���
������ ���� n1�

#
�
�
��� )�
�� ��
 �!�

� �� d1 �� )�
���� �� �
� �
 �

���
�	�� d1 ��� 
� �?����

���
 ρ 
� ��

	�!� ��
 ������� �� �	
�	����� vi =
nj

dk
����������� �
� 
�� )�
���� �� 
��

) ���	�� ��
 �
������� � ��
 ����������� ��������� )����� �

���
�	���� ��� �
 �����

�?���� ���
 ρ� ������ ����� �
 ����� 	��&
��� �� )�
����� ;�� ����� ������� 	���������

d1 = cos (ϕ1) + j sin (ϕ1)�

(��� ϕi� i = 2, 3, 4 � φj, j = 1, 2, 3, 4 
�� ���
������ �� ni � �� dj� �����	��)�������

������������ � ������ ��
 ���
����� ϕ1 =
1

2
arg (β) ��
 ��
������ �������� n1� >!���� �
�

�� �
 ���
����� �� n1 �� ϕ1+ γ �����	�� �
 ���
����� �� 
�� ����� ��
������� ���������

ni � dj ��� ϕi + γ � φj + γ� �����	��)������ @�	
�	�!� .�*,A� ;�� ������ 
�� 	
���� )�
����

ϕ1 =
1

2
arg (β) + k

π

2
, k = 1, 2, 3 ��� )�
���� 	��� ���
����� ��
 ��
������ ��������

���	��
 n1� ;��� 	��� 
�� �� �

�� �� ���������� 	
���� �����
�� ����� �� ��
������� ��


�
������� � ��
 ����������� ���������� � ��� ������ 	
���� �����
�� ����� �� ��	����

��

�� 5��������)� � ����� (+ρN,+ρD)� (−ρN,−ρD)� (+ρjN,+ρjD) , (−ρjN,−ρjD)� �����

ρ ∈ R
+�

�
 ������������ �� ����
�� 	
���� �
 ���
����� �� �������� � ������ �� 
� ��	� � �
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 ���
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	!(������1 (� ����� �� 
� 	��&
��� �� )�
����� 	�� �
 ����� 5 ) ���	�� �� �
 �����

	
�������� � �� �������� ������� 
�� ��
������� �� 5��������)� 2�� ����� � ���
�� ����

*� (�
�		����� �� 
� 0������� ��
 	��&
��� �� )�
����� �� ������� 	�������� � 
�� ��
&��

��
 ��
�&� 
� 	��&
��� �� 5 ) ���	�� 	����	
��)�� � ���
���� �� �
 ����� 	
��������

v1, v2, v3, v4, v5 ������ �
 ������ �
������ �� 
� 0������� 
� �������� @� 
� ��	�A�

+� #�
	

�� z2 =
v2
v1
, z3 =

v4
v3

���� �
 	��� �� ��������� � z2d =
v1
v2
, z3d =

v3
v4

���� �


�� ��	��

.� #�
	

�� ϕ1 =
1

2
arg

(
(z2 − 1)

(z2 − 1)

)
� ���?� �
 ������� .�- �� �
 ������ �
������ �� 
�

0������� �� 
� �������� � 	�
	

�� ϕ1 =
1

2
arg

(
(z2d − 1)

(z2d − 1)

)
� ���?� �
 ������� .�< ��

�� 
� ��	��

7� >����
���� �
 ��
������ ��������� ���������� n1 = cos (ϕ1) + j sin (ϕ1) ���� 
�

��������� � d1 = cos (ϕ1) + j sin (ϕ1) ���� 
� ��	��

,� #�
	

�� n2 = z2n1, n3 = z3n2T d1 =
n1

v1
, d2 =

n2

v3
, d3 =

n3

v5
@	�����
����

��	�C��������A @�� 0���� ����
�� �� ���������� d2 =
v1
v2
d1, d3 =

v3
v4
d2, n1 =

d1v1, n2 = d2v3, n3 = d3v5 ���� �
 	��� �� 
� ��	�A�

-� 6�
�	���� 
�� ��
�	����� .�*-� 	�
	

�� 
�� ��	����

�� ��


�
������� � ��
 ������������ ����� ��� 
�� )�
����

N = {Kn1 (jω) , Kn2 (jω) , Kn3 (jω) , Kn4 (jω)} � D =

{Kd1 (jω) , Kd2 (jω) , Kd3 (jω) , Kd4 (jω)} .

<� #
�
�
��� ��� �� ��	����

�� �� 5��������) (+ρN,+ρD)� (−ρN,−ρD)�

(+ρjN,+ρjD) , (−ρjN,−ρjD)� ρ > 0 �� 
�� ��

	�!� ��
 �
��������

�4��#�� 	�1

�� ��"	� ?�� ���
��� 	� ���������'� ����
���� ���� �	 �����
� 
� �
����(����'�� �"����
� �

������ 
� 	�
 �	������
 
� 	� �������� 
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� �� �������	� 
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�� �	�$�
�
 �� 
����
� ����1������� �� �	 ������ �	������ �
 �� 
�$������ �� 	� (	�

6�����
��7 ������� F�F� � ������� FDF 
� �
 �� ����� ,��� ��
� ���#���� 
� ��	���
� 	� ��"	�
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?�� ���
��� �	 ��
�	��
� 
� ��	���� �	 �	$������ ����
� �	 ������ �	������ �
 �� 
�$����� -�

�� ����.�

,��
� ������"��
� 
� ����� 
������ ��� 	�
 ���#����
 
� ��	���
 
� �
�� �#���	� ����������

�	 �������	� 
� �	����
 
�(��
� ����

Gp (s) =
[4, 4.5]s2 + [2.5, 3.5]s+ [1.5, 2.5]

[1.25, 1.75]s3 + [2, 3.1]s2 + [1.5, 2]s+ [2, 3]
.

�

��%� &��	
��� ��� ������� �� �
	�
������

F�� )�� ������������ 
�� �����
�� ��	����

�� �� 5��������)� @��
�	���� �
 �
�������

�� 
� ��		�!� .�7A� �
��� ��� ����
)�� �
 ������� �� �	
�	�����

Re (Kn1 (ω)) = pemı́n(jω) = a−0 − a+2 ω
2 + a−4 ω

4 − ...

Im (Kn1 (ω)) = pomı́n(jω) = a−1 ω − a+3 ω
3 + a−5 ω

5 − ...

Re (Kn3 (ω)) = pemáx(jω) = a+0 − a−2 ω
2 + a+4 ω

4 − ...

Im (Kn3 (ω)) = pomáx(jω) = a+1 ω − a−3 ω
3 + a+5 ω

5 − ... @.�*/A

Re (Kd1 (ω)) = qemı́n(jω) = b−0 − b+2 ω
2 + b−4 ω

4 − ...

Im (Kd1 (ω)) = qomı́n(jω) = b−1 ω − b+3 ω
3 + b−5 ω

5 − ...

Re (Kd3 (ω)) = qemáx(jω) = b+0 − b−2 ω
2 + b+4 ω

4 − ...

Im (Kd3 (ω)) = qomáx(jω) = b+1 ω − b−3 ω
3 + b+5 ω

5 − ...

	
��� ��	!������ ��� 
�� 	��:	������ �� 
�� ��
������� {pemı́n, pemáx, pomı́n, pomáx} �
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ω
=

0.125
ω
=

0.555
ω
=

1.35
ω
=

1.57
ω
=

1.86

����
��
��

1
0

1
1

0
v
1

1.2492
+
0.0017j

0.6577
+
0.3347j

4.5749−
9.9887j

1.3904−
4.0704j

1.0287−
2.3213j

v
2

1.2572
+
0.0647j

1.3551
+
0.1655j

5.4849−
8.4254j

1.7938−
3.6117j

1.0825−
1.0694j

v
3

1.2589
+
0.1054j

1.6175
+
0.4715j

1.7227−
1.1019j

1.3672−
1.1072j

0.8313−
0.9449j

v
4

0.7471
+
0.1537j

1.7150
+
0.9835j

1.2045−
1.0486j

1.0043−
0.9980j

0.4026−
0.9238j

v
5

0.4888
+
0.1171j

0.8390
+
1.4305j

0.5283−
1.2548j

0.4710−
1.0646j

0.2960−
1.0336j

v
6

0.4862
+
0.0751j

0.2191
+
0.7658j

0.3621−
1.5209j

0.3359−
1.2371j

−
0.1229−

1.3954j
v
7

0.4870
+
0.0647j

0.1695
+
0.5441j

−
0.8202−

2.3322j
−
0.1349−

1.7250j
0.7926−

2.5354j
v
8

0.8241
+
0.0365j

0.2336
+
0.4942j

−
1.3683−

2.4873j
−
0.4334−

1.8554j
N
a
N
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�
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ω
=

0.
12
5

ω
=

0.
55
5

ω
=

0.
13
5

ω
=

1.
57

ω
=

1.
86

z 2
=

v 2 v 1

( z 2
d
=

v 1 v 2

)
1.
00
65

+
0.
05
05
j

0.
50
80

+
0.
18
50
j

0.
90
51

+
0.
13
46
j

0.
92
94

+
0.
12
32
j

1.
55
31

−
0.
61
01
j

z 3
=

v 4 v 3

( z 3
d
=

v 3 v 4

)
0.
59
94

+
0.
07
19
j

0.
82
84

−
0.
20
01
j

0.
77
25

−
0.
11
46
j

0.
80
06

−
0.
08
16
j

1.
18
91

+
0.
38
16
j

ϕ
1
=

1 2
ar
g

( (z
2
d
−
1)

(z
2
d
−
1)

)
27
7.
30
58

20
.6
05
0

54
.8
12
6

60
.1
92
9

47
.8
08
5

n
1
(d

1
)
=

co
s
(ϕ

1
)
+
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)�
���� �� 
�� ��
������� �� 5��������)� (±ρN,±ρD)� (±ρjN,±ρjD) ����� ρ ∈ R+�

#
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�� )�� ��������� 
�� )�
���� �� {Kni (jω1)}4i=1

� {Kdi (jω1)}4i=1� 
�� )�
���� �
� �� �������� �� {γKni (jω2)}4i=1 � {γKdi (jω2)}4i=1 ����
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�� ���� {Kni (jω1)}4i=1 � {Kdi (jω1)}4i=1 
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	�!� (+ρN (ω1) ,+ρD (ω1))

���� 
� 0��	
��	�� ω = ω1 � �
�������� �
� ���� 
� ���
��� 	��&
��� �� )�
�����


� ��

	�!� 	�������������� �� (+ρjN (ω2) ,+ρjD (ω2))� (� 	
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f1 (a, ωi) = α1p
sol 1
emı́n(jωi) + α2p

sol 2
emı́n(jωi) + α3p

sol 3
emı́n(jωi) + α4p

sol 4
emı́n(jωi)

f2 (a, ωi) = α1p
sol 1
omı́n(jωi) + α2p

sol 2
omı́n(jωi) + α3p

sol 3
omı́n(jωi) + α4p

sol 4
omı́n(jωi)

f3 (a, ωi) = α1p
sol 1
emáx(jωi) + α2p

sol 2
emáx(jωi) + α3p

sol 3
emáx(jωi) + α4p

sol 4
emáx(jωi)

f4 (a, ωi) = α1p
sol 1
omáx(jωi) + α2p

sol 2
omáx(jωi) + α3p

sol 3
omáx(jωi) + α4p

sol 4
omáx(jωi) @.�*1A

f5 (b, ωi) = α1q
sol 1
emı́n(jωi) + α2q

sol 2
emı́n(jωi) + α3q

sol 3
emı́n(jωi) + α4q

sol 4
emı́n(jωi)

f6 (b, ωi) = α1q
sol 1
omı́n(jωi) + α2q

sol 2
omı́n(jωi) + α3q

sol 3
omı́n(jωi) + α4q

sol 4
omı́n(jωi)

f7 (b, ωi) = α1q
sol 1
emáx(jωi) + α2q

sol 2
emáx(jωi) + α3q

sol 3
emáx(jωi) + α4q

sol 4
emáx(jωi)

f8 (b, ωi) = α1q
sol 1
omáx(jωi) + α2q

sol 2
omáx(jωi) + α3q

sol 3
omáx(jωi) + α4q

sol 4
omáx(jωi)
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f1 (a, ωi) = a−0 − a+2 ω
2
i + a−4 ω

4
i − ..., f2 (a, ωi) = a−1 ωi − a+3 ω

3
i + a−5 ω

5
i − ...,

f3 (a, ωi) = a+0 − a−2 ω
2
i + a+4 ω

4
i − ..., f4 (a, ωi) = a+1 ωi − a−3 ω

3
i + a+5 ω

5
i − ...,

f5 (b, ωi) = b−0 − b+2 ω
2
i + b−4 ω

4
i − ..., f6 (b, ωi) = b−1 ωi − b+3 ω

3
i + b−5 ω

5
i − ...,

f7 (b, ωi) = b+0 − b−2 ω
2
i + b+4 ω

4
i − ..., f8 (b, ωi) = b+1 ωi − b−3 ω

3
i + b+5 ω

5
i − ....

2�� αi� i = 1, ..., 4 ��� ��	!������� �� ���� �
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{pemı́n, pomı́n, pemáx, pomáx} � {qemı́n, qomı́n, qemáx, qomáx} 
�� ��	����

�� N � D 	�
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�� ��
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����� ��
 ��
������ �������� ���	��
������ 2�� ����� ���� ��

	�����
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� �� �������� �
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�	�� �
 �
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 ��
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� ������	����� ��	����

�� �� 5��������) ������� +90◦� +180◦ � +270◦

�������

(�

	�!� 2 (jN, jD)�

{−pomáx, pemı́n,−pomı́n, pemáx} , {−qomáx, qemı́n,−qomı́n, qemáx}

(�

	�!� 3 (−N,−D)�

{−pemáx,−pomáx,−pemı́n,−pomı́n} , {−qemáx,−qomáx,−qemı́n,−qomı́n}

(�

	�!� 4 (−jN,−jD)�

{pomı́n,−pemáx, pomáx,−pemı́n} , {qomı́n,−qemáx, qomáx,−qemı́n}
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{pemı́n, pomı́n, pemáx, pomáx} � � {qemı́n, qomı́n, qemáx, qomáx} ���������� 
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	����� @sol i, i = 1, 2, 3, 4A
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�� �� 
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���� ��

	������ �
 ������� ��

�	
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;��� �
 ������ 	��&
��� �� )�
���� (ω = ω1) ��
 ������� 
�� �	
�	����� ����

f1 (a, ω1) = psol iemı́n(jω1), f2 (a, ω1) = psol iemáx(jω1),

f3 (a, ω1) = psol iomı́n(jω1), f4 (a, ω1) = psol iomáx(jω1),

f5 (b, ω1) = qsol iemı́n(jω1), f6 (b, ω1) = qsol iemáx(jω1),

f7 (b, ω1) = qsol iomı́n(jω1), f8 (b, ω1) = qsol iomáx(jω1),

� ���� �
 ����� �� 	��&
��� �� )�
���� (ω = ωi, i �= 1)

f1 (a, ωi)− α1(ωi)pemı́n(jωi) + α2(ωi)pomáx(jωi) + α3(ωi)pemáx(jωi)− α4(ωi)pomı́n(jωi) = 0

f2 (a, ωi)− α1(ωi)pomı́n(jωi)− α2(ωi)pemı́n(jωi) + α3(ωi)pomáx(jωi) + α4(ωi)pemáx(jωi) = 0

f3 (a, ωi)− α1(ωi)pemáx(jωi) + α2(ωi)pomı́n(jωi) + α3(ωi)pemı́n(jωi)− α4(ωi)pomáx(jωi) = 0

f4 (a, ωi)− α1(ωi)pomáx(jωi)− α2(ωi)pemáx(jωi) + α3(ωi)pomı́n(jωi) + α4(ωi)pemı́n(jωi) = 0

f5 (b, ωi)− α1(ωi)qemı́n(jωi) + α2(ωi)qomáx(jωi) + α3(ωi)qemáx(jωi)− α4(ωi)qomı́n(jωi) = 0

f6 (b, ωi)− α1(ωi)qomı́n(jωi)− α2(ωi)qemı́n(jωi) + α3(ωi)qomáx(jωi) + α4(ωi)qemáx(jωi) = 0

f7 (b, ωi)− α1(ωi)qemáx(jωi) + α2(ωi)qomı́n(jωi) + α3(ωi)qemı́n(jωi)− α4(ωi)qomáx(jωi) = 0

f8 (b, ωi)− α1(ωi)qomáx(jωi)− α2(ωi)qemáx(jωi) + α3(ωi)qomı́n(jωi) + α4(ωi)qemı́n(jωi) = 0

@.�+3A
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 Ax = f 
���

x = (a−0 a+2 a−4 a−1 a+3 b−0 b+2 b−4 b−1 b+3 a+0 a−2 a+4 a+1 a−3 b+0 b−2 b+4 b+1 b−3

α1(ω2)α2(ω2)α3(ω2)α4(ω2)α1(ω3)α2(ω3)α3(ω3)α4(ω3)

α1(ω4)α2(ω4)α3(ω4)α4(ω4)α1(ω5)α2(ω5)α3(ω5)α4(ω5))
t

A(1, 1 : 3) = A(3, 11 : 13) = A(5, 6 : 8) = A(7, 16 : 18) = (1 − 0.0156 0.0002)

A(2, 4 : 5) = A(4, 14 : 14) = A(6, 9 : 10) = A(8, 19 : 20) = (0.125 − 0.002)

A(9, 1 : 3) = A(11, 11 : 13) = A(13, 6 : 8) = A(15, 16; 18) = (1 − 0.308 0.0949)

A(10, 4 : 5) = A(12, 14 : 15) = A(14, 9 : 10) = A(16, 19 : 20) = (0.555 − 0.171)

A(17, 1 : 3) = A(19, 11 : 13) = A(21, 6 : 8) = A(23, 16 : 18) = (1− 1.8225 3.3215)

A(18, 4 : 5) = A(20, 14 : 15) = A(22, 9 : 10) = A(24, 19 : 20) = (1.35 − 2.4604)

A(25, 1 : 3) = A(27, 11 : 13) = A(29, 6 : 8) = A(31, 16 : 18) = (1 − 2.4649 6.0757)

A(26, 4 : 5) = A(28, 14 : 15) = A(30, 9 : 10) = A(32, 19 : 20) = (1.57 − 3.8699)

A(33, 1 : 3) = A(35, 11 : 13) = A(37, 6 : 8) = A(39, 16 : 18) = (1 − 3.4596 11.9688)

A(34, 4 : 5) = A(36, 14 : 15) = A(38, 9 : 10) = A(40, 19 : 20) = (1.86 − 6.4349)

����� A(1, 1 : 3) ��
��� 	�
 �	������
 A(1, 1), A(1, 2), A(1, 3) 
� 	� ������ A. �� ��
��

������'� ���� �	 ��
���

A(9 : 16, 21 : 24) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

−0.5448 −0.0447 0.7627 0.4978

0.4978 −0.5448 −0.0447 0.7627

−0.7627 −0.4978 0.5448 0.0447

0.0447 −0.7627 −0.4978 0.5448

−0.2094 −0.4104 0.3519 0.9360

0.9360 −0.2094 −0.4104 0.3519

−0.3519 −0.9360 0.2094 0.4104

0.4104 −0.3519 −0.9360 0.2094

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
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A(17 : 24, 25 : 28) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

−0.5842 −0.4116 0.8173 0.5763

0.5763 −0.5842 −0.4116 0.8173

−0.8173 −0.5763 0.5842 0.4116

0.4116 −0.8173 −0.5763 0.5842

−0.0787 0.2781 0.4451 −0.0458

−0.0458 −0.0787 0.2781 0.4451

−0.4451 0.0458 0.0787 −0.2781

−0.2781 −0.4451 0.0458 0.0787

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

A(25 : 32, 29 : 32) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

−0.6658 −0.3551 0.8677 0.4971

0.4971 −0.6658 −0.3551 0.8677

−0.8677 −0.4971 0.6658 0.3551

0.3551 −0.8677 −0.4971 0.6658

−0.1746 0.3996 0.5103 −0.1535

−0.1535 −0.1746 0.3996 0.5103

−0.5103 0.1535 0.1746 −0.3996

−0.3996 −0.5103 0.1535 0.1746

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

A(33 : 40, 33 : 36) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1.1156 −1.9430 −0.7968 2.4108

2.4108 1.1156 −1.9430 −0.7968

0.7968 −2.4108 −1.1156 1.9430

1.9430 0.7968 −2.4108 −1.1156

−0.7409 −0.6716 1.4516 1.4951

1.4951 −0.7409 −0.6716 1.4516

−1.4516 −1.4951 0.7409 0.6716

0.6716 −1.4516 −1.4951 0.7409

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
� �� ���	����� ���� ��
� A (i, j) = 0�

��
 ������ 
�
����
 
� ���������
 � �	������ ��� 	� ������ A � �	 ������ x ������������

	�
 
�$������
 ������ 
�	������
�

�� ,����� 
�
�����

f(1 : 8) = (0.1272 − 0.9919 0.1780 − 0.5818 0.0749 − 1.2081 0.1007 − 0.7941)t

f(9 : 40) = 0.
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a0 =
[
4.2581, 4.1524

]
� a1 =

[
−2.4966, −1.4979

]
× 1015�

a2 =
[
−3.4952, −2.4966

]
× 1015� a3 =

[
−4.4938, −3.9945

]
× 1015�

a4 =
[
−6.3401, −15.0761

]
�

b0 =
[
2, 3.618

]
� b1 =

[
−2.9959, −1.9973

]
× 1015�

b2 =
[
−1.9973, −1.4979

]
× 1015� b3 =

[
−3.0958, −1.9973

]
× 1015�

b4 =
[
−1.7476, −1.2483

]
× 1015�

α (ω2) =
{

6.8540, 0.3329, 4.5451, 3.3151× 1014
}

�

α (ω3) =
{

2.5960× 1015, 46.4570, 14.2399, 9.5432
}

�

α (ω4) =
{

4.0703× 1015, 48.3760, 42.3226, −3.3486
}

�

α (ω5) =
{

−30.7368, 2.5456× 1015, 1.5256, 51.5442
}

�
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f(1 : 8) = (−0.1780 0.5818 − 0.1272 0.9919 − 0.1007 0.7941 − 0.0749 1.2081)t

f(9 : 40) = 0.

5������


a0 =
[
0.7889, 3.6361

]
� a1 =

[
−1.4423, −2.4038

]
× 1015�

a2 =
[
−2.4038, −3.3653

]
× 1015� a3 =

[
−3.8461, −4.3268

]
× 1015�

a4 =
[
−14.8356, 5.3120

]
�

b0 =
[
2, 4.6497

]
� b1 =

[
−1.923, −2.8845

]
× 1015�

b2 =
[
−1.4423, −1.923

]
× 1015 � b3 =

[
−1.9230, −2.9807

]
× 1015�

b4 =
[
−1.2019, −1.6827

]
× 1015�

α (ω2) =
{

54.8133, −3.9829, 49.4813, 1.7229× 1015
}

�

α (ω3) =
{

1.349× 1016, 415.15, 25.8977, 325.985
}

�

α (ω4) =
{

2.115× 1016, 467.649, 160.43, 352.90
}

�

α (ω5) =
{

−23.715, 1.323× 1016, 53.232, 291.782
}

�
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f(1 : 8) = (0.5818 0.1272 0.9919 0.1780 0.7941 0.0749 1.2081 0.1007)t

f(9 : 40) = 0.

5������


a0 =
[
1.5, 2.5

]
� a1 =

[
2.5, 3.5

]
� a2 =

[
4, 4.5

]
�

a3 =
[
0, 0

]
� a4 =

[
0, 0

]
�

b0 =
[
2, 3

]
� b1 =

[
1.5, 2

]
� b2 =

[
2, 3.1

]
�

b3 =
[
1.25, 1.75

]
� b4 =

[
0, 0

]
�

α (ω2) =
{

0, 0, 0, 1.6979
}

� α (ω3) =
{

5.4664, 0, 0, 0
}

�

α (ω4) =
{

7.3697, 0, 0, 0
}

� α (ω4) =
{

7.3697, 0, 0, 0
}

�

���� ����
	�
 ������
	�
� 
���
	�
��� �� �
 	
������� �� ���
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f(1 : 8) = (−0.9919 − 0.1780 − 0.5818 − 0.1272 − 1.2081

−0.1007 − 0.7941 − 0.0749)t

f(9 : 40) = 0.

5������


a0 =
[
1.6667, 1

]
� a1 =

[
2.3333, 1.6667

]
� a2 =

[
3, 2.6667

]
�

a3 =
[
0, 0

]
� a4 =

[
0, 0

]
�

b0 =
[
2, 1.3333

]
� b1 =

[
1.3333, 1

]
� b2 =

[
2.0667, 1.3333

]
�

b3 =
[
1.1665, 0.8333

]
� b4 =

[
0, 0

]
�

α (ω2) =
{

0, 0, 0, 1.0188
}

� α (ω3) =
{

3.2798, 0, 0, 0
}

�

α (ω4) =
{

4.4218, 0, 0, 0
}

� α (ω5) =
{

0, 2.3342, 0, 0
}

�
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�� 0�	������	�!� �� 
� 0���� A = UΣV t ����� U � V ��� �����	�� ��������
���

� Σ �� 
�� ������ �������
� ����� �
� �
������� sii = si ≥ 0� 6������ U � V �
����

������������ �� 0���� �
� s1 ≥ s2 ≥ s3 ≥ ... ≥ sn ≥ 0� 4������� �� 	
���� �
� 
�

(=� ����� ���� ���������� 
�� )�
���� si �� ��������� "���
�� ���+���
�� �� A� � 
��

	�

���� �� : � 7 �� ��������� "����
�� ���+���
���

�� ����� 
�� ����������� �� 
� ���	������	�!� �� )�
���� ����

���� �� 
�� �������

������ 
��� �
� ��������� 
�� ������� ���������� �@��
� �� ���������� ��
�	������

	�� 
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����
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���� �� 
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 �?���� ��

	����	�!� �� 
�� ������ A �� cond(A) =
smáx

smı́n

≥ 1, ����� smı́n � smáx ��� �
 )�
�� ����

��

����� � �
 ����� �� A� (� - �� ��:	����� �� ������ �����	�� �
�?� si = 0 � ��!���� �

	���� � ��� ����� cond(A) = ∞�

F��
������ �
 �?���� �� 	����	�!�� �� �
��� 	
����:	�� 
� ����������	�� �� 
��

	�

���� �� 
�� ������ A� (� cond(A) ���� ��!���� � 1� �����	�� 
�� 	�

���� �� A

��� �
� ��������������� #
���� �
 �?���� �� 	����	�!� �� �
� �
��� 
�� 	�

���� ��

A ��������� ��������	�� �
� �
�)���� ;�� ������ �
 �?���� �� )�
���� ����

���� �
� ��

�������� �� 	���� ��������� �
 ����� �� 
� ������ A�

F�� 0���� �� ���������� 
� ���������� � 	��� �� 
�� )�
���� ����

����� 	������� ��
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� ������ A� � 	��������� �
� 
� )�
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�� �� 	���� �� ��

����� �
� 10−t ‖A‖∞ 	�� t �
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�� )�
���� ��������� �� 
�� ��
������� �� 5��������) ��
 �
������� �

��
 ����������� � ������ �� �
 ����� 	��	� ) ���	�� �� 
� 0������� ��
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�� )�
����� ���
���� �� 
� ����� 	
�������� F�� )�� ��������� 
�� ��
�������

���������� �� ���������� 
�� )�
���� ���
�� �� 
�� ��
������� �� 5��������)

{Kn1(jω), Kn2(jω), Kn3(jω), Kn4(jω)} � {Kd1(jω), Kd2(jω), Kd3(jω), Kd4(jω)}� ;��
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�
)� �
 ������� �� �	
�	����� .�+3�

#��� �� �
����� �� ��� ����� 	����

�� 
�� ) ���	�� �� 
� 0������� ��
 	��&
��� ��

)�
���� �� 
� �����)�
� �� �
������ �
���� ��������� �������� 
�� �	
�	����� vi =
nj

dk
�

����� nj (j = 1, 2, 3, 4) � dk (k = 1, 2, 3, 4) ���� �����	��)������� 
�� ��
������� ���������

��
 �
������� � ��
 ������������ #
���� 
�� ) ���	�� ����� �� �
 ����� 	
��������
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���� ������������

����� 
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� 0�������� �� � �!
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 �����


� ��	� � 
� �������� 	���
��� �� 
� 0������� �� 
� 	
�������� �� ��	��� �� �������

��� ) ���	�� �� 
� 	
�������� ���� 	����	�!� �� �� ������	��)� � ���	��	������ ����� 
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���� �� )�
���� 
� �����0�	���

2� ��		�!� 7�* ����� �
 	��� ��
 �������� 	���
��� � 
� ��		�!� 7�+ �
 	��� ��


��	� 	���
���� 9���
����� �� 
� ��		�!� 7�. �� 	�����
�� �
 �
������� ��	������ ����
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�����
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��� �� ��� ���������� ���(����� � ������

�� 	� ��(����� 
������� �� 	� 
	��������

(�� S1 
� �������� 	���
��� �� 
� 0������� ��
 	��&
��� �� )�
����� 	�� ) ���	�� v1 =
n1

d1
� v2 =

n2

d1
� 2� 	�����
���� ��������C��	� �� 
� 	
������� @������� .�7A ����
�� �
�

�������� 
� ��	� @� ����� �� 
� ��	�A �
	���� � ��� �������� �� 
� 0�������� �� ) ���	��

v2 =
n2

d1
� v2suc =

n2

d2λ
� � �������� 
� ��	� �����	���� @� ����� �� 
� ��	�A � ��� ��������

�� 
� 0�������� �� ) ���	�� v1pred =
n1

d4λ
� v1 =

n1

d1
� 	�� ����� 
�� ) ���	�� �
������ �� �������

������������ 2�� :�
��� 7�* � 7�+ �
������ ���� ���
�	�!��

9��
�� 7�*� (������� � ��	�� �����	���� � �
	���� 	���
�����

(� 
�� ��	�� �����	���� � �
	���� 0
���� 	���
����� 
�� ������������� �� 
�� ) ���	��

v1pred � v2suc ������ ) ���	�� ��������� ��
 ��	����

� �� 5��������)� 6 ������ ��
 ��������
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��� � ���?� �
 ������� .�-� ��������� �� 
�� �� 
�� �����
�� �����
���	������ �
����

������������ 
�� ��	����

�� ��������� n1� n2 � d1� 2� �����
���	�!� 
��
����� �� ��	���

�� �
 ���
����� 
����
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9��
�� 7�+� (������� � ��	�� �����	���� � �
	���� �� 	���
�����

 ��� ���

�*����	�����'� 
� 
�$������ ��� S1 �� 
�$����� ����	��� 
� 	� �������� 
�	 ���#���� 
�

��	���
� 
� �>�����
 v1 =
n1

d1
� v2 =

n2

d1
� 	� �����	�����'� d1 = cos (ϕ (d1)) + j sin (ϕ (d1))�


��
� ϕ (d1) = 360◦ − arg (v2 − v1)� 5������
�

n1 = v1d1, n2 = v2d1, d2λ =
n2

v2suc
, d4λ =

n1

v1pred


���
� v2suc -v1pred. ���	����� ����� 
�	 ���� 
���
�� -���
���
��. 
�	 
�$����� S1�

������
�����9

2� �����
���	�!� �� 
�� �� 
�� �����
�� ��

	����� @) ��� .�-A ���� 
� 	��&
��� ��

)�
����� ���� �����
���	�!� ���
�	� �
���� 
� )�
�� ���� �
 ��
������ �������� d1 	��

�!�

� |d1| = 1 � ���
����� ϕ (d1) �� 0���� �
� �
 �������� 0������ ��� 
�� ��
�������

��������� n1 � n2 ��� ����
�
� �
 �&� ���
� �
������ ��	��� ��
������� �� ������� ������������

6�� �
��� � ������ �� 
� ��0����	�!� �������� �� 
� �������� 	���
��� �� 
� 	
��������

�
���� 	�
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�� )�
���� �� 
�� ��
������� ��������� d1� n1 � n2� ������ �� 
�� )�
����

�� d2λ � d4λ�

�

;��� ���������� 
�� ��
������� �� 5��������) � ������ �� 
�� ��
������� ����������

����� ������������ �
 ����� 
�� )�
���� �� 
�� ��
������� ��������� n1� n3� d1� d3 @� ����

n2� n4� d2� d4A� ;��� �

�� �� ���
������ 
�� ��
�	����� �
� 
�� ����� ) ���	�� ��
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���
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�� )�
���� @�� 	
�
�
��� 	
�������A ��������� 	�� 
�� ) ���	�� ��
 �������� 	���
���

���	��
� ���� ���
��� �� ���
��� ���� �
 	��� ������
 �� �
 �
� n2R �= 0� n2I �= 0� n1R �= 0 �

n1I �= 0� �� ��	�� 	
���� ����
�� �� 
�� ��
������� ��������� ������������ � ������ ��


�������� 	���
��� ���	��
� ���� ����� 
�� �&��� ����� 	���� �����	

���� �� �������� ���

���
�����

���� 
� ) ���	� �� 
� 0������� ��
 	��&
��� �� )�
���� vx =
nx

dx
�� 
� 	
�������� �


��&���)� �� ���������� 
�� )�
���� �� 
�� ��
������� nx � dx� ������:	���� �
 )�
��� � ��

�
 ��
������� ��������� �� ������ �
 ) ���	� vx �������	� � 
� �������� @� ����� �� 
�

��������A � � 
� ��	� @� � ����� �� 
� ��	�A �� 
� 0�������� ���	��� � 
� 	�����
����

��������C��	� ��������� �� 
� 	
�������� 2
��� vx ���� �
 ) ���	� �� ��� �
�������� ��	�

� ��������� @:�
�� 7�.A � �������� � ��	� @:�
�� 7�7A�

9��
�� 7�.� vx ) ���	� �� 
�� �
������� ��	�C���������

�
 ��
������ dx �
��� ��� 
�� �� 
�� 	
���� ��
������� ��������� ��
 ������������ �



��� ���
����� �
����� 
� 	����	�!� ��	������ �
� ���� )���:	�� �
 )�
�� �� dx ���� �
�

��� 
�� ��

	�!� �� vx =
nx

dx
�

 ��� ���

�&��
���'� 
�	 
�������
�� ��� S1 �� 
�$����� ����	��� �� �� ���
������ � 
�� dx �	


�������
�� 
� �� �>����� vx =
nx

dx

� 	� ��������� 5������
� �
 ���
���'� ����
���� ��� dx
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��$� ��� 
� 	�
 
�$������
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9��
�� 7�7� vx ) ���	� �� 
�� �
������� ��������C��	��

�� (d1R < d2λR y d1I < d4λI) �

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

dxR = d1R y dxI = d1iI

�

dxR = d1R y dxI ≥ d1I

�

dxI = d1I y dxR ≥ d1R

�

dxR > d1R y dxI > d1I

(dx = d1)

(dx = d4)

(dx = d2)

(dx = d3)

�� (d1R > d4λR y d1I < d2λI) �

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

dxR = d1R y dxI = d1I

�

dxR = d1R y dxI ≥ d1I

�

dxI = d1I y dxR ≤ d1R

�

dxR < d1R y dxI > d1I

(dx = d1)

(dx = d2)

(dx = d4)

(dx = d3)
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?� (d1R > d2λR y d1I > d4λI) �

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

dxR = d1R y dxI = d1I

�

dxR = d1R y dxI ≤ d1I

�

dxI = d1I y dxR ≤ d1R

�

dxR < d1R y dxI < d1I

(dx = d1)

(dx = d4)

(dx = d2)

(dx = d3)

B� (d1R < d4λR y d1I > d2λI) �

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

dxR = d1R y dxI = d1I

�

dxR = d1R y dxI ≤ d1I

�

dxI = d1I y dxR ≥ d1R

�

dxR > d1R y dxI < d1I

(dx = d1)

(dx = d2)

(dx = d4)

(dx = d3)


��
� diR 
����� 	� ����� ���	 
� di � diI 	� ����� ���$������ 
� di� 5���� ���>���
�
 
� ��
����

���� ��
� ��
�� �	 ��	������ �
�$��
� ��� 
�"� 
�� dx�
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	���
��� � �� 
� �����
���	�!� @
��� 7�*A �� 	���	�� 
�� )�
���� �� d1� d2λ � d4λ� ;��

������ �
 )�
�� �� d1 �
��� �����
�	���� 	��� �
 ��
������ �� 5��������) ���	���� Kd1�

Kd2� Kd3 � Kd4�

*� (� (d1R < d2λR y d1I < d4λI) �����	�� d1 �� Kd1� ���� dx� ���� ���� 
� ) ���	� ��


��	����

� �� 5��������) ��
 ������������ ��
������ �� dxR = d1R y dxI = d1I

@�����	�� dx �� d1 = Kd1A� � �� dxR = d1R y dxI > d1I @dx �� d4 = Kd4A� � ��

dxI = d1I y dxR > d1R @dx �� d2 = Kd2A� � �� dxR > d1R y dxI > d1I @dx �� d3 = Kd3A�

@9��
�� 7�,A�
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9��
�� 7�,� #���� ����� dx �� 
� ) ���	� �� 5��������) ��
 ������������

>!���� �
� �� 	
�
�
���� �� ����� 	����	����� �� �� �����0�	�� dx �� �
��� ��� 
��

��

	�!�� ;�� �&���
�� �� dxR = d1R y dxI < d1I � dx �� �������	� �
 ��	����

� ��

) ���	�� d1� d2λ � d4λ� 2� :�
�� 7�- �
����� ���� 	����

9��
�� 7�-� #���� ����� dx �� �� 
� ) ���	� �� 5��������) ��
 ������������

+� (� (d1R > d4λR y d1I < d2λI) �����	�� d1 �� Kd2� ���� dx� ���� ���� 
� ) ���	� ��


��	����

� �� 5��������) ��
 ������������ ��
������ �� dxR = d1R y dxI = d1I

@�����	�� dx �� d1 = Kd2A� � �� dxR = d1R y dxI > d1I @dx �� d2 = Kd3A� � ��

dxI = d1I y dxR < d1R @dx �� d4 = Kd1A� � �� dxR < d1R y dxI > d1I @dx �� d3 = Kd4A�
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.� (� (d1R > d2λR y d1I > d4λI) �����	�� d1 �� Kd3� ���� dx� ���� ���� 
� ) ���	� ��


��	����

� �� 5��������) ��
 ������������ ��
������ �� dxR = d1R y dxI = d1I

@�����	�� dx �� d1 = Kd3A� � �� dxR = d1R y dxI < d1I @dx �� d4 = Kd2A � dxI =

d1I y dxR < d1R @dx �� d2 = Kd4A � dxR < d1R y dxI < d1I @dx �� d3 = Kd1A�

7� (� d1R < d4λR y d1I > d2λI �����	�� d1 �� Kd4� ���� dx� ���� ���� 
� ) ���	� ��


��	����

� �� 5��������) ��
 ������������ ��
������ �� dxR = d1R y dxI = d1I

@�����	�� dx �� d1 = Kd4A � dxR = d1R y dxI < d1I @dx �� d2 = Kd1A � dxI =

d1I y dxR > d1R @dx �� d4 = Kd3A � dxR > d1R y dxI < d1I @dx �� d3 = Kd2A�

�

�� ���� 	���	��� �
 	������������� �� 
� �������� �� �
 �
���� 	
���� �� ��)��� ���


� �?���� 	���
�&�� 2� ���
����� ��������� �
����� ���� 	��������������

3
�#������� ���

��� Sx =
S

dx
�� 
�$����� �� �	 �	��� ����	�#�� 
� �>�����
 vx1 � vx2 -�	�$�
�
 �� 
����
�

����1������.� 
��
� S �
 �� 
�$����� 
� �>�����
 na � nb -�� 
����
� ����1������.� ��� dx

�� �+���� ����	�#�� ��� ��$������ arg (dx)� �� ϕ (Sx) = arg (vx2 − vx1)� 
� ����(��� 	�



�$������
 ��	������
�

�� arg (dx) = −ϕ (Sx) 
� � 
'	� 
� arg (nb − na) = 0◦�

�� arg (dx) = 90◦ − ϕ (Sx) 
� � 
'	� 
� arg (nb − na) = 90◦�

?� arg (dx) = 180◦ − ϕ (Sx) 
� � 
'	� 
� arg (nb − na) = 180◦�

B� arg (dx) = 270◦ − ϕ (Sx) 
� � 
'	� 
� arg (nb − na) = 270◦�

�
 ���
����� ������� �
����� 	!�� 	���	������� � 	�
	

�� 
�� ��
������� nx � dx

���	����� �
 ) ���	� vx =
nx

dx
� � ������ �� 
� ��0����	�!� �������� �� 
� �������� ��


� 0������� Sx �� 
� 	
�������� vx =
nx

dx
�� 
� ) ���	� �������	����� � 
� �������		�!� ��


� �������� � 
� ��	� �� 
� 0�������� �
������ �� ������� ������������

2��
��� ���

�,��
���
�� ���� S1 �� 
�$����� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
 ��� �>�����


v1 =
n1

d1
� v2 =

n2

d1
� �	 ���� 
� 	� �������� 
���
�� � S1� 
� �>�����
 v2 =

n2

d1
� v2suc =

n2

d2λ
� �

�	 ���� 
� 	� �������� ���
���
�� � S1� ��� �>�����
 v1pred =
n1

d4λ
� v1 =

n1

d1
� ��
�
 �� 
����
�



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ��(�����
���"!��� �� �� ���������� �	�

9��
�� 7�<� = ���	�� ���� 
�� 	����	����� ��
 ������� 7�*�

����1������� ��� Sx �� 
�$����� 
� 	� �������� 
� �>�����
 vxpred =
nxpred

dx
� vx =

nx

dx
��


����
� ����1������� 
��
� vx �
 �� �>����� ������������� � 	� �����
����'� 
�	 
�$����� Sx

��� �� ���� 
� 	� �������� -($��� B�H.� 5������
�

�� arg

(
vx
v2

)
= arg (d1)+ϕ (Sx) -���
���'� &���. � �	 
�������
�� dx 
� vx 
��������
�

����
n2

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	� 
� nx = n2 � ��

���
� 
�� ���� ��	������ �
�$��
��

�� &���
� nx �= n2� arg

(
vx
v1

)
= arg (d1)+ϕ (Sx)+90◦ -���
���'� &���. � �	 
�������
��

dx 
� vx 
��������
� ����
n1

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� �


'	� 
� nx = n1 � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� nx �= n1 � nx �= n2� tan (arg (vx)− ϕ (Sx) + 90◦)n2R > n2I -���
���'� &��?.

� �	 
�������
�� dx 
� vx 
��������
� ����
n2R [1 + j tan (arg (vx)− ϕ (Sx) + 90◦)]

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	� 
� nx = n3 =

n2R [1 + j tan (arg (vx)− ϕ (Sx) + 90◦)] � �� ���
� 
�� ���� ��	������ �
�$��
��

B� &���
� nx �= n1� nx �= n2� � nx �= n3� tan (arg (vx)− ϕ (Sx) + 180◦)n1R >

n1I -���
���'� &��B.� � �	 
�������
�� dx 
� vx 
��������
� ����
n1R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]

vx

���
���� 	� ���
���'� 
�	 
�������
��

-	��� B��.� 
� � 
'	� 
� nx = n4 = n1R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]�

������
�����9
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6 ������ ��
 �������� 	���
��� S1� ��
�	���� 
� �����
���	�!� @
��� 7�*A �� ��������


�� )�
���� �� d1� n1 = v1d1� n2 = v2d1� d2λ =
n2

v2suc
� d4λ =

n1

v1pred
� �
 )�
�� �� vx ��

	���	����

*� ⇐| (� nx = n2 �
 )�
�� �� dx =
n2

vx
�� �
��� 	�
	

��� � ��� ����� �� �����0�	� 
�

	����	�!� ��
 ����������� @
��� 7�+A� �� �
� �
 ��� vx 
� ) ���	� �� 
� 0�������� dx

���� 
�� �� 
�� ��
������� ��������� ��
 ������������ � ��� ����� ���� )���:	��


�� �� 
�� 	
���� 	����	����� ��
 
����

��)������� �
 )�
�� �� vx =
n2

dx
��� �
 )�
�� �� v2 =

n2

d1
�� �������

vx
v2

=
d1
dx

� �

arg

(
vx
v2

)
= arg (d1)− arg (dx)�

6����� Sx =
S2

dx
� ����� S2 �� ����� ��
 �������� �� ) ���	�� n1 � n2� )���:	������

�
� arg (n2 − n1) = 0 @��� 
� �����
���	�!�� �
�� ������ 
� ����� ����� �����������

� �
 ��0����	�� �� 
� �?���� ���
A� ;�� 
� �������	�!� 7�*� arg (dx) = −ϕ (Sx) �

�����	�� arg

(
vx
v2

)
= arg (d1) + ϕ (Sx)� )���:	������ 
� 	����	�!� #*�*�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #*�* � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n2

vx
, nx = n2, ��

?��	�� >!���� �
� 
� 	����	�!� #*�* �� �
��� 	
��
�� ����� � 	
���� �A nx = n3� �A

nx = n4 � 	A nx = n1� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n2

vx
� )���:	���� 
� 	����	�!� #*�* �


� 	����	�!� ��
 ������������ 6����� Sx =
S2

dx
� ����� S2 �� ����� ��
 �������� ��

) ���	�� n1 � n2� � arg (n2 − n1) = 0◦�


A (�� d∗x �
 ����������� �� vx ����������� 	���
n3

vx
� �����	�� Sx =

S3

d∗x
�����

S3 �� ����� ��
 �������� �� ) ���	�� n2 � n3� arg (n3 − n2) = 90◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 90◦ − ϕ (Sx)� #��� vx ��

�
 ����� ) ���	�� �����	�� arg

(
n3

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�

arg (n3) = arg (n2) + 90◦� nx = n3 )���:	� 
� 	����	�!� #*�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 90◦ − arg (n2) + arg (d1)− 90◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ��(�����
���"!��� �� �� ���������� �		

(�� α = arg (n2)� 	�� tan (α) =
n2I

n2R
� �����	�� arg (n3) = α + 90◦ �

tan (α+ 90◦) =
n3I

n3R
=

n3I

n2R
@��� 
� �����
���	�!� n3R = n2RA� ;�� 
� �����

n3 = n2R + jn3I = n2R + j tan (α + 90◦)n2R = n2R − j
n2
2R

n2I
� 6����� arg (d∗x) =

90◦+arg (dx)� 

��� �� dx = dxR+ jdxI �����	�� d∗x = ρej
π
2 dx = −ρdxI + jρdxR�

#��� vx =
n2

dx
� vx =

n3

d∗x
� �����	�� n2d

∗
x = n3dx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (n2d
∗
x) = Re (n3dx)� 

���

−ρdxIn2R − ρdxRn2I = n2RdxR +
n2
2R

n2I
dxI

−ρdxIn2Rn2I − ρdxRn
2
2I = n2Rn2IdxR + n2

2RdxI

− (ρn2I + n2R) dxRn2I = (n2R + ρn2I) dxIn2R.

6�� �
��
dxI
dxR

= − n2I

n2R

�

Im (n2d
∗
x) = Im (n3dx)� 

���

ρdxRn2R − ρdxIn2I = dxIn2R − dxR
n2
2R

n2I

ρdxRn2Rn2I − ρdxIn
2
2I = dxIn2Rn2I − dxRn

2
2R

(n2Iρ+ n2R)n2RdxR = dxIn2I (n2R + ρn2I) .

;�� �����
dxI
dxR

=
n2R

n2I

�

$�
�
���� ����� ���

������
n2R

n2I
= − n2I

n2R
⇔ n2

2R < 0� 
� 	
�
 �� �� �����
��

;�� ������ dx �� 
�� ��

	�!�� d∗x �� 
� �� � nx = n3 �� �� 
�� ��

	�!��

	A (�� d∗x �
 ����������� �� vx ����������� 	���
n4

vx
� �����	�� Sx =

S4

d∗x
� �����

S4 �� ����� ��
 �������� �� ) ���	�� n3 � n4� arg (n4 − n3) = 180◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 180◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n4

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�

arg (n4) = arg (n2) + 180◦� nx = n4 )���:	� 
� 	����	�!� #*�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 180◦ − arg (n2) + arg (d1)− 180◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .

�� ���� 	��� 
� ��������	�!� �� ���)��
� �� �
� arg (d∗x) = 180◦ + arg (dx)� ����
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��
�	�!� �� �� �����
�� �� �
� �
 ��
������ �� 5��������) ��
 ����������� ��

	������� �
 	����

�A (�� d∗x �
 ����������� �� vx ����������� 	���
n1

vx
� �����	�� Sx =

S1

d∗x
� �����

S1 �� ����� ��
 �������� �� ) ���	�� n4 � n1� arg (n1 − n4) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 270◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n1

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�

arg (n1) = arg (n2) + 270◦� nx = n1 )���:	� 
� 	����	�!� #*�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 270◦ − arg (n2) + arg (d1)− 270◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .

(�� α = arg (n2)� 	�� tan (α) =
n2I

n2R
� �����	�� arg (n1) = α + 270◦ �

tan (α + 270◦) =
n1I

n1R
=

n2I

n1R
@��� 
� �����
���	�!� n1I = n2IA� ;�� 
� �����

n1 = n1R + jn2I =
n2I

tan (α + 270◦)
+ jn2I = − n2

2I

n2R
+ jn2I � 6������ arg (d∗x) =

270◦+arg (dx)� 

��� �� dx = dxR+ jdxI �����	�� d∗x = ρej3
π
2 dx = ρdxI − jρdxR�

#��� vx =
n2

dx
� vx =

n1

d∗x
� �����	�� n2d

∗
x = n1dx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (n2d
∗
x) = Re (n1dx)� 

���

+ρdxIn2R + ρdxRn2I = − n2
2I

n2R
dxR − n2IdxI

(n2I + n2Rρ) dxIn2R = − (n2Rρ+ n2I) dxRn2I .

6�� �
��
dxI
dxR

= − n2I

n2R
�

Im (n2d
∗
x) = Im (n1dx)� 

���

−ρdxRn2R + ρdxIn2I = −dxI
n2
2I

n2R
+ dxRn2I

−ρdxRn2Rn2R + ρdxIn2In2R = −dxIn
2
2I + dxRn2In2R

(n2I + ρn2R) dxIn2I = dxRn2R (ρn2R + n2I) .

;�� �����
dxI
dxR

=
n2R

n2I
�

$�
�
���� ����� ���

������
n2R

n2I
= − n2I

n2R
⇔ n2

2R < 0� 
� 	
�
 �� �� �����
��

;�� ������ dx �� 
�� ��

	�!�� d∗x �� 
� �� � nx = n1 �� �� 
�� ��

	�!��
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���"!��� �� �� ���������� �	�

+� ⇐| (� nx = n1 �
 )�
�� �� dx =
n1

vx
�� �
��� 	�
	

��� � ��� ����� �� �����0�	� 
�

	����	�!� ��
 ����������� @
��� 7�+A� �� �
� �
 ��� vx 
� ) ���	� �� 
� 0�������� dx

���� 
�� �� 
�� ��
������� ��������� ��
 ������������ � ��� ����� ���� )���:	��


�� �� 
�� 	
���� 	����	����� ��
 
����

��)������� �
 )�
�� �� vx =
n1

dx
��� �
 )�
�� �� v1 =

n1

d1
�� �������

vx
v1

=
d1
dx

�

arg

(
vx
v1

)
= arg (d1)− arg (dx)�

6����� Sx =
S1

dx
� ����� S1 �� ����� ��
 �������� �� ) ���	�� n4 � n1� )���:	������

�
� arg (n1 − n4) = 270◦ @��� 
� �����
���	�!�A� ;�� 
� �������	�!� 7�* arg (dx) =

270◦−ϕ (Sx) � �����	�� arg

(
vx
v1

)
= arg (d1)+ϕ (Sx)+90◦� )���:	������ 
� 	����	�!�

#*�+�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #*�+ � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n1

vx
� nx = n1� ��

?��	�� >!���� �
� �� nx �= n2� 
� 	����	�!� #*�+ �� �
��� 	
��
�� ����� � 	
���� �A

nx = n3 � �A nx = n4� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n1

vx
� )���:	���� 
� 	����	�!� #*�+ �


� 	����	�!� ��
 ������������ 6����� Sx =
S1

dx
� ����� S1 �� ����� ��
 �������� ��

) ���	�� n4 � n1� � arg (n1 − n4) = 270◦.


A (�� d∗x �
 ����������� �� vx ����������� 	���
n3

vx
� �����	�� Sx =

S3

d∗x
� �����

S3 �� ����� ��
 �������� �� ) ���	�� n2 � n3� arg (n3 − n2) = 90◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 90◦ − ϕ (Sx)� #��� vx ��

�
 ����� ) ���	�� �����	�� arg

(
n1

dx

)
= arg

(
n3

d∗x

)
� �� ����� �� ���
	� �
�

arg (n3) = arg (n1) + 180◦� nx = n3 )���:	� 
� 	����	�!� #*�+� �
���� �
�

arg

(
vx
v1

)
= arg (n1) + 180◦ − arg (n1) + arg (d1)− 90◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) + 90◦.

�� ���� 	���� 
� ��������	�!� �� ���)��
� �� �
� arg (d∗x) = −180◦ + arg (dx)

@arg (dx) = 270◦−ϕ (Sx) � arg (d∗x) = 90◦−ϕ (Sx)A� ���� �� �� �����
�� ����
�

�
 ��
������ �� 5��������) ��
 ����������� �� �
��� 	������� �
 	����

	A (�� d∗x �
 ����������� �� vx ����������� 	���
n4

vx
� �����	�� Sx =

S4

d∗x
� �����
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S4 �� ����� ��
 �������� �� ) ���	�� n3 � n4� arg (n4 − n3) = 180◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 180◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	� �����	�� arg

(
n4

d∗x

)
= arg

(
n1

dx

)
� �� ����� �� ���
	� �
�

arg (n4) = arg (n1) + 270◦� nx = n4 )���:	� 
� 	����	�!� #*�+� �
���� �
�

arg

(
vx
v1

)
= arg (n1) + 270◦ − arg (n1) + arg (d1)− 180◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) + 90◦.

(�� α = arg(n1)� 	�� tan (α) =
n1I

n1R
� �����	�� arg (n4) = α + 270◦ �

tan (α + 270◦) =
n4I

n4R
= −n1R

n1I
@��� 
� �����
���	�!� n1R = n4RA � ;�� 
�

����� n4 = n4R + jn4I = n1R + jn1R tan (α+ 270◦) = n1R − j
n2
1R

n1I
� 6�����

arg (d∗x) = −90◦ + arg (dx)� 

��� �� dx = dxR + jdxI �����	�� d∗x = ρej3
π
2 dx =

ρdxI − jρdxR�

#��� vx =
n1

dx
� vx =

n4

d∗x
� �����	�� n1d

∗
x = n4dx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (n1d
∗
x) = Re (n4dx)� 

���

ρdxIn1R + ρdxRn1I = +
n2
1R

n1I
dxI + n1RdxR

ρdxIn1Rn1I + ρdxRn1In1I = +n2
1RdxI + n1RdxRn1I

(ρn1I − n1R) dxIn1R = (n1R − ρn1I) dxRn1I .

6�� �
��
dxI
dxR

= − n1I

n1R
�

Im (n1d
∗
x) = Im (n4dx)� 

���

−ρdxRn1R + ρdxIn1I = −dxR
n2
1R

n1I
+ dxIn1R

−ρdxRn1Rn1I + ρdxIn1In1I = −dxRn
2
1R + dxIn1Rn1I

(−ρn1I + n1R) dxRn1R = (n1R − ρn1I) dxIn1I .

;�� �����
dxI
dxR

=
n1R

n1I
�

$�
�
���� ����� ���

������ − n1I

n1R

=
n1R

n1I

⇔ n2
1R < 0� 
� 	
�
 �� �� �����
��

;�� ������ dx �� 
�� ��

	�!�� d∗x �� 
� ��� � nx = n4 �� �� 
�� ��

	�!��

.� ⇐| (� nx = n3 �����	�� dx =
n3

vx
�� �� �
��� 	�
	

�� ����	�������� ����
� �� ��



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ��(�����
���"!��� �� �� ���������� �	�

	���	� �
 )�
�� �� n3� =������ �� ������ 

��� �
� 
� 	����	�!� #*�. �� )���:	��

(� nx = n3 �����	�� Sx =
S3

dx
� ����� S3 �� ����� ��
 �������� �� ) ���	��

n2 � n3� )���:	������ �
� arg (n3 − n2) = 90◦ @��� 
� �����
���	�!�A� ;�� 
�

�������	�!� 7�* arg (dx) = 90◦ − ϕ (Sx) � �����	�� arg (n3) = arg (vx) + arg (dx) =

arg (vx) + 90◦ − ϕ (Sx)� #��� n2R = n3R �����	�� n3 = n3R + jn3I = n2R +

jn2R tan (arg (vx) + 90◦ − ϕ (Sx))�

;�� ���� 
���� n3I > n2I ����
� 
�� ) ���	�� ��������� ��� �
������ �� �������

������������ ;�� ����� �� )���:	� �
� tan (arg (vx)− ϕ (Sx) + 90◦)n2R > n2I � �
�

�� 
� 	����	�!� #*�.�

6����� �
��� 	�
	

���� dx �������� 
� �������!�

dx =
n3

vx
=

n2R [1 + j tan (arg (vx)− ϕ (Sx) + 90◦)]
vx

.

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #*�. � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n3

vx
� nx = n3� ��

?��	�� >!���� �
� �� nx �= n2 � nx �= n1� 
� 	����	�!� #*�. �� �
��� 	
��
�� 	
����

nx = n4�

(�� dx �
 ����������� �� vx ����������� 	���
n3

vx
� )���:	���� 
� 	����	�!� #*�. �


� 	����	�!� ��
 ������������ 6����� Sx =
S3

dx
� ����� S3 �� ����� ��
 �������� ��

) ���	�� n2 � n3� � arg (n3 − n2) = 90◦�

(�� d∗x �
 ����������� �� vx ����������� 	���
n4

vx
� �����	�� Sx =

S4

d∗x
� ����� S4 ��

����� ��
 �������� �� ) ���	�� n3 � n4� arg (n4 − n3) = 180◦ @��� 
� �����
���	�!�A�

� ��� 
� �������	�!� 7�* arg (d∗x) = 180◦ − ϕ (Sx) = arg (dx) + 90◦� ;�� ����� d∗x =

ρj (dxR + jdxI) = −ρdxI + jρdxR�

#��� vx �� �
 ����� ) ���	�� arg

(
n4

d∗x

)
= arg

(
n3

dx

)
� �� ����� �� ���
	� �
�

arg (n4) = arg (n3) + 90◦� (�� α = arg(n3), �����	�� α+90◦ = arg (n4) = arg (vx) +

arg (d∗x) = arg (vx) + 180◦−ϕ (Sx)� ;�� ����� α = arg (vx)+ 90◦−ϕ (Sx)� � 	��� ��

�
 ���
����� �� n3 )���:	� n3 = n2R tan (α) > n2I @��� 
� �����
���	�!�A� �� ��	���


� 	����	�!� #*�. �� �����0�	��

(� nx = n4 �����	�� n4 = n4R + jn4I = n1R + jn2R tan (arg (vx) + 90◦ − ϕ (Sx))� �
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������

�
 ����������� d∗x �
��� 	�
	

���� �������� 
� �������!�

d∗x =
n4

vx
=

n1R + j tan (arg (vx)− ϕ (Sx) + 90◦)n2R

vx
.

#��� tan (α) =
n3I

n3R
� �����	�� n3 = n3R + jn3I = n2R + jn2R tan (α) = n2R +

jn2R
n3I

n3R
� � n4 = n4R + jn4I = n1R + jn1R tan (α + 90) = n1R − jn1R

n3R

n3I
�

#��� vx =
n3

dx
� vx =

n4

d∗x
� �����	�� n3d

∗
x = n4dx � 	���	���� �
� ������ ���
�� � �
�

������ ������������

Re (n3d
∗
x) = Re (n4dx)� 

���

−n2RρdxI − n3IρdxR = n1RdxR + dxIn1R
n3R

n3I

n2Rn3IρdxI − n3In3IρdxR = n1Rn3IdxR + dxIn1Rn3R

− (n3Iρ+ n1R)n2RdxI = (n1R + n3Iρ)n3IdxR.

6�� �
��
dxI
dxR

= − n3I

n3R
�

Im (n3d
∗
x) = Im (n4dx)� 

���

−n3IρdxI + n2RρdxR = dxIn1R − dxRn1R
n3R

n3I

−n3In3IρdxI + n3In2RρdxR = dxIn1Rn3I − dxRn1Rn3R

− (n3Iρ+ n1R) dxIn3I = − (n3Iρ+ n1R) dxRn3R.

;�� �����
dxI
dxR

=
n3R

n3I
�

$�
�
���� ����� ���

������ − n3I

n3R
=

n3R

n3I
⇔ n2

3R < 0� 
� 	
�
 �� �� �����
�� ;��

����� dx �� 
�� ��

	�!�� d∗x �� 
� �� � nx = n3 �� �� 
�� ��

	�!��

7� ⇐| (� nx = n4 �����	�� dx =
n4

vx
�� �� �
��� 	�
	

�� ����	�������� �
���� �
� ��

�� 	���	� �
 )�
�� �� n4� =������ �� ������ 

��� �
� 
� 	����	�!� #*�7 �� )���:	��

(� nx = n4 �����	�� Sx =
S4

dx
� ����� S4 �� ����� ��
 �������� �� ) ���	��

n3 � n4� )���:	������ �
� arg (n4 − n3) = 180◦ @��� 
� �����
���	�!�A� ;�� 
�

�������	�!� 7�* arg (dx) = 180◦ − ϕ (Sx) � �����	�� arg (n4) = arg (vx) + arg (dx) =

arg (vx) + 180◦ − ϕ (Sx)� #��� n1R = n4R� �����	�� n4 = n4R + jn4I = n1R +

jn1R tan (arg (vx) + 180◦ − ϕ (Sx))�



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ��(�����
���"!��� �� �� ���������� �	'

;�� ���� 
���� n4I > n1I ����
� 
�� ) ���	�� ��������� ��� �
������ �� �������

������������ ;�� ����� �� )���:	� �
� tan (arg (vx)− ϕ (Sx) + 180◦)n1R > n1I � �
�

�� 
� 	����	�!� #*�7�

6����� �
��� 	�
	

���� dx �������� 
� �������!�

dx =
n4

vx
=

n1R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]
vx

.

⇒| (� nx �= n2� nx �= n1 � nx �= n3 �����	�� nx = n4�

�

�
 ���
����� ������� �� ���
��� �
 ������� 7�* ���� �� ���� 	��� Sx �� 
� ��������

�� ) ���	�� vx =
nx

dx
� vxsuc =

nxsuc

dx
� �� ������� ������������ vx =

nx

dx
�� 
� ) ���	�

�������	����� � 
� �������		�!� �� 
� ��	� � 
� �������� �� 
� 0��������

2��
��� ���

�����
�� ���� S1 �� 
�$����� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
� ��� �>�����


v1 =
n1

d1
� v2 =

n2

d1
� �	 ���� 
� 	� �������� 
���
�� � S1� 
� �>�����
 v2 =

n2

d1
� v2suc =

n2

d2λ
� �

�	 ���� 
� 	� �������� ���
���
�� � S1 ��� �>�����
 v1pred =
n1

d4λ
� v1 =

n1

d1
� ��
�
 �� 
����
�

����1������� ��� Sx �� 
�$����� 
� 	� �������� 
� �>�����
 vx =
nx

dx
� vxsuc =

nxsuc

dx
�� 
����
�

����1������� 
��
� vx �
 �� �>����� ������������� � 	� �����
����'� 
� �� ���� 
� 	� ��������

��� �	 
�$����� Sx� 5������
�

�� arg

(
vx
v2

)
= arg (d1) + ϕ (Sx) − 90◦ -���
���'� &���. � �	 
�������
�� dx 
� vx


��������
� ����
n2

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	� 
�

nx = n2 � �� ���
� 
�� ���� ��	������ �
�$��
��

�� &���
� nx �= n2� arg

(
vx
v1

)
= arg (d1) + ϕ (Sx) -���
���'� &���. � �	 
�������
�� dx


� vx 
��������
� ����
n1

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	�


� nx = n1 � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� nx �= n1 � nx �= n2� tan (arg (vx)− ϕ (Sx) + 180◦)n2R > n2I -���
���'� &��?.

� �	 
�������
�� dx 
� vx 
��������
� ����
n2R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	� 
� nx = n3 =

n2R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]� � �� ���
� 
�� ���� ��	������ �
�$��
��
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B� &���
� nx �= n1� nx �= n2� � nx �= n3� tan (arg (vx)− ϕ (Sx) + 270◦)n1R >

n1I -���
���'� &��B. � �	 
�������
�� dx 
� vx 
��������
� ����
n1R [1 + j tan (arg (vx)− ϕ (Sx) + 270◦)]

vx

���
���� 	� ���
���'� 
�	 
�������
��

-	��� B��.� 
� � 
'	� 
� nx = n4 = n1R [1 + j tan (arg (vx)− ϕ (Sx) + 270◦)]�

������
�����9

6 ������ ��
 �������� 	���
��� S1� ��
�	���� 
� �����
���	�!� @
��� 7�*A �� ��������


�� )�
���� �� d1� n1 = v1d1� n2 = v2d1� d2λ =
n2

v2suc
� d4λ =

n1

v1pred
� �
 )�
�� �� vx ��

	���	����

*� ⇐| (� nx = n2 �
 )�
�� �� dx =
n2

vx
�� �
��� 	�
	

��� � ��� ����� �� �����0�	� 
�

	����	�!� ��
 ����������� @
��� 7�+A� �� �
� �
 ��� vx 
� ) ���	� �� 
� 0�������� dx

���� 
�� �� 
�� ��
������� ��������� ��
 ������������ � ��� ����� ���� )���:	��


�� �� 
�� 	
���� 	����	����� ��
 
����

��)������� �
 )�
�� �� vx =
n2

dx
��� �
 )�
�� �� v2 =

n2

d1
�� �������

vx
v2

=
d1
dx

� �

arg

(
vx
v2

)
= arg (d1)− arg (dx)�

6����� Sx =
S2

dx
� ����� S2 �� ����� ��
 �������� �� ) ���	�� n2 � n3� )���:	������

�
� arg (n3 − n2) = 90◦ @��� 
� �����
���	�!�A� ;�� 
� �������	�!� 7�*� arg (dx) =

90◦−ϕ (Sx) � �����	�� arg

(
vx
v2

)
= arg (d1)+ϕ (Sx)−90◦� )���:	������ 
� 	����	�!�

#+�*�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #+�* � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n2

vx
� nx = n2� ��

?��	�� >!���� �
� 
� 	����	�!� #+�* �� �
��� 	
��
�� ����� � 	
���� �A nx = n3� �A

nx = n4 � 	A nx = n1� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n2

vx
� )���:	���� 
� 	����	�!� #+�* �


� 	����	�!� ��
 ������������ 6����� Sx =
S2

dx
� ����� S2 �� ����� ��
 �������� ��

) ���	�� n2 � n3� � arg (n3 − n2) = 90◦.


A (�� d∗x �
 ����������� �� vx ����������� 	���
n3

vx
� �����	�� Sx =

S3

d∗x
� �����

S3 �� ����� ��
 �������� �� ) ���	�� n3 � n4� arg (n4 − n3) = 180◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 180◦ − ϕ (Sx)� #��� vx



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ��(�����
���"!��� �� �� ���������� ���

�� �
 ����� ) ���	�� �����	�� arg

(
n3

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�

arg (n3) = arg (n2) + 90◦� nx = n3 )���:	� 
� 	����	�!� #+�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 90◦ − arg (n2) + arg (d1)− 180◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx)− 90◦.

(�� α = arg(n2)� 	�� tan (α) =
n2I

n2R
� �����	�� arg (n3) = α + 90◦ �

tan (α+ 90◦) =
n3I

n3R
=

n3I

n2R
@��� 
� �����
���	�!� n3R = n2RA� ;�� 
� �����

n3 = n2R + jn3I = n2R + j tan (α + 90◦)n2R = n2R − j
n2
2R

n2I
� 6����� arg (d∗x) =

90◦+arg (dx)� 

��� �� dx = dxR+ jdxI �����	�� d∗x = ρej
π
2 dx = −ρdxI + jρdxR�

#��� vx =
n2

dx
� vx =

n3

d∗x
� �����	�� n2d

∗
x = n3dx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (n2d
∗
x) = Re (n3dx) � 

���

−ρdxIn2R − ρdxRn2I = n2RdxR +
n2
2R

n2I
dxI

−ρdxIn2Rn2I − ρdxRn
2
2I = n2Rn2IdxR + n2

2RdxI

− (ρn2I + n2R) dxRn2I = (n2R + ρn2I) dxIn2R.

6�� �
��
dxI
dxR

= − n2I

n2R

�

Im (n2d
∗
x) = Im (n3dx)� 

���

ρdxRn2R − ρdxIn2I = dxIn2R − dxR
n2
2R

n2I

ρdxRn2Rn2I − ρdxIn
2
2I = dxIn2Rn2I − dxRn

2
2R

(n2Iρ+ n2R)n2RdxR = dxIn2I (n2R + ρn2I) .

;�� �����
dxI
dxR

=
n2R

n2I

�

$�
�
���� ����� ���

������
n2R

n2I
= − n2I

n2R
⇔ n2

2R < 0� 
� 	
�
 �� �� �����
��

;�� ����� dx �� 
�� ��

	�!�� d∗x �� 
� �� � nx = n3 �� �� 
�� ��

	�!��

	A (�� d∗x �
 ����������� �� vx ����������� 	���
n4

vx
. �����	�� Sx =

S4

d∗x
� �����

S4 �� ����� ��
 �������� �� ) ���	�� n1 � n4� arg (n1 − n4) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 270◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n4

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�
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arg (n4) = arg (n2) + 180◦. nx = n4 )���:	� 
� 	����	�!� #+�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 180◦ − arg (n2) + arg (d1)− 270◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx)− 90◦.

�� ���� 	��� 
� ��������	�!� �� ���)��
� �� �
� arg (d∗x) = 180◦ + arg (dx)� ����

��
�	�!� �� �� �����
�� �� �
� �
 ��
������ �� 5��������) ��
 ����������� ��

	������� �
 	����

�A (�� d∗x �
 ����������� �� vx ����������� 	���
n1

vx
� �����	�� Sx =

S1

d∗x
�

����� S1 �� ����� ��
 �������� �� ) ���	�� n2 � n1� arg (n2 − n1) = 0◦ @���


� �����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = −ϕ (Sx)� #��� vx ��

�
 ����� ) ���	�� �����	�� arg

(
n1

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�

arg (n1) = arg (n2) + 270◦� nx = n1 )���:	� 
� 	����	�!� #+�*� �
���� �
�

arg

(
vx
v2

)
= arg (n1)− arg (n2) + arg (d1)− arg(d∗x)

= 270◦ + arg (d1) + ϕ (Sx) = arg (d1) + ϕ (Sx)− 90◦.

(�� α = arg (n2)� 	�� tan (α) =
n2I

n2R

� �����	�� arg (n1) = α + 270◦ �

tan (α + 270◦) =
n1I

n1R
=

n2I

n1R
@��� 
� �����
���	�!� n2I = n1IA� ;�� 
� �����

n1 = n1R + jn1I =
n2I

tan (α + 270◦)
+ jn2I = − n2

2I

n2R
+ jn2I � 6������ arg (d∗x) =

270◦+arg (dx)� 

��� �� dx = dxR+ jdxI �����	�� d∗x = ρej3
π
2 dx = ρdxI − jρdxR�

#��� vx =
n2

dx
� vx =

n1

d∗x
� �����	�� n2d

∗
x = n1dx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (n2d
∗
x) = Re (n1dx)� 

���

+ρdxIn2R + ρdxRn2I = − n2
2I

n2R
dxR − n2IdxI

(n2I + n2Rρ) dxIn2R = − (n2Rρ+ n2I) dxRn2I .

6�� �
��
dxI
dxR

= − n2I

n2R
�
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���"!��� �� �� ���������� ��	

Im (n2d
∗
x) = Im (n1dx)� 

���

−ρdxRn2R + ρdxIn2I = −dxI
n2
2I

n2R

+ dxRn2I

−ρdxRn2Rn2R + ρdxIn2In2R = −dxIn
2
2I + dxRn2In2R

(n2I + ρn2R) dxIn2I = dxRn2R (ρn2R + n2I) .

;�� �����
dxI
dxR

=
n2R

n2I
�

$�
�
���� ����� ���

������
n2R

n2I
= − n2I

n2R
⇔ n2

2R < 0� 
� 	
�
 �� �� �����
��

;�� ����� dx �� 
�� ��

	�!�� d∗x �� 
� �� � nx = n1 �� �� 
�� ��

	�!��

+� ⇐| (� nx = n1 �
 )�
�� �� dx =
n1

vx
�� �
��� 	�
	

��� � ��� ����� �� �����0�	� 
�

	����	�!� ��
 ����������� @
��� 7�+A� �� �
� �
 ��� vx 
� ) ���	� �� 
� 0�������� dx

���� 
�� �� 
�� ��
������� ��������� ��
 ������������ � ��� ����� ���� )���:	��


�� �� 
�� 	
���� 	����	����� ��
 
����

��)������� �
 )�
�� �� vx =
nx

dx
��� �
 )�
�� �� v1 =

n1

d1
�� �������

vx
v1

=
d1
dx

�

arg

(
vx
v1

)
= arg (d1)− arg (dx)�

6����� Sx =
S1

dx
� ����� S1 �� ����� ��
 �������� �� ) ���	�� n2 � n1� )���:	������

�
� arg (n2 − n1) = 0◦ @��� 
� �����
���	�!�A� ;�� 
� �������	�!� 7�* arg (dx) =

−ϕ (Sx) � �����	�� arg

(
vx
v1

)
= arg (d1) + ϕ (Sx)� )���:	������ 
� 	����	�!� #+�+�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #+�+ � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n1

vx
� nx = n1� ��

?��	�� >!���� �
� �� nx �= n2� 
� 	����	�!� #+�+ �� �
��� 	
��
�� ����� � 	
���� �A

nx = n3 � �A nx = n4� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n1

vx
� )���:	���� 
� 	����	�!� #+�+ �


� 	����	�!� ��
 ������������ 6����� Sx =
S1

dx
, ����� S1 �� ����� ��
 �������� ��

) ���	�� n1 � n2� � arg (n2 − n1) = 0◦.


A (�� d∗x �
 ����������� �� vx ����������� 	���
n3

vx
. �����	�� Sx =

S3

d∗x
� �����

S3 �� ����� ��
 �������� �� ) ���	�� n3 � n4� arg (n4 − n3) = 180◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 180◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n1

dx

)
= arg

(
n3

d∗x

)
� �� ����� �� ���
	� �
�
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arg (n3) = arg (n1) + 180◦� nx = n3 )���:	� 
� 	����	�!� #+�+� �
���� �
�

arg

(
vx
v1

)
= arg (n3) + 180◦ − arg (n1) + arg (d1)− 180◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .

�� ���� 	��� 
� ��������	�!� �� ���)��
� �� �
� arg (d∗x) = 180◦ − arg (dx)

@arg (dx) = −ϕ (Sx) � arg (d∗x) = 180◦ − ϕ (Sx)A� ���� �� �� �����
�� ����
�

�
 ��
������ �� 5��������) ��
 ����������� �� �
��� 	������� �
 	����

	A (�� d∗x �
 ����������� �� vx ����������� 	���
n4

vx
� �����	�� Sx =

S4

d∗x
� �����

S4 �� ����� ��
 �������� �� ) ���	�� n4 � n1� arg (n1 − n4) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 270◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n4

d∗x

)
= arg

(
n1

dx

)
� �� ����� �� ���
	� �
�

arg (n4) = arg (n1) + 270◦� nx = n4 )���:	� 
� 	����	�!� #+�+� �
���� �
�

arg

(
vx
v1

)
= arg (n1) + 270◦ − arg (n1) + arg (d1)− 270◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .

(�� α = arg (n1)� 	�� tan (α) =
n1I

n1R

� �����	�� arg (n4) = α + 270◦ �

tan (α + 270◦) =
n4I

n4R
= −n1R

n1I
@��� 
� �����
���	�!�A� ;�� 
� ����� n4 =

n4R + jn4I = n1R + jn1R tan (α + 270◦) = n1R − j
n2
1R

n1I
� 6����� arg (d∗x) =

270◦ + arg (dx) @arg (dx) = −ϕ (Sx)� arg (d∗x) = 270◦ − ϕ (Sx)A� 

��� ��

dx = dxR + jdxI �����	�� d∗x = ρej3
π
2 dx = ρdxI − jρdxR�

#��� vx =
n1

dx
� vx =

n4

d∗x
� �����	�� n1d

∗
x = n4dx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (n1d
∗
x) = Re (n4dx)� 

���

ρdxIn1R + ρdxRn1I = +
n2
1R

n1I
dxI + n1RdxR

ρdxIn1Rn1I + ρdxRn1In1I = +n2
1RdxI + n1RdxRn1I

(ρn1I − n1R) dxIn1R = (n1R − ρn1I) dxRn1I .

6�� �
��
dxI
dxR

= − n1I

n1R
�
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���"!��� �� �� ���������� ���

Im (n1d
∗
x) = Im (n4dx)� 

���

−ρdxRn1R + ρdxIn1I = −dxR
n2
1R

n1I

+ dxIn1R

−ρdxRn1Rn1I + ρdxIn1In1I = −dxRn
2
1R + dxIn1Rn1I

(−ρn1I + n1R) dxRn1R = (n1R − ρn1I) dxIn1I .

;�� �����
dxI
dxR

=
n1R

n1I
�

$�
�
���� ����� ���

����� − n1I

n1R
=

n1R

n1I
⇔ n2

1R < 0� 
� 	
�
 �� �� �����
��

;�� ������ dx �� 
�� ��

	�!�� d∗x �� 
� �� � nx = n4 �� �� 
�� ��

	�!��

.� ⇐| (� nx = n3 �����	�� dx =
n3

vx
�� �� �
��� 	�
	

�� ����	�������� ����
� �� ��

	���	� �
 )�
�� �� n3� =������ �� ������ 

��� �
� 
� 	����	�!� #+�. �� )���:	��

(� nx = n3 �����	�� Sx =
S3

dx
� ����� S3 �� ����� ��
 �������� �� ) ���	��

n3 � n4� )���:	������ �
� arg (n4 − n3) = 180◦ @��� 
� �����
���	�!�A� ;�� 
�

�������	�!� 7�* arg (dx) = 180◦ − ϕ (Sx) � �����	�� arg (n3) = arg (vx) + arg (dx) =

arg (vx) + 180◦ − ϕ (Sx)� #��� n2R = n3R �����	�� n3 = n3R + jn3I = n2R +

jn2R tan (arg (vx) + 180◦ − ϕ (Sx))�

;�� ���� 
���� n3I > n2I ����
� 
�� ) ���	�� ��������� ��� �
������ �� �������

������������ ;�� ����� �� )���:	� �
� tan (arg (vx)− ϕ (Sx) + 180)n2R > n2I � �
�

�� 
� 	����	�!� #+�.�

6����� �
��� 	�
	

���� dx �������� 
� �������!�

dx =
n3

vx
=

n2R [1 + j tan (arg (vx)− ϕ (Sx) + 180)]

vx
.

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #+�. � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n3

vx
� nx = n3� ��

?��	�� >!���� �
� �� nx �= n2 � nx �= n1� 
� 	����	�!� #+�. �� �
��� )���:	�� 	
����

nx = n4�

(�� dx �
 ����������� �� vx ����������� 	���
n3

vx
, )���:	���� 
� 	����	�!� #+�. �


� 	����	�!� ��
 ������������ 6����� Sx =
S3

dx
� ����� S3 �� ����� ��
 �������� ��

) ���	�� n3 � n4� � arg (n4 − n3) = 180◦�

(�� d∗x �
 ����������� �� vx ����������� 	���
n4

vx
� �����	�� Sx =

S4

d∗x
� ����� S4 ��

����� ��
 �������� �� ) ���	�� n4 � n1� arg (n1 − n4) = 270◦ @��� 
� �����
���	�!�A�
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� ��� 
� �������	�!� 7�* arg (d∗x) = 270◦ − ϕ (Sx) = 90◦ + arg(dx)� ;�� ����� d∗x =

ρj (dxR + jdxI) = −ρdxI + jρdxR�

#��� vx �� �
 ����� ) ���	� arg

(
n4

d∗x

)
= arg

(
n3

dx

)
� �� ����� �� ���
	� �
�

arg(n4) = arg(n3) + 90◦. (�� α = arg(n3)� �����	�� α + 90◦ = arg (n4) =

arg (vx)+arg (d∗x) = arg (vx)+270◦−ϕ (Sx)� ;�� ����� α = arg (vx)−ϕ (Sx)+180◦� �

	��� �� �
 ���
����� �� n3 )���:	� n3I = n2R tan (α) > n2I @��� 
� �����
���	�!�A�

�� ��	��� 
� 	����	�!� #+�. �� �����0�	��

(� nx = n4 �����	�� n4 = n4R + jn4I = n1R + jn2R tan (arg (vx) + 180◦ − ϕ (Sx))� �

�
 ����������� d∗x�
��� 	�
	

���� �������� 
� �������!�

d∗x =
n4

vx
=

n1R + j tan (arg (vx)− ϕ (Sx) + 180◦)n2R

vx
.

#��� tan (α) =
n3I

n3R

� �����	�� n3 = n3R + jn3I = n2R + jn2R tan (α) = n2R +

jn2R
n3I

n3R
� � n4 = n4R + jn4I = n1R + jn1R tan (α + 90) = n1R − jn1R

n3R

n3I
�

#��� vx =
n3

dx
� vx =

n4

d∗x
�����	�� n3d

∗
x = n4dx� � 	���	���� �
� ������ ���
�� � �
�

������ ������������

Re (n3d
∗
x) = Re (n4dx)� 

���

−n2RρdxI − n3IρdxR = n1RdxR + dxIn1R
n2R

n3I

−n2Rn3IρdxI − n3In3IρdxR = n1Rn3IdxR + dxIn1Rn3R

− (n3Iρ+ n1R)n2RdxI = (n1R + n3Iρ)n3IdxR.

6�� �
��
dxI
dxR

= − n3I

n3R
�

Im (n3d
∗
x) = Im (n4dx)� 

���

−n3IρdxI + n2RρdxR = dxIn1R − dxRn1R
n2R

n3I

−n3In3IρdxI + n3In2RρdxR = dxIn1Rn3I − dxRn1Rn2R

− (n3Iρ+ n1R) dxIn3I = − (n3Iρ+ n1R) dxRn2R.

;�� �����
dxI
dxR

=
n3R

n3I
�

$�
�
���� ����� ���

������ − n3I

n3R

=
n3R

n3I

⇔ n2
3R < 0� 
� 	
�
 �� �� �����
�� ;��

������ dx �� 
�� ��

	�!�� d∗x �� 
� ��� � nx = n3 �� �� 
�� ��

	�!��
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�� �� ���������� ���

7� ⇐| (� nx = n4 �����	�� dx =
n4

vx
�� �� �
��� 	�
	

�� ����	�������� �
���� �
� ��

�� 	���	� �
 )�
�� �� n4� =������ �� ������ 

��� �
� 
� 	����	�!� #+�7 �� )���:	��

(� nx = n4 �����	�� Sx =
S4

dx
� ����� S4 �� ����� ��
 �������� �� ) ���	��

n4 � n1� )���:	������ �
� arg (n1 − n4) = 270◦ @��� 
� �����
���	�!�A� ;�� 
�

�������	�!� 7�* arg (dx) = 270◦ − ϕ (Sx) � �����	�� arg (n4) = arg (vx) + arg (dx) =

arg (vx) + 270◦ − ϕ (Sx)� #��� n1R = n4R� �����	�� n4 = n4R + jn4I = n1R +

jn1R tan (arg (vx) + 270− ϕ (Sx))�

;�� ���� 
���� n4I > n1I � ����
� 
�� ) ���	�� ��������� ��� �
������ �� �������

������������ ;�� ����� �� )���:	� �
� tan (arg (vx)− ϕ (Sx) + 270)n1R > n1I � �
� ��


� 	����	�!� #+�7�

6����� dx �
��� 	�
	

���� �������� 
� �������!�

dx =
n4

vx
=

n1R [1 + j tan (arg (vx)− ϕ (Sx) + 270)]

vx
.

⇒| (� nx �= n2� nx �= n1 � nx �= n3 �����	�� ���� ��� nx = n4�

�

!�
� '��������
��� �� ��� ���������� ���(����� � ������

�� 	� ��
� 
������� �� 	� 
	��������

#�����
���� 	�� �
 ��&���)� �� ���������� 
�� ��
������� �
������� � �����������

���	����� � 
� ) ���	� ��
 	��&
��� �� )�
����� 	�� �
 ����� �?���� �� �
�������� ��

���
����� �� ���� ��		�!� �
 	��� �� 
� ��	� 	���
��� �� 
� 	
��������

(�� A1 
� ��	� 	���
��� �� 
� 0������� ��
 	��&
��� �� )�
����� 	�� ) ���	�� v1 =
n1

d1
�

v2 =
n1

d2
� 2� 	�����
���� ��	�C�������� �� 
� 	
������� @������� .�7A ����
�� �
� ��������


� �������� @� ����� �� 
� ��������A �
	���� � ��� ��	� �� 
� 0�������� �� ) ���	�� v2 =
n1

d2
� v2suc =

n2λ

d2
� � �������� 
� �������� @� ����� �� 
� ��������A �����	���� � ��� ��	� ��


� 0�������� �� ) ���	�� v1pred =
n4λ

d1
� v1 =

n1

d1
� 	�� ����� 
�� ) ���	�� �
������ �� �������

������������

#
���� 
�� ��������� �����	���� � �
	���� ��� ��������� 	���
����� 
�� �
���������
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�� 
�� ) ���	�� v2suc � v1pred ��� ) ���	�� ��������� ��
 ��	����

� �� 5��������)� 2� :�
��

7�/ �
����� ���� ���
�	�!��

9��
�� 7�/� 6�	� � ��� ��������� 	���
�����

6 ������ ��
 ��	� 	���
���� � ���?� �
 ������� .�<� ��������� �� 
�� �� 
��

�����
�� �����
���	������ �
���� ������������ 
�� ��	����

�� ��������� d1� d2 � n1� 2�

�����
���	�!� 
��
����� �� 
� ���
������

 ��� ��	

�*����	�����'� 
� ����� ��� A1 �� ���� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
� 
�

�>�����
 v1 =
n1

d1
� v2 =

n1

d2
� 	� �����	�����'� n1 = cos (φ (n1)) + j sin (φ (n1))� 
��
�

φ (n1) = 360◦ − arg

(
1

v2
− 1

v1

)
� 5������


d1 =
n1

v1
, d2 =

n1

v2
, n4λ = d1v1pred y n2λ = d2v2suc


���
� v2suc -v1pred. ���	����� ����� 
�	 
�$����� 
���
�� -���
���
��. 
�	 ���� A1�

������
�����9

2� �����
���	�!� �� 
�� �� 
�� �����
�� ��

	����� @) ��� .�<A ���� 
� 	��&
��� ��

)�
����� ���� �����
���	�!� ���
�	� �
���� 
� )�
�� ���� �
 ��
������ �������� n1 	��

�!�

� |n1| = 1 � ���
����� φ (n1) �� ���� �
� �
 �������� 0������ ��� 
�� ��
�������

��������� d1 � d2 ��� ����
�
� �
 �&� ���
� �
������ ��	��� ��
������� �� ������� ������������

;�� ������ � ������ �� 
� ��0����	�!� �������� �� 
� ��	� 	���
��� �� 
� 	
��������

�
���� 	�
	

���� 
�� )�
���� �� 
�� ��
������� ��������� d1� d2� n1� ������ �� 
�� )�
����



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ���� ���"!���
�� �� ���������� ��'

n2λ � n4λ�

�

$�
�
 �
� �� �
 	��� �� 
� �����
���	�!� �� �������� @7�*A� ���� ���
��� �� ���
��� ����

�
 	��� ������
 �� �
 �
� d2R �= 0� d2I �= 0� d1R �= 0 � d1I �= 0�

���� 
� ) ���	� �� 
� 0������� ��
 	��&
��� �� )�
����� vx =
nx

dx
� �� 
� 	
�������� �


��&���)� �� ���������� 
�� )�
���� �� 
�� ��
������� nx � dx� ������:	���� �
 )�
�� � �� �
 

��
������� ��������� �� ������ �
 ) ���	� vx �������	� � 
� ��	� @� ����� �� 
� ��	�A � 
�

�������� @� ����� �� 
� ��������A �� 
� 0�������� ���	��� � 
� 	�����
���� ��	�C��������

��������� �� 
� 	
�������� 2
��� vx ���� �
 ) ���	� �� ��� �
�������� �������� � ��	��

@:�
�� 7�1A� � ��	� � ��������� @:�
�� 7�*3A�

9��
�� 7�1� vx ) ���	� �� ��� �
�������� ��������C��	��

9��
�� 7�*3� vx ) ���	� �� ��� �
�������� ��	�C���������



��0 ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

�
 ��
������ nx �
��� ��� 
�� �� 
�� 	
���� ��
������� ��������� ��
 �
�������� �


���
����� 
��� �
����� 
� 	����	�!� ��	������ �
� ���� )���:	�� �
 )�
�� ��
 �
�������

nx ���� �
� ��� 
�� ��

	�!� �� vx =
nx

dx
�

 ��� ���

�&��
���'� 
�	 ������
��� ��� A1 �� ���� ����	��� �� �� ���
������ � 
�� nx �	 ������
��


� �� �>����� vx =
nx

dx

� 	� ��������� 5������
� �
 ���
���'� ����
���� ��� nx 
���
��$� ���


� 	�
 
�$������
 ���
������


�� (n1R < n2λR y n1I < n4λI) �

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

nxR = n1R y nxI = n1iI

�

nxR = n1R y nxI ≥ n1I

�

nxI = n1I y nxR ≥ n1R

�

nxR > n1R y nxI > n1I

(nx = n1)

(nx = n4)

(nx = n2)

(nx = n3)

�� (n1R > n4λR y n1I < n2λI) �

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

nxR = n1R y nxI = n1I

�

nxR = n1R y nxI ≥ n1I

�

nxI = n1I y nxR ≤ n1R

�

nxR < n1R y nxI > n1I

(nx = n1)

(nx = n2)

(nx = n4)

(nx = n3)

?� (n1R > n2λR y n1I > n4λI) �

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

nxR = n1R y nxI = n1I

�

nxR = n1R y nxI ≤ n1I

�

nxI = n1I y nxR ≤ n1R

�

nxR < n1R y nxI < n1I

(nx = n1)

(nx = n4)

(nx = n2)

(nx = n3)



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ���� ���"!���
�� �� ���������� ���

B� (n1R < n4λR y n1I > n2λI) �

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

nxR = n1R y nxI = n1I

�

nxR = n1R y nxI ≤ n1I

�

nxI = n1I y nxR ≥ n1R

�

nxR > n1R y nxI < n1I

(nx = n1)

(nx = n2)

(nx = n4)

(nx = n3)


��
� niR 
����� 	� ����� ���	 
� ni � niI 	� ����� ���$������ 
� ni� 5���� ���>���
�
 
� ��
����

���� ��
� ��
�� �	 ��	������ �
�$��
� ��� 
�"� 
�� nx�

������
�����9

(� ������� ����	������� �� 
�� ����� ��������� � ������ ��
 ��	� 	���
��� �� 
�

	
������� � �� 
�� ����������� �� 
�� ��	����

�� �� 5��������)� 6 ������ ��
 ��	�

	���
��� � �� 
� �����
���	�!� @
��� 7�.A� �� 	���	�� 
�� )�
���� �� n1� n2λ � n4λ� ;��

������ �
 )�
�� �� n1 �
��� �����
�	���� 	��� �
 ��
������ �� 5��������) ���	���� Kn1�

Kn2� Kn3 � Kn4�

*� (n1R < n2λR y n1I < n4λI) �����	�� n1 �� Kn1� ���� nx� ���� 
� ) ���	� ��


��	����

� �� 5��������) ��
 �
�������� ��
������ �� nxR = n1R y nxI = n1I

@�����	�� nx �� n1 = Kn1A� � �� nxR = n1R y nxI > n1I @nx �� n4 = Kn4A� � ��

nxI = n1I y nxR > n1R @nx �� n2 = Kn2A� � �� nxR > n1R y nxI > n1I @nx ��

n3 = Kn3A�

>!���� �
� �� 	
�
�
���� �� ����� 	����	����� �� �� �����0�	�� nx �� �
��� ��� 
��

��

	�!�� ;�� �&���
� �� nxR = n1R y nxI < n1I � nx �� �������	� �
 ��	����

� ��

) ���	�� n1� n2λ � n4λ�

+� (� (n1R > n4λR y n1I < n2λI) �����	�� n1 �� Kn2� ���� nx� ���� 
� ) ���	� ��


��	����

� �� 5��������) ��
 �
�������� ��
������ �� nxR = n1R y nxI = n1I

@�����	�� nx �� n1 = Kn2A� � �� nxR = n1R y nxI > n1I @nx �� n2 = Kn3A� � ��

nxI = n1I y nxR < n1R @nx �� n4 = Kn1A� � �� nxR < n1R y nxI > n1I @nx ��

n3 = Kn4A�

.� (� n1R > n2λR y n1I > n4λI �����	�� n1 �� Kn3� ���� nx� ���� 
� ) ���	� ��




��� ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

��	����

� �� 5��������) ��
 �
�������� ��
������ �� nxR = n1R y nxI = n1I

@�����	�� nx �� n1 = Kn3A� � �� nxR = n1R y nxI < n1I @nx �� n4 = Kn2A� � ��

nxI = n1I y nxR < n1R @nx �� n2 = Kn4A� � �� nxR < n1R y nxI < n1I @nx ��

n3 = Kn1A�

7� (� n1R < n4λR y n1I > n2λI �����	�� n1 �� Kn4� ���� nx� ���� 
� ) ���	� ��


��	����

� �� 5��������) ��
 �
�������� ��
������ �� nxR = n1R y nxI = n1I

@�����	�� nx �� n1 = Kn4A� � �� nxR = n1R y nxI < n1I @nx �� n2 = Kn1A� � ��

nxI = n1I y nxR > n1R @nx �� n4 = Kn3A� � �� nxR > n1R y nxI < n1I @nx ��

n3 = Kn2A�

�

�� ���� 	���	��� �
 	������������� �� 
� ��	� �� �
 �
���� 	
���� �� �

���
�	� ���


� �?���� 	���
�&�� 2� ���
����� ��������� �
����� ���� 	��������������

3
�#������� ���

��� Ax =
nx

S
�� ���� �� �	 �	��� ����	�#�� 
� �>�����
 vx1 � vx2 -�	�$�
�
 �� 
����
�

����1������.� 
��
� S �
 �� 
�$����� 
� �>�����
 da � db -�� 
����
� ����1������.� ��� nx

�� �+���� ����	�#�� ��� ��$������ arg (nx)� �� φ (Ax) = arg

(
1

vx2
− 1

vx1

)

� ����(��� 	�



�$������
 ��	������


�� arg (nx) = −φ (Ax) 
� � 
'	� 
� arg (db − da) = 0◦.

�� arg (nx) = 90◦ − φ (Ax) 
� � 
'	� 
� arg (db − da) = 90◦.

?� arg (nx) = 180◦ − φ (Ax) 
� � 
'	� 
� arg (db − da) = 180◦.

B� arg (nx) = 270◦ − φ (Ax) 
� � 
'	� 
� arg (db − da) = 270◦.

�
 ���
����� ������� �
����� 	��� 	���	������� � 	�
	

�� 
�� ��
������� nx � dx

���	����� �
 ) ���	� vx =
nx

dx
� � ������ �� 
� ��0����	�!� �������� �� 
� ��	� Ax �� 
�

0������� �� 
� 	
�������� vx =
nx

dx
�� 
� ) ���	� �������	����� � 
� �������		�!� �� 
� ��	�

� 
� �������� �� 
� 0�������� �
������ �� ������� ������������

2��
��� ��	

�,��
���
��� ���� A1 �� ���� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
 ��� �>�����


v1 =
n1

d1
� v2 =

n1

d2
� �	 
�$����� 
� 	� �������� 
���
�� � A1� 
� �>�����
 v2 =

n1

d2
� v2suc =

n2λ

d2
�



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ���� ���"!���
�� �� ���������� ��	

� �	 
�$����� 
� 	� �������� ���
���
�� � A1� ��� �>�����
 v1pred =
n4λ

d1
� v1 =

n1

d1
� ��
�
 ��


����
� ����1������� ��� Ax �� ���� 
� 	� �������� 
� �>�����
 vxpred =
nx

dxpred
� vx =

nx

dx
��


����
� ����1������� 
��
� vx =
nx

dx
�
 �� �>����� ������������� � 	� �����
����'� 
�	 ���� Ax

��� �� 
�$����� 
� 	� ��������� 5������
�

�� arg

(
v2
vx

)
= arg (n1) + φ (Ax) -���
���'� &?��. � �	 ������
�� nx 
� vx 
��������
�

���� d2vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
�	� 
� dx = d2 � ��

���
� 
�� ���� ��	������ �
�$��
��

�� &���
� dx �= d2� arg

(
v1
vx

)
= arg (n1) +φ (Ax)+ 90

◦
-���
���'� &?��. � �	 ������
��

nx 
� vx 
��������
� ���� d1vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� �


�	� 
� dx = d1 � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� dx �= d1 � dx �= d2� tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)
d2R >

d2I -���
���'� &?�?.� � �	 ������
�� nx 
� vx 
��������
� ����

d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d3 = d2R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

))
� ��

���
� 
�� ���� ��	������ �
�$��
��

B� &���
� dx �= d1� dx �= d2� � dx �= d3� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d1R >

d1I -���
���'� &?�B.� � �	 ������
�� nx 
� vx 
��������
� ����

d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d4 = d1R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

))
�

������
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6 ������ ��
 ��	� 	���
��� A1� ��
�	���� 
� �����
���	�!� @
��� 7�.A �� �������� 
��

)�
���� �� n1� d1 =
n1

v1
� d2 =

n1

v2
� n4λ = d1v1pred � n2λ = d2v2suc� �
 )�
�� �� vx �� 	���	����

*� ⇐| (� dx = d2 �
 )�
�� �� nx = d2vx �� �
��� 	�
	

��� � ��� ����� �� �����0�	� 
�

	����	�!� ��
 �
������� @
��� 7�7A� �� �
� �
 ��� vx 
� ) ���	� �� 
� 0�������� nx

���� 
�� �� 
�� ��
������� ��������� ��
 �
�������� � ��� ����� ���� )���:	�� 
��

�� 
�� 	
���� 	����	����� ��
 
����

��)������� �
 )�
�� �� v2 =
n1

d2
��� �
 )�
�� �� vx =

nx

dx
�� ������� �
�

v2
vx

=
n1

nx
� �

arg

(
v2
vx

)
= arg (n1)− arg (nx)�



��� ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

6������ Ax =
nx

S2
� ����� S2 �� ����� ��
 �������� �� ) ���	�� d1 � d2� )���:	������

�
� arg (d2 − d1) = 0◦ @��� 
� �����
���	�!�� �
�� ������ 
� ����� ����� ����������

� �
 ��0����	�� �� 
� �?���� ���
A� ;�� 
� �������	�!� 7�+ arg (nx) = −φ (Ax)� �

�����	�� arg

(
v2
vx

)
= arg(n1) + φ (Ax) , )���:	������ 
� 	����	�!� #.�*�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #.�* � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d2vx� dx = d2� ��

?��	�� >!���� �
� 
� 	����	�!� #.�* �� �
��� 	
��
�� ����� � 	
���� �A dx = d3�

�A dx = d4 � 	A dx = d1� � �
� �� 	��� 	���� �
 )�
�� ��
 �
������� nx �����������

)���:	� 
� 	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d2vx� )���:	���� 
� 	����	�!� #.�* �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S2
� ����� S2 �� ����� ��
 �������� ��

) ���	�� d1 � d2� � arg (d2 − d1) = 0◦�


A (�� n∗
x �
 �
������� �� vx ����������� 	��� d3vx� �����	�� Ax =

n∗
x

S3
� �����

S3 �� ����� ��
 �������� �� ) ���	�� d2 � d3� arg (d3 − d2) = 90◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 90◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d3

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�

arg (d3) = arg (d2) + 90◦. dx = d3 )���:	� 
� 	����	�!� #.�*� �
���� �
�

arg

(
v2
vx

)
= arg (n1) + φ (Ax)− 90◦ + arg (d2) + 90◦ − arg (d2)

= arg (n1) + φ (Ax) .

(�� α = arg (d2)� 	�� tan (α) =
d2I
d2R

� �����	�� arg (d3) = α + 90◦ �

tan (α + 90◦) =
d3I
d3R

=
d3I
d2R

@��� 
� �����
���	�!� d3R = d2RA� ;�� 
� �����

d3 = d2R + jd3I = d2R + j tan (α + 90◦) d2R = d2R − j
d22R
d2I

� 6����� arg (n∗
x) =

90◦+arg (nx)� 

��� �� nx = nxR+jnxI �����	�� n∗
x = ρej

π
2 nx = −ρnxI+jρnxR�

#��� vx =
nx

d2
� vx =

n∗
x

d3
� �����	�� d2n∗

x = d3nx � 	���	���� �
� ������ ���
��

� �
� ������ ������������



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ���� ���"!���
�� �� ���������� ���

Re (d2n
∗
x) = Re (d3nx)� 

���

−ρnxId2R − ρnxRd2I = d2RnxR +
d22R
d2I

nxI

−ρnxId2Rd2I − ρnxRd
2
2I = d2Rd2InxR + d22RnxI

− (ρd2I + d2R)nxRd2I = (d2R + ρd2I)nxId2R.

6�� �
��
nxI

nxR

= − d2I
d2R

�

Im (d2n
∗
x) = Im (d3nx)� 

���

ρnxRd2R − ρnxId2I = nxId2R − nxR
d22R
d2I

ρnxRd2Rd2I − ρnxId
2
2I = nxId2Rd2I − nxRd

2
2R

(d2Iρ+ d2R) d2RnxR = nxId2I (d2R + ρd2I) .

;�� �����
nxI

nxR
=

d2R
d2I

�

$�
�
���� ����� ���

������
d2R
d2I

= − d2I
d2R

⇔ d22R < 0� 
� 	
�
 �� �� �����
��

;�� ������ nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d3 �� �� 
�� ��

	�!��

	A (�� n∗
x �
 ����������� �� vx ����������� 	��� d4vx. �����	�� Ax =

n∗
x

S4
�

����� S4 �� ����� ��
 �������� �� ) ���	�� d3 � d4� arg (d4 − d3) = 180◦ @���


� �����
���	�!�A� � ��� 
� �������	�!� 7�* arg (n∗
x) = 180◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d4

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�

arg (d4) = arg (d2) + 180◦� dx = d4 )���:	� 
� 	����	�!� #.�*� �
���� �
�

arg

(
v2
vx

)
= arg (d2) + 180◦ − arg (d2) + arg (n1)− 180◦ + φ (Ax)

= arg (n1) + φ (Ax) .

�� ���� 	��� 
� ��������	�!� �� ���)��
� �� �
� arg (n∗
x) = 180◦+arg (nx)� ����

��
�	�!� �� �� �����
�� �� �
� �
 ��
������ �� 5��������) ��
 �
������� ��

	������� �
 	����

�A (�� n∗
x �
 �
������� �� vx ����������� 	��� d1vx� �����	�� Ax =

n∗
x

S1

� �����

S1 �� ����� ��
 �������� �� ) ���	�� d4 � d1� arg (d4 − d1) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 270◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d1

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�
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arg (d1) = arg (d2) + 270◦. dx = d1 )���:	� 
� 	����	�!� #.�*� �
���� �
�

arg

(
v2
vx

)
= arg(n1)− 270◦ + φ(Ax) + arg(d2) + 270◦ − arg(d2)

= arg(n1) + φ(Ax).

(�� α = arg (d2)� 	�� tan (α) =
d2I
d2R

� �����	�� arg (d1) = α + 270◦ �

tan (α + 270◦) =
d1I
d1R

=
d2I
d1R

@��� 
� �����
���	�!� d1I = d2IA� ;�� 
� �����

d1 = d1R + jd1I =
d2I

tan (α+ 270◦)
+ jd2I = − d22I

d2R
+ jd2I � 6������ arg (n∗

x) =

270◦+arg (nx)� 

��� �� nx = nxR+jnxI �����	�� n∗
x = ρej3

π
2 nx = ρnxI−jρnxR�

#��� vx =
nx

d2
� vx =

n∗
x

d1
� �����	�� d2n∗

x = d1nx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (d2n
∗
x) = Re (d1nx)� 

���

+ρnxId2R + ρnxRd2I = − d22I
d2R

nxR − d2InxI

(d2I + d2Rρ)nxId2R = − (d2Rρ+ d2I)nxRd2I .

6�� �
��
nxI

nxR

= − d2I
d2R

�

Im (d2n
∗
x) = Im (d1nx)� 

���

−ρnxRd2R + ρnxId2I = −nxI
d22I
d2R

+ nxRd2I

−ρnxRd2Rd2R + ρnxId2Id2R = −nxId
2
2I + nxRd2Id2R

(d2I + ρd2R)nxId2I = nxRd2R (ρd2R + d2I) .

;�� �����
nxI

nxR
=

d2R
d2I

�

$�
�
���� ����� ���

������
d2R
d2I

= − d2I
d2R

⇔ d22R < 0� 
� 	
�
 �� �� �����
��

;�� ������ nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d1 �� �� 
�� ��

	�!��

+� ⇐| (� dx = d1 �
 )�
�� �� nx = d1vx �� �
��� 	�
	

��� � ��� ����� �� �����0�	� 
�

	����	�!� ��
 �
������� @
���7�7A� �� �
� �
 ��� vx 
� ) ���	� �� 
� 0�������� nx

���� 
�� �� 
�� ��
������� ��������� ��
 �
�������� � ��� ����� ���� )���:	�� 
��

�� 
�� 	
���� 	����	����� ��
 
����

��)������� �
 )�
�� �� v1 =
n1

d1
��� �
 )�
�� �� vx =

nx

dx
�� �������

v1
vx

=
n1

nx
�
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�� �� ���������� ���

arg

(
v1
vx

)
= arg (n1)− arg (nx)�

6����� Ax =
nx

S1
� ����� S1 �� ����� ��
 �������� �� ) ���	�� d4 � d1� )���:	������

�
� arg (d1 − d4) = 270◦ @��� 
� �����
���	�!�A� ;�� 
� �������	�!� 7�+ arg (nx) =

270−φ (Ax)� � �����	�� arg

(
v1
vx

)
= φ (Ax)+90◦+arg(n1), )���:	������ 
� 	����	�!�

#.�+�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #.�+ � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d1vx� dx = d1� ��

?��	�� >!���� �
� �� dx �= d2� 
� 	����	�!� #.�+ �� �
��� 	
��
�� ����� � 	
����

�A dx = d3 � �A dx = d4� � �
� �� 	��� 	���� �
 )�
�� ��
 �
������� nx �����������

)���:	� 
� 	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d1vx� )���:	���� 
� 	����	�!� #.�+ �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S1
� ����� S1 �� ����� ��
 �������� ��

) ���	�� d1 � d4� � arg (d4) = arg (d1) + 270◦.


A (�� n∗
x �
 �
������� �� vx ����������� 	��� d3vx� �����	�� Ax =

n∗
x

S3
� �����

S3 �� ����� ��
 �������� �� ) ���	�� d2 � d3� arg (d3 − d2) = 90◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 90◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d3

)
= arg

(
nx

d1

)
� �� ����� �� ���
	� �
�

arg (d3) = arg (d1) + 180◦� dx = d3 )���:	� 
� 	����	�!� #.�+� �
���� �
�

arg

(
v1
vx

)
= arg (d1) + 180◦ − arg (d1) + arg (n1)− 90◦ + φ (Ax)

= arg (n1) + φ (Ax) + 90◦.

�� ���� 	���� 
� ��������	�!� �� ���)��
� �� �
� arg (n∗
x) = −180◦ + arg (nx)

@arg (nx) = 270◦−φ (Ax) � arg (n∗
x) = 90◦−φ (Ax)A� ���� �� �� �����
�� ����
�

�
 ��
������ �� 5��������) ��
 �
������� �� �
��� 	������� �
 	����

	A (�� n∗
x �
 ����������� �� vx ����������� 	��� d4vx� �����	�� Ax =

n∗
x

S4

�

����� S4 �� ����� ��
 �������� �� ) ���	�� d3 � d4� arg (d4 − d3) = 180◦ ���


� �����
���	�!�� � ��� 
� �������	�!� 7�+� arg (n∗
x) = 180◦ − ϕ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d4

)
= arg

(
nx

d1

)
� �� ����� �� ���
	� �
�



��- ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

arg (d4) = arg (d1) + 270◦� dx = d4 )���:	� 
� 	����	�!� #.�+� �
���� �
�

arg

(
v1
vx

)
= arg (n1)− 180◦ + φ (Ax) + arg (d1) + 270◦ − arg(d1)

= φ (Ax) + 90 + arg (n1) .

(�� α = arg(d1)� 	�� tan (α) =
d1I
d1R

� �����	�� arg (d4) = α + 270◦ �

tan (α + 270◦) =
d4I
d4R

=
d4I
d1R

@��� 
� �����
���	�!�A� ;�� 
� ����� d4 =

d4R + jd4I = d1R + jd1R tan (α + 270) = d1R − j
d21R
d1I

� 6����� arg (n∗
x) =

270◦+arg (nx)� 

��� �� nx = nxR+jnxI �����	�� n∗
x = ρej3

π
2 nx = ρnxI−jρnxR�

#��� vx =
nx

d1
� vx =

n∗
x

d4
� �����	�� d1n∗

x = d4nx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (d1n
∗
x) = Re (d4nx)� 

���

ρnxId1R + ρnxRd1I = +
d21R
d1I

nxI + d1RnxR

ρnxId1Rd1I + ρnxRd1Id1I = +d21RnxI + d1RnxRd1I

(ρd1I − d1R)nxId1R = (d1R − ρd1I)nxRd1I .

6�� �
��
nxI

nxR

= − d1I
d1R

�

Im (d1n
∗
x) = Im (d4nx)� 

���

−ρnxRd1R + ρnxId1I = −nxR
d21R
d1I

+ nxId1R

−ρnxRd1Rd1I + ρnxId1Id1I = −nxRd
2
1R + nxId1Rd1I

(−ρd1I + d1R)nxRd1R = (d1R − ρd1I)nxId1I .

;�� �����
nxI

nxR
=

d1R
d1I

�

$�
�
���� ����� ���

������ − d1I
d1R

=
d1R
d1I

⇔ d21R < 0, 
� 	
�
 �� �� �����
��

;�� ������ nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d4 �� �� 
�� ��

	�!��

.� ⇐| (� dx = d3 �����	�� nx = d3vx �� �� �
��� 	�
	

�� ����	�������� ����
�

�� �� 	���	� �
 )�
�� �� d3� =������ �� ������ 

��� �
� 
� 	����	�!� #.�. ��

)���:	�� (� dx = d3 �����	�� Ax =
nx

S3
� ����� S3 �� ����� ��
 �������� �� ) ���	��

d2 � d3� )���:	������ �
� arg (d3 − d2) = 90◦ @��� 
� �����
���	�!��A� ;�� 
�

�������	�!� 7�+ arg (nx) = 90◦ − φ (Ax) � �����	�� arg (d3) = arg (nx)− arg (vx) =



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ���� ���"!���
�� �� ���������� ��'

90◦ − φ (Ax) + arg

(
1

vx

)
� #��� d2R = d3R �����	�� d3 = d3R + jd3I = d2R +

jd2R tan

(
90◦ − φ (Ax) + arg

(
1

vx

))
�

;�� ���� 
��� d3I > d2I ����
� 
�� ) ���	�� ��������� ��� �
������ �� �������

������������ ;�� ����� �� )���:	� �
� tan

(
90◦ − φ (Ax) + arg

(
1

vx

))
n2R > n2I �

�
� �� 
� 	����	�!� #.�.�

6����� �
��� 	�
	

���� nx �������� 
� �������!�

nx = d3vx = d2R

[
1 + j tan

(
90◦ − φ (Ax) + arg

(
1

vx

))]
vx.

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #.�. � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d3vx� dx = d3� ��

?��	�� >!���� �
� �� dx �= d2 � dx �= d1� 
� 	����	�!� #.�. �� �
��� 	
��
�� 	
����

dx = d4�

(�� nx �
 �
������� �� vx ����������� 	��� d3vx� )���:	���� 
� 	����	�!� #.�. �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S3
� ����� S3 �� ����� ��
 �������� ��

) ���	�� d2 � d3 � arg (d3 − d2) = 90◦.

(�� n∗
x �
 �
������� �� vx ����������� 	��� d4vx� �����	�� Ax =

n∗
x

S4
� ����� S4 ��

����� ��
 �������� �� ) ���	�� d3 � d4� arg (d4 − d3) = 180◦ @��� 
� �����
���	�!�A�

� ��� 
� �������	�!� 7�+ arg (n∗
x) = 180◦ − φ (Ax) = arg (nx) + 90◦� ;�� �����

n∗
x = ρj (nxR + jnxI) = −ρnxI + jρnxR�

#��� vx �� �
 ����� ) ���	�� arg

(
nx

d3

)
= arg

(
n∗
x

d4

)
� �� ����� �� ���
	� �
�

arg (d4) = arg (d3) + 90◦� (�� α = arg (d3)� �����	�� α+90◦ = arg (d4) = arg (n∗
x) +

arg

(
1

vx

)
= 180◦ − φ (Ax) + arg

(
1

vx

)
� ;�� ����� α = 90◦ − φ (Ax) + arg

(
1

vx

)
�

	��� �� �
 ���
����� �� d3 )���:	� d3R = d2R tan (α) > d2I @��� 
� �����
���	�!�A�

�� ��	��� 
� 	����	�!� #.�. �� �����0�	��

(� dx = d4 �����	�� d4 = d4R + jd4I = d1R + jd2R tan

(
90◦ − φ (Ax) + arg

(
1

vx

))
�

�
 �
������� n∗
x �
��� 	�
	

���� �������� 
� �������!�

n∗
x = vxd4 = vx

(
d1R + jd2R tan

(
90◦ − φ (Ax) + arg

(
1

vx

)))
.

#��� tan (α) =
d3I
d3R

, �����	�� d3 = d3R+jd3I = d2R+jd2R tan (α) = d2R+jd2R
d3I
d3R

,
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� d4 = d4R + jd4I = d1R + jd1R tan (α + 90) = d1R − jd1R
d3R
d3I

�

#��� vx =
nx

d3
� vx =

n∗
x

d4
� �����	�� d3n∗

x = d4nx � 	���	���� �
� ������ ���
�� � �
�

������ ������������

Re (d3n
∗
x) = Re (d4nx)� 

���

−d2RρnxI − d3IρnxR = d1RnxR + nxId1R
d2R
d3I

−d2Rd3IρnxI − d3Id3IρnxR = d1Rd3InxR + nxId1Rd3R

− (d3Iρ+ d1R) d2RnxI = (d1R + d3Iρ) d3InxR.

6�� �
��
nxI

nxR
= − d3I

d3R
�

Im (d3n
∗
x) = Im (d4nx)� 

���

−d3IρnxI + d2RρnxR = nxId1R − nxRd1R
d2R
d3I

−d3Id3IρnxI + d3Id2RρnxR = nxId1Rd3I − nxRd1Rd2R

− (d3Iρ+ d1R)nxId3I = − (d3Iρ+ d1R)nxRd2R.

;�� �����
nxI

nxR

=
d3R
d3I

�

$�
�
���� ����� ���

������ − d3I
d3R

=
d3R
d3I

⇔ d23R < 0� 
� 	
�
 �� �� �����
�� ;��

����� nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d3 �� �� 
�� ��

	�!��

7� ⇐| (� dx = d4 �����	�� nx = d4vx �� �� �
��� 	�
	

�� ����	�������� �
���� �
� ��

�� 	���	� �
 )�
�� �� d4� =������ �� ������ 

��� �
� 
� 	����	�!� #.�7 �� )���:	��

(� dx = d4 �����	�� Ax =
nx

S4

� ����� S4 �� ����� ��
 �������� �� ) ���	��

d3 � d4� )���:	������ �
� arg (d4 − d3) = 180◦ @��� 
� �����
���	�!�A� ;�� 
�

�������	�!� 7�+ arg (nx) = 180◦−φ (Ax) � �����	�� arg (d4) = arg (nx)+arg

(
1

vx

)
=

180◦ − φ (Ax) + arg

(
1

vx

)
� #��� d1R = d4R� �����	�� d4 = d4R + jd4I = d1R +

jd1R tan

(
180◦ − φ (Ax) + arg

(
1

vx

))
�

;�� ���� 
��� d4I > d1I ����
� 
�� ) ���	�� ��������� ��� �
������ �� �������

������������ ;�� ����� �� )���:	� �
� tan

(
180◦ − φ (Ax) + arg

(
1

vx

))
d1R > d1I �

�
� �� 
� 	����	�!� #.�7�



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ���� ���"!���
�� �� ���������� �1�

6����� �
��� 	�
	

���� nx �������� 
� �������!�

nx = d4vx = d1R

[
1 + j tan

(
180◦ − φ (Ax) + arg

(
1

vx

))]
vx.

⇒| (� dx �= d2� dx �= d1 � dx �= d3 �����	�� dx = d4�

�

�
 ���
����� ������� �� ���
��� �
 ������� 7�.� ���� �� ���� 	��� Ax �� 
� ��	�

�� ) ���	�� vx =
nx

dx
� vxsuc =

nx

dxsuc
� �� ������� ������������ vx =

nx

dx
�� 
� ) ���	�

�������	����� � 
� �������		�!� �� 
� �������� � 
� ��	� �� 
� 0��������

2��
��� ���

�����
��� ���� A1 �� ���� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
� ��� �>�����


v1 =
n1

d1
� v2 =

n1

d2
� �	 
�$����� 
� 	� �������� 
���
�� � A1� 
� �>�����
 v2 =

n1

d2
�

v2suc =
n2λ

d2
� � �	 
�$����� 
� 	� �������� ���
���
�� � A1� ��� �>�����
 v1pred =

n4λ

d1
�

v1 =
n1

d1
� ��
�
 �� 
����
� ����1������� ��� Ax �� ���� 
� 	� �������� 
� �>�����
 vxsuc =

nx

dxsuc
� vx =

nx

dx
� �� 
����
� ����1������� 
��
� vx �
 �� �>����� ������������� � 	� �����
����'� 
�

�� 
�$����� 
� 	� �������� � �	 ���� Ax� 5������
�

�� arg

(
v2
vx

)
= φ (Ax) + arg(n1) − 90◦ -���
���'� &B��. � �	 ������
�� nx 
� vx


��������
� ���� d2vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
�	� 
�

dx = d2� � �� ���
� 
�� ���� ��	������ �
�$��
��

�� &���
� dx �= d2� arg

(
v1
vx

)
= φ (Ax) + arg(n1) -���
���'� &B��. � �	 ������
�� nx 
�

vx 
��������
� ���� d1vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
�	� 
�

dx = d1� � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� dx �= d1 � dx �= d2� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d2R >

d2I -���
���'� &B�?.� � �	 ������
�� nx 
� vx 
��������
� ���� nx =

d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d3 = d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
� � ��

���
� 
�� ���� ��	������ �
�$��
��

B� &���
� dx �= d1� dx �= d2 � dx �= d3� tan

(
arg

(
1

vx

)
− φ (Ax) + 270◦

)
d1R >

d1I -���
���'� &B�B.� � �	 ������
�� nx 
� vx 
��������
� ���� nx =



�1� ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 270◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d4 = d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 270◦

)]
�

������
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6 ������ ��
 ��	� 	���
��� A1� ��
�	���� 
� �����
���	�!� @
��� 7�.A �� �������� 
��

)�
���� �� n1� d1 =
n1

v1
� d2 =

n1

v2
� n4λ = d1v1pred � n2λ = d2v2suc� �
 )�
�� �� vx �� 	���	����

*� ⇐| (� dx = d2 �
 )�
�� �� nx = d2vx �� �
��� 	�
	

��� � ��� ����� �� �����0�	� 
�

	����	�!� ��
 �
������� @
��� 7�7A� �� �
� �
 ��� vx 
� ) ���	� �� 
� 0�������� nx

���� 
�� �� 
�� ��
������� ��������� ��
 �
������� � ��� ����� ���� )���:	�� 
��

�� 
�� 	
���� 	����	����� ��
 
����

��)������� �
 )�
�� �� v2 =
n1

d2
� vx =

nx

dx
�� ������� �
�

v2
vx

=
n1

nx
� � arg

(
v2
vx

)
=

arg (n1)− arg (nx)�

6����� Ax =
nx

S2

� ����� S2 �� ����� ��
 �������� �� ) ���	�� d2 � d3� )���:	������

�
� arg (d3 − d2) = 90◦ @��� 
� �����
���	�!�A� ;�� 
� �������	�!� 7�+� arg (nx) =

90◦−φ (Ax) � �����	�� arg

(
v2
vx

)
= arg(n1)+φ (Ax)−90◦ � )���:	������ 
� 	����	�!�

#7�*�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #7�* � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d2vx� dx = d2� ��

?��	�� >!���� �
� 
� 	����	�!� #7�* �� �
��� 	
��
�� 	
���� �A dx = d3� �A dx = d4

� 	A dx = d1� � �
� �� 	��� 	���� �
 )�
�� ��
 �
������� nx ������������ )���:	� 
�

	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d2vx� )���:	���� 
� 	����	�!� #7�* �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S2
� ����� S2 �� ����� ��
 �������� ��

) ���	�� d2 � d3� � arg (d3 − d2) = 90◦�


A (�� n∗
x �
 �
������� �� vx ����������� 	��� d3vx� �����	�� Ax =

n∗
x

S3

� �����

S3 �� ����� ��
 �������� �� ) ���	�� d4 � d3� arg (d4 − d3) = 180◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 180◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d3

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�
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arg (d3) = arg (d2) + 90◦� dx = d3 )���:	� 
� 	����	�!� #7�*� �
���� �
�

arg

(
v2
vx

)
= arg (d2) + 90◦ − arg (d2) + arg (n1)− 180◦ + φ (Ax)

= arg (n1) + φ (Ax)− 90◦.

(�� α = arg (d2)� 	�� tan (α) =
d2I
d2R

� �����	�� arg (d3) = α + 90◦ �

tan (α+ 90◦) =
d3I
d3R

=
d3I
d2R

@��� 
� �����
���	�!� d3R = d2RA� ;�� 
� �����

d3 = d2R + jd3I = d2R + j tan (α+ 90◦) d2R = d2R − j
d22R
d2I

� 6����� arg (n∗
x) =

90◦+arg (nx)� 

��� �� nx = nxR+jnxI �����	�� n∗
x = ρej

π
2 nx = −ρnxI+jρnxR�

#��� vx =
n∗
x

d3
� vx =

nx

d2
� �����	�� d2n

∗
x = d3nx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (d2n
∗
x) = Re (d3nx)� 

���

−ρnxId2R − ρnxRd2I = d2RnxR +
d22R
d2I

nxI

−ρnxId2Rd2I − ρnxRd
2
2I = d2Rd2InxR + d22RnxI

− (ρd2I + d2R)nxRd2I = (d2R + ρd2I)nxId2R.

6�� �
��
nxI

nxR
= − d2I

d2R
�

Im [d2n
∗
x] = Im [d3nx]� 

���

ρnxRd2R − ρnxId2I = nxId2R − nxR
d22R
d2I

ρnxRd2Rd2I − ρnxId
2
2I = nxId2Rd2I − nxRd

2
2R

(d2Iρ+ d2R) d2RnxR = nxId2I (d2R + ρd2I) .

;�� �����
nxI

nxR

=
d2R
d2I

�

$�
�
���� ����� ���

������
d2R
d2I

= − d2I
d2R

⇔ d22R < 0� 
� 	
�
 �� �� �����
��

;�� ����� nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d3 �� �� 
�� ��

	�!��

	A (�� n∗
x �
 �
������� �� vx ����������� 	��� d4vx. �����	�� Ax =

n∗
x

S4

� �����

S4 �� ����� ��
 �������� �� ) ���	�� d1 � d4� arg (d1 − d4) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 270◦ − φ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d4

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�



�1� ������$������ �� �������� �� ����
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arg (d4) = arg (d2) + 180◦. dx = d4 )���:	� 
� 	����	�!� #7�*� �
���� �
�

arg

(
v2
vx

)
= arg (d2) + 180◦ − arg (d2) + arg (n1)− 270◦ + φ (Sx)

= arg (n1) + φ (Sx)− 90◦.

�� ���� 	��� 
� ��������	�!� �� ���)��
� �� �
� arg (n∗
x) = 180◦+arg (nx)� ����

��
�	�!� �� �� �����
�� �� �
� �
 ��
������ �� 5��������) ��
 �
������� ��

	������� �
 	����

�A (�� n∗
x �
 �
������� �� vx ����������� 	��� d1vx. �����	�� Ax =

n∗
x

S1

�

����� S1 �� ����� ��
 �������� �� ) ���	�� d2 � d1� arg (d2 − d1) = 0◦ @���


� �����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = −φ (Ax)� #��� vx ��

�
 ����� ) ���	�� �����	�� arg

(
n∗
x

d1

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�

arg (d1) = arg (d2) + 270◦. dx = d1 )���:	� 
� 	����	�!� #7�*� �
���� �
�

arg

(
v2
vx

)
= 270◦ + φ (Ax) + arg (n1) = φ (Ax) + arg (n1)− 90◦.

(�� α = arg (d2) , 	�� tan (α) =
d2I
d2R

� �����	�� arg (d1) = α + 270◦ �

tan (α + 270◦) =
d1I
d1R

=
d2I
d1R

@��� 
� �����
���	�!� d1I = d2IA� ;�� 
� �����

d1 = d1R + jd1I =
d2I

tan (α+ 270◦)
+ jd2I = − d22I

d2R
+ jd2I � 6������ arg (n∗

x) =

270◦+arg (nx) , 

��� �� nx = nxR+jnxI �����	�� n∗
x = ρej3

π
2 nx = ρnxI−jρnxR�

#��� vx =
nx

d2
� vx =

n∗
x

d1
� �����	�� d2n∗

x = d1nx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (d2n
∗
x) = Re (d1nx)� 

���

+ρnxId2R + ρnxRd2I = − d22I
d2R

nxR − d2InxI

(d2I + d2Rρ)nxId2R = − (d2Rρ+ d2I)nxRd2I .

6�� �
��
nxI

nxR
= − d2I

d2R
�



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ���� ���"!���
�� �� ���������� �1�

Im (d2n
∗
x) = Im (d1nx) , 

���

−ρnxRd2R + ρnxId2I = −nxI
d22I
d2R

+ nxRd2I

−ρnxRd2Rd2R + ρnxId2Id2R = −nxId
2
2I + nxRd2Id2R

(d2I + ρd2R)nxId2I = nxRd2R (ρd2R + d2I) .

;�� �����
nxI

nxR
=

d2R
d2I

�

$�
�
���� ����� ���

������
d2R
d2I

= − d2I
d2R

⇔ d22R < 0, 
� 	
�
 �� �� �����
��

;�� ����� nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d1 �� �� 
�� ��

	�!��

+� ⇐| (� dx = d1 �
 )�
�� �� nx = d1vx �� �
��� 	�
	

��� � ��� ����� �� �����0�	� 
�

	����	�!� ��
 ����������� @
��� 7�7A� �� �
� �
 ��� vx 
� ) ���	� �� 
� 0�������� nx

���� 
�� �� 
�� ��
������� ��������� ��
 �
�������� � ��� ����� ���� )���:	�� 
��

�� 
�� 	
���� 	����	����� ��
 
����

��)������� �
 )�
�� �� v1 =
n1

d1
��� �
 )�
�� �� vx =

nx

dx
�� �������

v1
vx

=
n1

nx
� �

arg

(
v1
vx

)
= arg (n1)− arg (nx)�

6����� Ax =
nx

S1
� ����� S1 �� ����� ��
 �������� �� ) ���	�� d1 � d2� )���:	������

�
� arg (d2 − d1) = 0◦ @��� 
� �����
���	�!�A� ;�� 
� �������	�!� 7�+ arg (nx) =

−φ (Ax) � �����	�� arg

(
v1
vx

)
= arg(n1) + φ (Ax) , )���:	������ 
� 	����	�!� #7�+�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #7�+ � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d1vx� dx = d1� ��

?��	�� >!���� �
� �� dx �= d2� 
� 	����	�!� #7�+ �� �
��� 	
��
�� ����� � 	
����

�A dx = d3 � �A dx = d4, � �� 	��� 	���� �
 )�
�� ��
 �
������� nx �����������

)���:	� 
� 	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d1vx, )���:	���� 
� 	����	�!� #7�+ �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S1
� ����� S1 �� ����� ��
 �������� ��

) ���	�� d1 � d2� � arg (d2 − d1) = 0◦.


A (�� n∗
x �
 �
������� �� vx ����������� 	��� dxvx. �����	�� Ax =

n∗
x

S3

� �����

S3 �� ����� ��
 �������� �� ) ���	�� d3 � d4� arg (d4 − d3) = 180◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 180◦ − φ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
nx

d1

)
= arg

(
n∗
x

d3

)
� �� ����� �� ���
	� �
�
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arg (d3) = arg (d1) + 180◦� dx = d3 )���:	� 
� 	����	�!� #7�+� �
���� �
�

arg

(
v1
vx

)
= arg (d3) + 180◦ − arg (d1) + arg (n1)− 180◦ + φ (Sx)

= arg (n1) + φ (Sx) .

�� ���� 	��� 
� ��������	�!� �� ���)��
� �� �
� arg (n∗
x) = 180◦ − arg (nx)

@arg (nx) = −φ (Sx) � arg (n∗
x) = 180◦ − φ (Sx)A� ���� �� �� �����
�� ����
� �


��
������ �� 5��������) ��
 �
������� �� �
��� 	������� �
 	����

	A (�� n∗
x �
 �
������� �� vx ����������� 	��� d4vx� �����	�� Ax =

n∗
x

S4

� �����

S4 �� ����� ��
 �������� �� ) ���	�� d4 � d1� arg (d1 − d4) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 270◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
nx

d1

)
= arg

(
n∗
x

d4

)
� �� ����� �� ���
	� �
�

arg (d4) = arg (d1) + 270◦� dx = d4)���:	� 
� 	����	�!� #7�+� �
���� �
�

arg

(
v1
vx

)
= arg (d1) + 270◦ − arg (d1) + arg (n1)− 270◦ + φ (Ax)

= arg (n1) + φ (Ax) .

(�� α = arg (d1)� 	�� tan (α) =
d1I
d1R

� �����	�� arg (d4) = α + 270◦ �

tan (α + 270◦) =
d4I
d4R

= −d1R
d1I

@��� 
� �����
���	�!�A� ;�� 
� ����� d4 =

d4R + jd4I = d1R + jd1R tan (α + 270◦) = d1R − j
d21R
d1I

� 6����� arg (n∗
x) =

270◦+arg (nx)� 

��� �� nx = nxR+jnxI �����	�� n∗
x = ρej3

π
2 nx = ρnxI−jρnxR�

#��� vx =
nx

d1
� vx =

n∗
x

d4
� �����	�� d1n∗

x = d4nx � 	���	���� �
� ������ ���
��

� �
� ������ ������������

Re (d1n
∗
x) = Re (d4nx)� 

���

ρnxId1R + ρnxRd1I = +
d21R
d1I

nxI + d1RnxR

ρnxId1Rd1I + ρnxRd1Id1I = +d21RnxI + d1RnxRd1I

(ρd1I − d1R)nxId1R = (d1R − ρd1I)nxRd1I .

6�� �
��
nxI

nxR
= − d1I

d1R
�



-�� ������������� �� !�� "�!������� ���(����� � "����� �� �� ���� ���"!���
�� �� ���������� �1�

Im (d1n
∗
x) = Im (d4nx)� 

���

−ρnxRd1R + ρnxId1I = −nxR
d21R
d1I

+ nxId1R

−ρnxRd1Rd1I + ρnxId1Id1I = −nxRd
2
1R + nxId1Rd1I

(−ρd1I + d1R)nxRd1R = (d1R − ρd1I)nxId1I .

;�� �����
nxI

nxR
=

d1R
d1I

�

$�
�
���� ����� ���

������ − d1I
d1R

=
d1R
d1I

⇔ d21R < 0� 
� 	
�
 �� �� �����
��

;�� ������ nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d4 �� �� 
�� ��

	�!��

.� ⇐| (� dx = d3 �����	�� nx = d3vx �� �� �
��� 	�
	

�� ����	�������� ����
�

�� �� 	���	� �
 )�
�� �� d3� =������ �� ������ 

��� �
� 
� 	����	�!� #7�. ��

)���:	�� (� dx = d3 �����	�� Ax =
nx

S3

� ����� S3 �� ����� ��
 �������� �� ) ���	��

d3 � d4� )���:	������ �
� arg (d4 − d3) = 180◦ @��� 
� �����
���	�!�A� ;�� 
�

�������	�!� 7�+ arg (nx) = 180◦−φ (Ax) � �����	�� arg (d3) = arg (nx)+arg

(
1

vx

)
=

180◦ − φ (Ax) + arg

(
1

vx

)
� #��� d2R = d3R �����	�� d3 = d3R + jd3I = d2R +

jd2R tan

(
180◦ − φ (Ax) + arg

(
1

vx

))
�

;�� ���� 
���� d3I > d2I ����
� 
�� ) ���	�� ��������� ��� �
������ �� �������

������������ ;�� ����� �� )���:	� �
� tan

(
180◦ − φ (Ax) + arg

(
1

vx

))
n2R > n2I �

�
� �� 
� 	����	�!� #7�.�

6����� �
��� 	�
	

���� nx �������� 
� �������!�

nx = d3vx = d2R

[
1 + j tan

(
180◦ − φ (Ax) + arg

(
1

vx

))]
vx.

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #7�. � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d3vx� dx = d3� ��

?��	�� >!���� �
� �� dx �= d2 � dx �= d1� 
� 	����	�!� #7�. �� �
��� )���:	�� 	
����

dx = d4�

(�� nx �
 �
������� �� vx ����������� 	��� d3vx� )���:	���� 
� 	����	�!� #7�. �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S3
� ����� S3 �� ����� ��
 �������� ��

) ���	�� d3 � d4� � arg (d4 − d3) = 180◦�

(�� n∗
x �
 �
������� �� vx ����������� 	��� d4vx� �����	�� Ax =

n∗
x

S4
� ����� S4 ��



�1- ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

����� ��
 �������� �� ) ���	�� d4 � d1� arg (d1 − d4) = 270◦ @��� 
� �����
���	�!�A�

� ��� 
� �������	�!� 7�+ arg (n∗
x) = 270◦ − φ (Ax) = 90◦ + arg(nx)� ;�� ����� n∗

x =

ρj (nxR + jnxI) = −ρnxI + jρnxR�

#��� vx �� �
 ����� ) ���	�� arg

(
n∗
x

d4

)
= arg

(
n2

d3

)
� �� ����� �� ���
	� �
�

arg (d4) = arg (d3) + 90◦� (�� α = arg (d3)� �����	�� α + 90◦ = arg (d4) = 270◦ −
φ (Ax)+arg

(
1

vx

)
� ;�� ����� α = arg (d4) = 180◦−φ (Ax)+arg

(
1

vx

)
� � 	��� �� �


arg (d3) )���:	� d3I = d2R tan (α) > d2I @��� 
� �����
���	�!�A� �� ��	��� 
� 	����	�!�

#7�. �� �����0�	��

(� dx = d4 �����	�� d4 = d4R + jd4I = d1R + jd2R tan

(
180◦ − φ (Ax) + arg

(
1

vx

))
�

� �
 �
������� ��

n∗
x = d4vx =

(
d1R + j tan

(
180◦ − φ (Ax) + arg

(
1

vx

))
d2R

)
vx.

#��� tan (α) =
d3I
d3R

� �����	�� d3 = d3R+jd3I = d2R+jd2R tan (α) = d2R+jd2R
d3I
d3R

�

� d4 = d4R + jd4I = d1R + jd1R tan (α + 90) = d1R − jd1R
d3R
d3I

�

#��� vx =
nx

d3
� vx =

n∗
x

d4
� �����	�� d3n∗

x = d4nx � 	���	���� �
� ������ ���
�� � �
�

������ ������������

Re (d3n
∗
x) = Re (d4nx)� 

���

−d2RρnxI − d3IρnxR = d1RnxR + nxId1R
d2R
d3I

−d2Rd3IρnxI − d3Id3IρnxR = d1Rd3InxR + nxId1Rd3R

− (d3Iρ+ d1R) d2RnxI = (d1R + d3Iρ) d3InxR.

6�� �
��
nxI

nxR

= − d3I
d3R

�

Im (d3n
∗
x) = Im (d4nx)� 

���

−d3IρnxI + d2RρnxR = nxId1R − nxRd1R
d2R
d3I

−d3Id3IρnxI + d3Id2RρnxR = nxId1Rd3I − nxRd1Rd2R

− (d3Iρ+ d1R)nxId3I = − (d3Iρ+ d1R)nxRd2R.

;�� �����
nxI

nxR
=

d3R
d3I

�
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�� �� ���������� �1'

$�
�
���� ����� ���

������ − d3I
d3R

=
d3R
d3I

⇔ d23R < 0� 
� 	
�
 �� �� �����
�� ;��

������ nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d3 �� �� 
�� ��

	�!��

7� ⇐| (� dx = d4 �����	�� nx = d4vx �� �� �
��� 	�
	

�� ����	�������� �
���� �
� ��

�� 	���	� �
 )�
�� �� d4 � =������ �� ������ 

��� �
� 
� 	����	�!� #7�7 �� )���:	��

(� dx = d4 �����	�� Ax =
nx

S4

� ����� S4 �� ����� ��
 �������� �� ) ���	��

d4 � d1� )���:	������ �
� arg (d1 − d4) = 270◦ @��� 
� �����
���	�!�A� ;�� 
�

�������	�!� 7�+ arg (nx) = 270◦−φ (Ax) � �����	�� arg (d4) = arg (nx)+arg

(
1

vx

)
=

arg

(
1

vx

)
+ 270◦ − φ (Ax)� #��� d1R = d4R� �����	�� d4 = d4R + jd4I = d1R +

jd1R tan

(
arg

(
1

vx

)
+ 270◦ − φ (Ax)

)
�

;�� ���� 
��� d4I > d1I � ����
� 
�� ) ���	�� ��������� ��� �
������ �� �������

������������ ;�� ����� �� )���:	� �
� tan

(
arg

(
1

vx

)
+ 270− φ (Ax)

)
d1R > d1I �

�
� �� 
� 	����	�!� #7�7�

6����� nx �
��� 	�
	

���� �������� 
� �������!�

nx = d4vx = d1R

[
1 + j tan

(
arg

(
1

vx

)
+ 270− φ (Ax)

)]
vx.

⇒| (� dx �= d2� dx �= d1 � dx �= d3 �����	�� ���� ��� dx = d4�

�

9���
������ �
 ���
����� ������� �����
�	� 
�� 	����	����� ��	������� � �
:	������ ���� 
�

������:	�	�!��

2��
��� ���

��
� �� ���#���� 
� ��	���
� ��
�
 	�
 ��	������
 �
�$��
�
 
� 	�
 �>�����
 ���
��


���������
�� 
� � 
�	� 
� �!�
�� �� 
�$����� ����	��� � �� ���� ����	��� 
� 	� ��������

�� �� ���
������ ����
� �	 
�$����� �����	���
� ����(�� ��� n2R �= 0� n2I �= 0� n1R �= 0 �

n1I �= 0� � ����
� �	 ���� �����	���
� ����(�� d2R �= 0� d2I �= 0� d1R �= 0 � d1I �= 0�

������
�����9

2� ��������	�!� �� �)������� � ������ �� 
�� �������� 7�* � 7�7�

�
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�
����

���� 
� 	��&
��� �� )�
���� 	�� �
 ����� 
� �������� � 
� ��	� �� 
� 0�������� ��


� 	
�������� ���� ������� 
�� ��
������� �� 5��������) �� ���	��� ���?� �
 ���
�����

���
����

*� (� ������ 
� �������� �� 
� 0������� 	���
��� �� 
� 	
�������� 	�� ) ���	�� v1 =
n1

d1
� v2 =

n2

d1
� (� 	�������� �
 ��	� �
	���� �� ) ���	�� v2 =

n2

d1
� v2suc =

n2

d2λ
� � �
 ��	�

�����	���� �� ) ���	�� v1pred =
n1

d4λ
� v1 =

n1

d1
� ����� �� ������� ������������ ;��� 
��

��������� ) ���	�� vx =
nx

dx
�� 
� 0������� ��
 	��&
��� �� )�
�����


A (� vx =
nx

dx
�� 
� ) ���	� �������		�!� �� 
� �������� � 
� ��	�� ��

������� ������������ �����	�� 
�� ��
������� ��������� ��
 �
������� � ��


������������ nx � dx� �� ���������� ��
�	���� �
 ������� 7�*�

	A (� vx =
nx

dx
�� 
� ) ���	� �������		�!� �� 
� ��	� � 
� ��������� ��

������� ������������ �����	�� 
�� ��
������� ��������� ��
 �
������� � ��


������������ nx � dx� �� ���������� ��
�	���� �
 ������� 7�+�

+� (� ������ 
� ��	� �� 
� 0������� 	���
��� �� 
� 	
�������� 	�� ) ���	�� v1 =
n1

d1
�

v2 =
n1

d2
� (� 	�������� �
 �������� �
	���� �� ) ���	�� v2 =

n1

d2
� v2suc =

n2λ

d2
� � �


�������� �����	���� �� ) ���	�� v1pred =
n4λ

d1
� v1 =

n1

d1
� ����� �� ������� ������������

;��� 
�� ��������� ) ���	�� vx =
nx

dx
�� 
� 0������� ��
 	��&
��� �� )�
�����


A (� vx =
nx

dx
�� 
� ) ���	� �������		�!� �� 
� ��	� � 
� ��������� ��

������� ������������ �����	�� 
�� ��
������� ��������� ��
 �
������� � ��


������������ nx � dx� �� ���������� ��
�	���� �
 ������� 7�.�

	A (� vx =
nx

dx
�� 
� ) ���	� �������		�!� �� 
� �������� � 
� ��	�� ��

������� ������������ �����	�� 
�� ��
������� ��������� ��
 �
������� � ��


������������ nx � dx� �� ���������� ��
�	���� �
 ������� 7�7�

.� 6 ������ �� 
�� ��
������� ���������� ��
�	���� 
�� �	
�	����� .�*3 � .�**� �� 	�
	

��


�� )�
���� �� 
�� ��	����

�� ��
 �
������� � ��
 �����������

N = {Kn1 (jω) , Kn2 (jω) , Kn3 (jω) , Kn4 (jω)}
D = {Kd1 (jω) , Kd2 (jω) , Kd3 (jω) , Kd4 (jω)}
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� �� �������	� 
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����������
�

��� w = 1.0 ��� w = 1.1

��� w = 1.2

9��
�� 7�**� 4��� 	��&
���� �� )�
���� �� 
� �����)�
� �� �
������

w = 1.0 w = 1.1 w = 1.2
@�A @�A @	A @�A @�A @	A @�A @�A @	A
v1 1.5676 + 2.5946j 0 v1 −2.8422 + 2.9830j 0 v1 6.1015 + 5.2779j 1
v2 2.0000 + 8.0000j 1 v2 −0.9808 + 2.4599j 1 v2 6.5135 + 6.8573j 0
v3 0.8000 + 10.4000j 0 0 + 3.0420j 0 0 + 8.5560j 0

0 + 10.0000j 1 v3 0.4996 + 3.0386j 1 v3 −3.0339 + 6.1294j 1
v4 −4.8000 + 7.6000j 0 v4 2.3317 + 3.0261j 0 v4 −2.2110 + 5.1007j 0
v5 −3.5862 + 1.0345j 1 v5 5.1859 + 6.6181j 1 v5 −0.4710 + 3.4462j 1
v6 C2.5517 + 0.6207j 0 v6 5.2164 + 8.6623j 0 0 + 3.6463j 0
v7 −1.3443 + 1.2131j 1 0 + 8.7484j 0 v6 1.4690 + 3.4428j 1

0 + 2.3336j 1 v7 −3.8291 + 3.7385j 1 v7 2.9559 + 3.2369j 0

4��
� 7�*� ����� ���	��
�� ���� �
 �&���
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�	 �>����� vi -�� "	���� 
� �
 �� ����� 
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����'� ��� 	�
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&�	���� -".� �	 ��	�� ���>���� 
� 	�
 �����
 ���������
�

&�	���� -�.� 5	 �	������ 
� 	� �������� ��� 
�$�� �	 �>������ � �	 ����� 
� ������ ����

(0) � 
�$����� (1)�

)�	����
� �	 �	$������ 
� �"���
��� 	�
 ��	������
 �
�$��
�
 � 	�
 ������$�	�
 
�	 ������
��

� 
�	 
�������
�� ���� ��
� ���#���� 
� ��	���
�

���4���� �� "���
�� � )
�������� ω = 1.0�

&��� �	������ ������	 
� ���
�
��� �	 ���� ����	��� 
� �>�����
 v1 =
n1

d1
= 1.5676+2.5946j

� v2 =
n1

d2
= 2.0000 + 8.0000j� � ���
�� ��	����
� 	�
 �������
 B�? � B�B� ,��� �		�� 
� �	�$��

	�
 �����
 v2suc =
n2λ

d2
= v3 = 0.8000 + 10.4000j; v1pred =

n4λ

d1
= 2.3336j� )�	����
� 	�

�����	�����'� ���� �� ���� -	��� B�?.� 
� �"������ 	�
 
�$������
 ��
�	��
�
�

φ (n1) = 360◦ − arg

(
1

v2
− 1

v1

)
= 229.40◦

n1 = cos (φ (n1)) + j sin (φ (n1)) = −0.6508− 0.7592j

d1 =
n1

v1
= −0.3254 + 0.0542j; d2 =

n1

v2
= −0.1085 + 0.0542j

n4λ = d1v1pred = −0.1266− 0.7594j; n2λ = d2v2suc = −0.6508− 1.0846j

) ������ 
� �
��
 ��	���
 ��
�
 	�
 
���
 �>�����
 
�� �
�$��"	�
�

�� J>����� vx =
nx

dx
= v3 = 0.8000 + 10.4000j� 5������
 vxpred =

nx

dxpred
= v2 =

2.0000 + 8.0000j 
���
� 	�
 �>�����
 
� �� 
�$������ � ���
� ��	����
� �	 ������� B�B�

��� 	�
 ��	���
 
� vxsuc = 10.0000j� φ (Ax) = arg

(
1

vxsuc
− 1

vx

)
= 210.97◦�

&�
� ��

�� ���
���'� &B�� 
� 
���
���� ���
�� ��� arg

(
v2
vx

)
= φ (Ax)+arg(n1)−90◦ = 350.36◦�

nx = d2vx = −0.6508− 1.0846j 
���
���� 	� ���
���'� 
�	 ������
�� -���� B�B� ��
�

B� nx = n2.�

(n1R = −0.6508 < n4λR = −0.1266 � n1I = −0.7592 > n2λI=− 1.0846)

(nxR = n1R = −0.6508 � nxI=− 1.0846 ≤ n1I = −0.7592)

5������
 dx = d2 = −0.1085 + 0.0542j � v3 = vx =
n2

d2
�



-� 	!(������ "��� !� ������%������� ��	

�� J>����� v4 = vx =
nx

dx
= −4.8000+7.6000j� 5������
 vxpred =

nx

dxpred
= 10j 
���
� 	�


�>�����
 
� �� 
�$������ � ���
� ��	����
� �	 ������� B�B� ��� 	�
 ��	���
 
� vxsucc =

−3.5862 + 1.0345j� φ (Ax) = arg

(
1

vxsucc
− 1

vx

)
= 174.29◦�

&�
� ��

�� ���
���'� &B�� 
� 
���
����� arg

(
v2
vx

)
= φ (Ax) + arg(n1) − 90◦ = 313.69◦ �

nx = d2vx = 0.1084− 1.0847j 
���
���� 	� ���
���'� 
�	 ������
�� -���� B�B� ��
� B�

nx = n3.�

(n1R = −0.6508 < n4λR = −0.1266 y n1I = −0.7592 > n2λI=− 1.0850)

(nxR = 0.1084 > n1R = −0.6508 y nxI = −1.0847 < n1I = −0.7592)

5������
 dx = d2 = −0.1085 + 0.0542j � v4 = vx =
n3

d2
�

?� J>����� v5 = vx =
nx

dx
= −3.5862 + 1.0345j� 5������
 vxpred =

nx

dxpred
= −4.8000 +

7.6000j 
���
� 	�
 �>�����
 
� �� ����� � ���
� ��	����
� �	 ������� B�?� ��� 	�
 ��	���



� vxpred � φ (Ax) = arg

(
1

vx
− 1

vxpred

)
= 174.29◦�

&�
� ��

�� ���
���'� &?�� �� 
� 
���
����� arg

(
v2
vx

)
= 272.06 �= arg (n1) + φ (Ax) = 43.69◦�

&�
� ��

�� ���
���'� &?�� �� 
� 
���
����� arg

(
v1
vx

)
= 254.95 �= arg (n1) + φ (Ax) + 90 =

133.69◦�

&�
� ?�

�� ���
���'� &?�? 
� 
���
����� tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)
d2R = 0.2712 > d2I =

0.0542� � �
���
 nx = d2R

[
1 + j tan

(
arg

(
1

vx

)
− ϕ (Ax) + 90◦

)]
, vx = 0.1085−

1.0846j 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B� ��
� B� nx = n3.�

(n1R = −0.6508 < n4λR = −0.1266 y n1I = −0.7592 > n2λI=− 1.0846)

(nxR = 0.1084 > n1R = −0.6508 y nxI = −1.0847 < n1I = −0.7592)

5������
 dx = d3 = d2R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

))
= −0.1085 +

0.2712j � v5 = vx =
n3

d3
�



��� ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

B� J>�����
 v6 = vx =
nx

dx
= −2.5517 + 0.6207j� 5������
 vxpred =

nx

dxpred
= −3.5862 +

1.0345j� 5
��
 
�� 	�
 �>�����
 
� �� 
�$������ � 
� ��	��� �	 ������� B�B� ��� 	�
 ��	���



� vxsucc − 1.3443 + 1.2131j� φ (Ax) = arg

(
1

vxsucc
− 1

vx

)
= 261.87�

&�
� ��

�� ���
���'� &B�� �� 
� 
���
����� arg

(
v2
vx

)
= 269.64◦ �= φ (Ax) + arg(n1) − 90◦ =

41.27◦

&�
� ��

�� ���
���'� &B�� �� 
� 
���
����� arg

(
v1
vx

)
= 252.53◦ �= φ (Ax) + arg(n1) = 131.27◦

&�
� ?�

�� ���
���'� &B�? 
� 
���
����� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d2R = 0.2712 >

d2I = 0.0542 � �
���
 nx = d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
, vx =

0.1085− 0.7592j 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B� ��
� ?� nx = n4.�

(n1R = −0.6508 < n4λR = −0.1266 y n1I = −0.7592 > n2λI=− 1.0846)

(nxI = n1I = −0.7592 y nxR = 0.1085 ≥ n1R = −0.6508)

5������
 dx = d3 = d2R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

))
= −0.1085 +

0.2712j � v6 = vx =
n4

d3
�

A� J>����� v7 = vx =
nx

dx
= −1.3443 + 1.2131j� 5������
 vxpred =

nx

dxpred
= −2.5517 +

0.6207j� 5
��
 
�� 	�
 �>�����
 
� �� ����� � ��� ����� ���
� ��	����
� �	 ������� B�?�

��� 	�
 ��	���
 
� φ (Ax) = arg

(
1

vx
− 1

vxpred

)
= 261.87◦�

&�
� ��

�� ���
���'� &?�� �� 
� 
���
����� arg

(
v2
vx

)
= 298.03◦ �= arg (n1)+φ (Ax) = 131.27◦�

&�
� ��

�� ���
���'� &?�� �� 
� 
���
����� arg

(
v1
vx

)
= 280.93◦ �= arg (n1) + φ (Ax) + 90 =

221.27◦�

&�
� ?�

�� ���
���'� &?�? �� 
� 
���
����� tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)
d2R =

−0.1302<d2I = 0.0542�



-� 	!(������ "��� !� ������%������� ���

&�
� B�

�� ���
���'� &?�B 
� 
���
����� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d1R = 0.2712 >

d1I = 0.0542 � �
���
 nx = d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
vx =

0.1085− 0.7592j 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B� ��
� B� nx = n4.�

(n1R = −0.6508 < n4λR = −0.1266 y n1I = −0.7592 > n2λI=− 1.0846)

(nxI = n1I = −0.7592 y nxR = 0.1085 ≥ n1R = −0.6508)

5������
 dx = d4 = d1R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

))
= −0.3254 +

0.2712j � v7 = vx =
n4

d4

5� ��
����� 	�
 ��	������
 �
�$��
�
 
���

v1 =
n1

d1
; v2 =

n1

d2
; v3 =

n2

d2
; v4 =

n3

d2
; v5 =

n3

d3
; v6 =

n4

d3
; v7 =

n4

d4
.

��
 ��	���
 �"����
�
 � ������ 
� 	� �����	�����'� 
���

n1 = −0.6508− 0.7592j; d1 = −0.3254 + 0.0542j; d2 = −0.1085 + 0.0542j

E � ������ 
� 	�
 �>�����
� ��	����
� �	 �	$�������

v3 : n2 = −0.6508− 1.0846j; d2 = −0.1085 + 0.0542j

v4 : n3 = 0.1084− 1.0847j; d2 = −0.1085 + 0.0542j

v5 : n3 = 0.1085− 1.0846j; d3 = −0.8464 + 2.0152j

v6 : n4 = 0.1085− 0.7592j; d3 = −0.1085 + 0.2712j

v7 : n4 = 0.1085− 0.7593j; d4 = −0.3254 + 0.2712j

5������
�

Kn1 (jω) = −0.6508− 1.0847j; Kn2 (jω) = 0.1085− 1.0847j

Kn3 (jω) = 0.1085− 0.7592j; Kn4 (jω) = −0.6508− 0.7592j

Kd1 (jω) = −0.3254 + 0.0542j; Kd2 (jω) = −0.1085 + 0.0542j

Kd3 (jω) = −0.1085 + 0.2712j; Kd4 (jω) = −0.3254 + 0.2712j
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� 81�������� 
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� 81�������� ���$���	�
 -($��� B���-�..� &��� 
� �"
����� ��"�
 ($���
 
�� �$��	�
� 	� ���

�
�$��� 	� "��
�
 
�	 �	$�������

9��
�� 7�*+� #������	�!� �� 
�� 32 �������� ���� ω = 1.0�

��
 ��"	�
 B�� ���
���� 	�
 ��
�	��
�
 
�	 �	$������ ���� 	�
 ��	���
 
� 	� ���������� ω =

1.0�

v1 − v2 ��	����

��
��	� 5��������) 	�
	

����

v1 1.5676 + 2.5946j Kn1(jw) = −0.6508− 1.0847j
v2 2.0000 + 8.0000j Kn2(jw) = 0.1085− 1.0847j

v2succ 0.8000 + 10.4000j Kn3(jw) = 0.1085− 0.7592j
v1pred 2.3336j Kn4(jw) = −0.6508− 0.7592j
φ(n1) 229.40 Kd1(jw) = −0.3254 + 0.0542j
n1 −0.6508− 0.7592j Kd2(jw) = −0.1085 + 0.0542j
d1 −0.3254 + 0.0542j Kd3(jw) = −0.1085 + 0.2712j
d2 −0.1085 + 0.0542j Kd4(jw) = −0.3254 + 0.2712j
n4λ −0.1266− 0.7594j
n2λ −0.6508− 1.0846j

v3 v4 v5 v6 v7
0.8000 + 10.4000j −4.8000 + 7.6000 −3.5862 + 1.0345j −2.5517 + 0.6207j −1.3443 + 1.2131j

4�� 4 4 3 4 3
vxpred 2.0000 + 8.0000j 10.0000j −4.8000 + 7.6000j −3.5862 + 1.0345j −2.5517 + 0.6207j
vxsucc 10.0000j −3.5862 + 1.0345j −2.5517 + 0.6207j −1.3443 + 1.2131j 2.3336j
φ(Ax) 210.97 174.29 174.29 261.87 261.87
#� )��� C4.1 C4.1 C3.3 C4.3 C3.4
nx −0.6508− 1.0846j 0.1084− 1.0847j 0.1085− 1.0846j 0.1085− 0.7592j 0.1085− 0.7592j
dx −0.1085 + 0.0542j −0.1085 + 0.0542j −0.1085 + 0.2712j −0.1085 + 0.2712j −0.3254 + 0.2712j

vx
n2

d2

n3

d2

n3

d3

n4

d3

n4

d4

4��
� 7�+� ���

����� ��
 �
������� ���� 	��&
��� �� )�
���� � 0��	
��	�� w = 1.0�



-� 	!(������ "��� !� ������%������� ���

���4���� �� "���
�� � )
�������� ω = 1.1�

5	 ���� ����	��� 
� �>�����
 v1 =
n1

d1
= −2.8422+2.9830j � v2 =

n1

d2
= −0.9808+2.4599j


� ���
�
��� ���� �	������ ������	� 5������
� 
� ���
�� ��	���� 	�
 �������
 B�? � B�B� ,��

����� 
� �	�$�� 	�
 �����
 v2suc =
n2λ

d2
= 3.0420j; v1pred =

n4λ

d1
= −3.8291 + 3.7385j;

)�	����
� 	� �����	�����'� ���� �� ����� -	��� B�?. 
� �"������ 	�
 
�$������
 
���
�

φ (n1) = 360◦ − arg

(
1

v2
− 1

v1

)
= 81.05◦

n1 = cos (φ (n1)) + j sin (φ (n1)) = 0.1556 + 0.9878j

d1 =
n1

v1
= 0.1475− 0.1927j; d2 =

n1

v2
= 0.3247− 0.1927j

n4λ = d1v1pred = 0.1556 + 1.2895j; n2λ = d2v2suc = 0.5862 + 0.9878j

5������
� ��
�
 	�
 
���
 �>�����
 
�� �
�$��"	�
�

�� J>����� v3 = vx =
nx

dx
= 0.4996+ 3.0386j� 5������
 vxpred =

nx

dxpred
= 3.0420j� 
���
�

	�
 �>�����
 
� �� ����� � ���
� ��	����
� �	 ������� B�?� ��� 	�
 ��	���
 
� vxpred �

φ (Ax) = arg

(
1

vx
− 1

vxpred

)
= 8.95�

&�
� ��

�� ���
���'� &?�� �� 
� 
���
����� arg

(
v2
vx

)
= 31.08◦ �= arg (n1) + φ (Ax) = 301.08◦

&�
� ��

�� ���
���'� &?�� �� 
� ����(���arg

(
v1
vx

)
= 232.95◦ �= arg (n1)+φ (Ax)+90◦ = 52.95◦

&�
� ?�

�� ���
���'� &?�? 
� ����(��� tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)
d2R = 0.0022 > d2I =

−0.1927 � �
���
 nx = d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)]
, vx = 0.1555+

0.9878j 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B� ��
� �� nx = n1.�

(n1R = 0.1556 < n2λR = 0.5862 y n1I = 0.9878 < n4λI = 1.2895)

(nxR = n1R = 0.1556 y nxI = n1I = 0.9878)

5������
 dx = d3 = d2R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

))
= 0.3247 +

0.0022j � v3 = vx =
n1

d3
�

�� J>����� v4 = vx =
nx

dx
= 2.3317 + 3.0261j� 5������
 vxpred =

nx

dxpred
= 0.4996 +



��- ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

3.0386j� 5
��
 
�� 	�
 �>�����
 
� �� 
�$������ � 
� ��	��� �	 ������� B�B ��� 	�


��	���
 
� vxsuc=5.1859 + 6.6181j� φ (Ax) = arg

(
1

vxsuc
− 1

vx

)
= 127.23◦�

&�
� ��

�� ���
���'� &B�� �� 
� 
���
����� arg

(
v2
vx

)
= 59.35◦ �= φ (Ax) + arg(n1) − 90◦ =

118.28◦�

&�
� ��

�� ���
���'� &B�� �� 
� ����(��� arg

(
v1
vx

)
= 81.23◦ �= φ (Ax) + arg(n1) = 208.28◦�

&�
� ?�

�� ���
���'� &B�? 
� 
���
����� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d2R = 0.0022 >

d2I = −0.1927� � �
���
 nx = d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
, vx =

0.7505 + 0.9878j 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B� ��
� �� nx = n2.�

(n1R = 0.1556 < n2λR = 0.5862 y n1I = 0.9878 < n4λI = 1.2895)

(nxI = n1I = 0.9878 y nxR = 0.7505 ≥ n1R = 0.1556)

5������
 dx = d3 = d2R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

))
= 0.3247 +

0.0022j � v4 = vx =
n2

d3
�

?� J>����� v5 = vx =
nx

dx
= 5.1859 + 6.6181j� 5������
 vxpred =

nx

dxpred
= 2.3317 +

3.0261j� 5
��
 
�� 	�
 �>�����
 
� �� ����� � 
� ��	��� �	 ������� B�? ��� 	�
 ��	���
 
�

φ (Ax) = arg

(
1

vx
− 1

vxpred

)
= 127.23◦�

&�
� ��

�� ���
���'� &?�� �� 
� 
���
����� arg

(
v2
vx

)
= 59.82◦ �= arg (n1) + φ (Ax) = 208.28◦

&�
� ��

�� ���
���'� &?�� �� 
� 
���
�����arg

(
v1
vx

)
= 81.70◦ �= arg (n1) + φ (Ax) + 90 =

298.28◦�

&�
� ?�

�� ���
���'� &?�? �� 
� 
���
����� tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)
d2R =

−21.75<d2I = −0.20�

&�
� B�



-� 	!(������ "��� !� ������%������� ��'

�� ���
���'� &?�B 
� 
���
����� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d1R = 0.0022 >

d1I = −0.1927 � �
���
 nx = d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
, vx =

0.7505 + 0.9878j 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B� ��
� �� nx = n2.�

(n1R = 0.1556 < n2λR = 0.5862 y n1I = 0.9878 < n4λI = 1.2895)

(nxI = n1I = 0.9878 y nxR = 0.7505 ≥ n1R = 0.1556)

5������
 dx = d4 = d1R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

))
= 0.1475 +

0.0022j � v5 = vx =
n2

d4
�

B� J>����� v6 = vx =
nx

dx
= 5.2164 + 8.6623j� 5������
 vxpred =

nx

dxpred
= 5.1859 +

6.6181j� 5
��
 
�� 	�
 �>�����
 
� �� 
�$������ � 
� ��	��� �	 ������� B�B� ��� 	�


��	���
 
� vxsucc = 8.7404j � φ (Ax) = arg

(
1

vxsucc
− 1

vx

)
= 210.20◦�

&�
� ��

�� ���
���'� &B�� �� 
� 
���
����� arg

(
v2
vx

)
= 52.80◦ �= φ (Ax) + arg(n1) − 90◦ =

201.25◦�

&�
� ��

�� ���
���'� &B�� �� 
� 
���
����� arg

(
v1
vx

)
= 74.68◦ �= φ (Ax) + arg(n1) = 291.25◦�

&�
� ?�

�� ���
���'� &B�? �� 
� 
���
����� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d2R =

−21.6892<d2I = −0.1927�

&�
� B�

�� ���
���'� &B�B 
� 
���
����� tan

(
arg

(
1

vx

)
− φ (Ax) + 270◦

)
d1R = 0.0022 >

d1I = −0.1927 � �
���
 nx = d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 270◦

)]
, vx =

0.7505 + 1.2895j 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B� ��
� �� nx = n3.�

(n1R = 0.1556 < n2λR = 0.5862 y n1I = 0.9878 < n4λI = 1.2895)

(nxR = 0.7505 > n1R = 0.1556 y nxI = 1.2895 > n1I = 0.9878)

5������
 dx = d4 = d1R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 270◦

))
= 0.1475 +

0.0022j � v6 = vx =
n3

d4
�



�-0 ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

A� J>����� v7 = vx =
nx

dx
= −3.8291 + 3.7385j� 5������
 vxpred =

nx

dxpred
= 8.7404j�

�
��
 
�� 	�
 �>�����
 
� �� ����� � 
� ��	��� �	 ������� B�?� ��� 	�
 ��	���
 
� vxpred �

φ (Ax) = arg

(
1

vx
− 1

vxpred

)
= 186.88◦�

&�
� ��

�� ���
���'� &?�� �� 
� 
���
����� arg

(
v2
vx

)
= 336.05◦ �= arg (n1)+φ (Ax) = 267.93◦�

&�
� ��

�� ���
���'� &?�� �
 
���
����� arg

(
v1
vx

)
=arg (n1)+φ (Ax)+90◦ = 357.93◦ � �
���


nx = d1vx = 0.1556 + 1.2895j 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B� ��
� ��

nx = n4.�

(n1R = 0.1556 < n2λR = 0.5862 y n1I = 0.9878 < n4λI = 1.2895)

(nxR = n1R = 0.1556 y nxI = 1.2895 ≥ n1I = 0.9878)

5������
 dx = d1 = 0.1475− 0.1927j � v7 = vx =
n4

d1
�

5� ��
����� 	�
 ��	������
 �
�$��
�
 
���

v1 =
n1

d1
; v2 =

n1

d2
; v3 =

n1

d3
; v4 =

n2

d3
; v5 =

n2

d4
; v6 =

n3

d4
; v7 =

n4

d1

��
 ��	���
 �"����
�
 � ������ 
� 	� �����	�����'� 
���

n1 = 0.1556 + 0.9878j; d1 = 0.1475− 0.1927j; d2 = 0.3247− 0.1927j

E � ������ 
� 	�
 �>�����
� ��	����
� �	 �	$�������

v3 : n1 = 0.1555 + 0.9878j; d3 = 0.3247 + 0.0022j

v4 : n2 = 0.7505 + 0.9878j; d3 = 0.3247 + 0.0022j

v5 : n2 = 0.7505 + 0.9878j; d4 = 0.1475 + 0.0022j

v6 : n3 = 0.7505 + 1.2895j; d4 = 0.1475 + 0.0022j

v7 : n4 = 0.1556 + 1.2895j; d1 = 0.1475− 0.1927j



-� 	!(������ "��� !� ������%������� �-�

5������
�

Kn1 (jω) = 0.1555 + 0.9878j; Kn2 (jω) = 0.7505 + 0.9878j

Kn3 (jω) = 0.7505 + 1.2895j; Kn4 (jω) = 0.1556 + 1.2895j

Kd1 (jω) = 0.1475− 0.1927j; Kd2 (jω) = 0.3247− 0.1927j

Kd3 (jω) = 0.3247 + 0.0022j; Kd4 (jω) = 0.1475 + 0.0022j

) ������ 
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��
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�� 7�*.� #������	�!� �� 
�� 32 �������� ���� ω = 1.1�

��
 ��"	�
 B�? ���
���� 	�
 ��
�	��
�
 
�	 �	$������ ���� 	�
 ��	���
 
� 	� ���������� ω =

1.1�

���4���� �� "���
�� � )
�������� ω = 1.2�

5	 
�$����� ����	��� 
� �>�����
 v1 =
n1

d1
= 6.1015 + 5.2779j � v2 =

n2

d1
= 6.5135 +

6.8573j 
� ���
�
��� ���� �	 �	������ ������	� ,�� ����� 	�
 �������
 B�� � B�� ���
� ��	����
��

,�� ������ 
� �	�$�� 	�
 �����
 v2suc =
n2

d2λ
= 8.5560j; v1pred =

n1

d4λ
= 2.9559 + 3.2369j�



�-� ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

v1 − v2 ��	����

��
��	� 5��������) 	�
	

����

v1 −2.8422 + 2.9830j Kn1(jw) = 0.1555 + 0.9878j
v2 −0.9808 + 2.4599j Kn2(jw) = 0.7505 + 0.9878j

v2succ 3.0420j Kn3(jw) = 0.7505 + 1.2895j
v1pred −3.8291 + 3.7385j Kn4(jw) = 0.1556 + 1.2895j
φ(n1) 81.05 Kd1(jw) = 0.1475− 0.1927j
n1 0.1556 + 0.9878j Kd2(jw) = 0.3247− 0.1927j
d1 0.1475− 0.1927j Kd3(jw) = 0.3247 + 0.0022j
d2 0.3247− 0.1927j Kd4(jw) = 0.1475 + 0.0022j
n4λ 0.1556 + 1.2895j
n2λ 0.5862 + 0.9878j

v3 v4 v5 v6 v7
0.4996 + 3.0386j 2.3317 + 3.0261j 5.1859 + 6.6181j 5.2164 + 8.6623j −3.8291 + 3.7385j

4�� 3 4 3 4 3
vxpred 3.0420j 0.4996 + 3.0386j 2.3317 + 3.0261j 5.1859 + 6.6181j 8.7404j
vxsucc 2.3317 + 3.0261j 5.1859 + 6.6181j 5.2164 + 8.6623j 8.7404j −2.8422 + 2.9830j
φ(Ax) 8.95 127.23 127.23 210.20 186.88
#� )��� C3.3 C4.3 C3.4 C4.4 C3.2
nx −0.1555 + 0.9878j 0.7505 + 0.9878j 0.7505 + 0.9878j 0.7505 + 1.2895j 0.1556 + 1.2895j
dx 0.3247 + 0.0022j 0.3247 + 0.0022j 0.1475 + 0.0022j 0.1475 + 0.0022j 0.1475− 0.1927j

vx
n1

d3

n2

d3

n2

d4

n3

d4

n4

d4

4��
� 7�.� ���

����� ��
 �
������� ���� 	��&
��� �� )�
���� � 0��	
��	�� w = 1.1�

)�	����
� 	� �����	�����'� ���� �� 
�$����� -	��� B��. 
� �"������ 	�
 
�$������
 
���
�

ϕ (d1) = 360− arg (v2 − v1) = 284.62◦

d1 = cos (ϕ (d1)) + j sin (ϕ (d1)) = 0.2524− 0.9676j

n1 = v1d1 = 6.6471− 4.5717j; n2 = v2d1 = 8.2793− 4.5717j;

d2λ =
n2

v2suc
= −0.5343− 0.9677j; d4λ =

n1

v1pred
= 0.2524− 1.8230j

5������
� ��
�
 	�
 
���
 �>�����
 
�� �
�$��"	�
�

�� J>����� v3 = vx =
nx

dx
= −3.0339 + 6.1294j� 5������
 vxpred =

nx

dxpred
= 8.5560j�

5
��
 
�� 	�
 �>�����
 
� �� ����� � ���
� ��	����
� �	 ������� B�� ��� 	�
 ��	���
 
�

vxsucc = −2.2110 + 5.1007j � ϕ (Sx) = arg (vxsucc − vx) = 308.66◦�

&�
� ��

�� ���
���'� &��� �� 
� 
���
����� arg

(
vx
v2

)
= 69.86◦ �= arg (d1) + ϕ (Sx) − 90◦ =

143.28◦�

&�
� ��

�� ���
���'� &��� �� 
� 
���
����� arg

(
vx
v1

)
= 75.47◦ �= arg (d1) + ϕ (Sx) = 233.28◦



-� 	!(������ "��� !� ������%������� �-	

&�
� ?�

�� ���
���'� &��? 
� 
���
���� tan (arg (vx)− ϕ (Sx) + 180◦)n2R = −1.8087 > n2I =

−4.5717 � �
���
 dx =
n2R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]

vx
= −0.7740 −

0.9676j 
���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��� ��
� ?� dx = d2.�

(d1R = 0.2524 > d2λR = −0.5343 y d1I = −0.9676 > d4λI = −1.8230)

(dxI = d1I = −0.9676 y dxR = −0.7740 ≤ d1R = 0.2524)

5������
 nx = n3 = n2R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)] = 8.2793 − 1.8087j �

v3 = vx =
n3

d2
�

�� J>����� v4 = vx =
nx

dx
= −2.211 + 5.1007j� 5������
 vxpred =

nx

dxpred
= −3.0339 +

6.1294j� 5
��
 
�� 	�
 �>�����
 
� �� 
�$������ � 
� ��	��� �	 ������� B�� ��� 	�
 ��	���



� vxpred � ϕ (Sx) = arg (vx − vxpred) = 308.66◦

&�
� ��

�� ���
���'� &��� �� 
� 
���
����� arg

(
vx
v2

)
= 66.96◦ �= arg (d1) + ϕ (Sx) = 233.28◦�

&�
� ��

�� ���
���'� &��� �� 
� 
���
����� arg

(
vx
v1

)
= 72.57◦ �= arg (d1) + ϕ (Sx) + 90◦ =

323.28◦�

&�
� ?�

�� ���
���'� &��? 
� 
���
����� tan (arg (vx)− ϕ (Sx) + 90◦)n2R = 30.4258◦ > n2I =

−4.5717 ���� �	 ��	�� 
� dx =
n2R [1 + j tan (arg (vx)− ϕ (Sx) + 90◦)]

vx
= 4.4292 −

3.5431j �� 
���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��� ��
� ?.�

(d1R = 0.2524 > d2λR = −0.5343 y d1I = −0.9676 > d4λI = −1.8230)

�����

(dxR = 4.4292 �= d1R = 0.2524) ⇒ dx �= d1 y dx �= d4

(dxI = −3.5431 �= d1I − 0.9676) ⇒ dx �= d2

(dxR = 4.4292>d1R = 0.2524 y dxI = −3.5431 < d1I = −0.9676) dx �= d3

&�
� B�



�-� ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

�� ���
���'� &��B 
� 
���
���� tan (arg (vx)− ϕ (Sx) + 180◦)n1R = −1.8088 > n1I =

−4.5717 � dx =
n1R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]

vx
= −0.7741 − 0.9676j


���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��� ��
� ?� dx = d2.�

(d1R = 0.2524 > d2λR = −0.5343 y d1I = −0.9676 > d4λI = −1.8230)

(dxI = d1I = −0.9676 y dxR = −0.7740 ≤ d1R = 0.2524)

5������
 nx = n4 = n1R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)] = 6.6471 − 1.8088j �

v4 = vx =
n4

d2
�

?� J>����� v5 = vx =
nx

dx
= −0.47099 + 3.4462j� 5������
 vxpred =

nx

dxpred
= −2.2110 +

5.1007j� 5
��
 
�� 	�
 �>�����
 
� �� ����� � ��� ����� ���
� ��	����
� �	 ������� B���

��� 	�
 ��	���
 
� vxsucc = 3.6463j � ϕ (Sx) = arg (vxsucc − vx) = 23.01◦�

&�
� ��

�� ���
���'� &��� �� 
� 
���
����� arg

(
vx
v2

)
= 51.31◦ �= arg (d1) + ϕ (Sx) − 90◦ =

217.63◦�

&�
� ��

�� ���
���'� &��� �� 
� 
���
����� arg

(
vx
v1

)
= 56.92◦ �= arg (d1) + ϕ (Sx) = 307.63◦

&�
� ?�

�� ���
���'� &��? 
� 
���
����� tan (arg (vx)− ϕ (Sx) + 180◦)n2R = 30.4087 > n2I =

−4.5717 ���� dx =
n2R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]

vx
= 8.3397 − 3.5422j ��


���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��� ��
� ?.�

(d1R = 0.2524 > d2λR = −0.5343 y d1I = −0.9676 > d4λI = −1.8230)

�����

(dxR = 8.3397 �= d1R = 0.2524) ⇒ dx �= d1 y dx �= d4

(dxI = −3.5422 �= d1I = −0.9676) ⇒ dx �= d2

(dxR = 8.3397>d1R = 0.2524 y dxI = −3.5422 < d1I = −0.9676) ⇒ dx �= d3

&�
� B�



-� 	!(������ "��� !� ������%������� �-�

�� ���
���'� &��B 
� 
���
����� tan (arg (vx)− ϕ (Sx) + 270◦)n1R = −1.8098 > n1I =

−4.5717 � dx =
n1R [1 + j tan (arg (vx)− ϕ (Sx) + 270◦)]

vx
= −0.7743 − 1.8230j


���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��� ��
� ?� dx = d3.�

(d1R = 0.2524 > d2λR = −0.5343 y d1I = −0.9676 > d4λI = −1.8230)

(dxR = −0.7743 < d1R = 0.2524 y dxI = −1.8230 < d1I = −0.9676)

5������
 nx = n4 = n1R [1 + j tan (arg (vx)− ϕ (Sx) + 270◦)] = 6.6471 − 1.8098j �

v5 = vx =
n4

d3
�

B� J>����� v6 = vx =
nx

dx
= 1.469 + 3.4428j� 5������
 vxpred =

nx

dxpred
= 3.6463j� 5
��
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� ��	����
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 ��	���



� vxsucc = 2.9559 + 3.2369j� ϕ (Sx) = arg (vxsucc − vx) = 352.12◦�

&�
� ��

�� ���
���'� &��� �� 
� 
���
����� arg

(
vx
v2

)
= 20.42◦ �= arg (d1) + ϕ (Sx) − 90◦ =

186.74◦

&�
� ��

�� ���
���'� &��� �� 
� 
���
����� arg

(
vx
v1

)
= 26.03◦ �= arg (d1) + ϕ (Sx) = 276.74◦

&�
� ?�

�� ���
���'� &��? 
� 
���
����� tan (arg (vx)− ϕ (Sx) + 180◦)n2R = 30.4240 > n2I =

−4.5717 ���� dx =
n2R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]

vx
= 8.3440 + 1.1554j ��


���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��� ��
� ?.�

(d1R = 0.2524 > d2λR = −0.5343 y d1I = −0.9676 > d4λI = −1.8230)

�����

(dxR = 8.3440 �= d1R = 0.2524) ⇒ dx �= d1 y dx �= d4

(dxI = −3.5422 �= d1I = 1.1554) ⇒ dx �= d2

(dxR = 8.3440>d1R = 0.2524 y dxI = 1.1554>d1I = −0.9676) ⇒ dx �= d3.

&�
� B�



�-1 ������$������ �� �������� �� ����
"����� %���� �� ����� "&
������

�� ���
���'� &��B 
� 
���
����� tan (arg (vx)− ϕ (Sx) + 270◦)n1R = −1.8089 >

n1I = −4.5717 � dx =
n1R [1 + j tan (arg (vx)− ϕ (Sx) + 270◦)]

vx
= 0.2524 − 1.8230j


���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��� ��
� ?� dx = d4.�

(d1R = 0.2524 > d2λR = −0.5343 y d1I = −0.9676 > d4λI = −1.8230)

(dxR = d1R = 0.2524 y dxI = −1.8230 < d1I = −0.9676) [dx = d4]

5������
 nx = n4 = n1R [1 + j tan (arg (vx)− ϕ (Sx) + 270◦)] = 6.6471 − 1.8089j �

v6 = vx =
n4

d4

A� J>����� v7 = vx =
nx

dx
= 2.9559 + 3.2369j� 5������
 vxpred =

nx

dxpred
= 1.4690 +

3.4428j� 5
��
 
�� 	�
 �>�����
 
� �� 
�$������ � ���
� ��	����
� �	 ������� B��� ���

	�
 ��	���
 
� vxpred � ϕ (Sx) = arg (vx − vxpred) = 352.12

&�
� ��

�� ���
���'� &��� �� 
� 
���
����� arg

(
vx
v2

)
= 1.13 �= arg (d1) + ϕ (Sx) = 276.74

&�
� ��

�� ���
���'� &��� 
� 
���
����� arg

(
vx
v1

)
= arg (d1)+ϕ (Sx)+90 = 6.74 � dx =

n1

vx
=

0.2524− 1.8230j 
���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��� ��
� ?� dx = d4.�

(d1R = 0.2524 > d2λR = −0.5343 y d1I = −0.9676 > d4λI = −1.8230)

(dxR = d1R = 0.2524 y dxI = −1.8230 < d1I = −0.9676) [dx = d4]

5������
 nx = n1 = 6.6471− 4.5717j@ v7 = vx =
n1

d4

5� ��
����� 	�
 ��	������
 �
�$��
�
 
���

v1 =
n1

d1
; v2 =

n2

d1
; v3 =

n3

d2
; v4 =

n4

d2
; v5 =

n4

d3
; v6 =

n4

d4
; v7 =

n1

d4

��
 ��	���
 �"����
�
 � ������ 
� 	� �����	�����'� 
���

d1 = 0.2524− 0.9676j;n1 = 6.6471− 4.5717j;n2 = 8.2793− 4.5717j



-� 	!(������ "��� !� ������%������� �-�

E � ������ 
� 	�
 �>�����
� ��	����
� �	 �	$������

v3 : n3 = 8.2793− 1.8087j; d2 = −0.7741− 0.9676j

v4 : n4 = 6.6471− 1.8087j; d2 = −0.7741− 0.9676j

v5 : n4 = 6.6471− 1.8087j; d3 = −0.7743− 1.8230j

v6 : n4 = 6.6471− 1.8087j; d4 = 0.2524− 1.8230j

v7 : n1 = 6.6471− 4.5717j; d4 = 0.2524− 1.8230j

5������


Kn1 (jω) = 6.6471− 4.5717j; Kn2 (jω) = 8.2793− 4.5717j

Kn3 (jω) = 8.2793− 1.8087j; Kn4 (jω) = 6.6471− 1.8087j

Kd1 (jω) = −0.7743− 1.8230j; Kd2 (jω) = 0.2524− 1.8230j

Kd3 (jω) = 0.2524− 0.9676j; Kd4 (jω) = −0.7743− 0.9676j
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v1 − v2 ��	����
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v1 6.1015 + 5.2779j Kn1(jw) = 6.6471− 4.5717j
v2 6.5135 + 6.8573j Kn2(jw) = 8.2793− 4.5717j

v2succ 8.5560j Kn3(jw) = 8.2793− 1.8087j
v1pred 2.9559 + 3.2369j Kn4(jw) = 6.6471− 1.8087j
ϕ(d1) 284.62 Kd1(jw) = −0.7743− 1.8230j
d1 0.2524− 0.9676j Kd2(jw) = 0.2524− 1.8230j
n1 6.6471− 4.5717j Kd3(jw) = 0.2524− 0.9676j
n2 8.2793− 4.5717j Kd4(jw) = −0.7743− 0.9676j
d4λ 0.2524− 1.8230j
d2λ −0.5343− 0.9677j

v3 v4 v5 v6 v7
−3.0339 + 6.1294j −2.211 + 5.1007j −0.4710 + 3.4462j −1.469 + 3.4428j 2.9559 + 3.2369j

4�� 2 1 2 2 1
vxpred 8.5560j −3.0339 + 6.1294j −2.211 + 5.1007j −3.6463j 1.4690 + 3.4428j
vxsucc −2.211 + 5.1007j −0.4710 + 3.4462j 3.6463j 2.9559 + 3.2369j 6.1015 + 5.2779j
ϕ(Sx) 308.66 308.66 23.01 352.12 352.12
#� )��� C2.3 C1.4 C2.4 C2.4 C1.2
dx −0.7741− 0.9676j −0.7741− 0.9676j −0.7743− 1.8230j 0.2524− 1.8230j 0.2524− 1.8230j
nx 8.2793− 1.8088j 6.6471− 1.8088j 6.6471− 1.8098j 6.6471− 1.8089j 6.6471− 4.5717j
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Gp (s) =
[10, 11]s3 + [7, 8]s2 + [6, 6.5]s+ [5, 7.5]

[0.75, 1.25]s3 + [2, 2.5]s2 + [1.5, 2]s+ [1, 1.5]

)�	����
� Gp (s = jω) �� ω = 1.0� ω = 1.1 � ω = 1.2 
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6A n2R = 0� n2I �= 0�

�A n2I = 0� n2R �= 0�

#A n1R = 0� n1I �= 0�
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�� arg

(
vx
v2

)
= arg (d1)+ϕ (Sx) -���
���'� &���. � �	 
�������
�� dx 
� vx 
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(
vx
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�������
��

dx 
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B� &���
� nx �= n1� nx �= n2� � nx �= n3� tan (arg (vx)− ϕ (Sx) + 180◦)n1R >

n1I -���
���'� &��B.� � �	 
�������
�� dx 
� vx 
��������
� ����
n1R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]

vx

���
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�������
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-	��� B��.� 
� � 
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� nx = n4 = n1R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]�
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� ����� S2 �� ����� ��
 �������� ��

) ���	�� n1 � n2� � arg (n2 − n1) = 0◦�
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(
n3

d∗x

)
= arg

(
n2

dx
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arg (n3) = arg (n2) + 90◦� nx = n3 )���:	� 
� 	����	�!� #*�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 90◦ − arg (n2) + arg (d1)− 90◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .

#��� arg (n3) = ± arg (n2)� dx �� 
�� ��

	�!�� d∗x �� 
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vx
� �����	�� Sx =

S1

d∗x
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S1 �� ����� ��
 �������� �� ) ���	�� n4 � n1� arg (n1 − n4) = 270◦ @��� 
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= arg

(
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arg (n1) = arg (n2) + 270◦� nx = n1 )���:	� 
� 	����	�!� #*�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 270◦ − arg (n2) + arg (d1)− 270◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .

#��� arg (n2) = ±90◦� ���?� 
� �������� arg (n1) = 0◦ � arg (n1) = 180◦� 
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.� ⇐| (� nx = n3 �����	�� Sx =
S3

dx
� ����� S3 �� ����� ��
 �������� �� ) ���	�� n2 � n3�

)���:	������ �
� arg (n3 − n2) = 90◦ @��� 
� �����
���	�!�A� #��� n3 = n2
vx

vxpred
�

dx =
n3
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vxpred
�
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	�!� dx =
nx

vx
� nx = n3 = n2

vx
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nx = n4�

(�� d∗x �
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vx
� �����	�� Sx =
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� ����� S4 ��
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7�* arg (d∗x) = 180◦ − ϕ (Sx) = arg (dx) + 90◦�

#��� vx �� �
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(
n4

d∗x
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= arg

(
n3

dx
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� �� ����� �� ���
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arg (n2) = ± arg (n3) = ±90◦� � ���?� 
� �������� arg (n4) = 0◦ � arg (n4) = 180◦� 
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v1 =
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 v2 =

n2
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� v2suc =
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d2λ
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 v1pred =
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� �>�����
 vxpred =
nxpred

dx
� vx =

nx
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��
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�� arg

(
vx
v2

)
= arg (d1)+ϕ (Sx) -���
���'� &���. � �	 
�������
�� dx 
� vx 
��������
�

����
n2

vx

���
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�������
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� � 
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� nx = n2 � ��

���
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�� ���� ��	������ �
�$��
��

�� &���
� nx �= n2� arg

(
vx
v1

)
= arg (d1)+ϕ (Sx)+90◦ -���
���'� &���. � �	 
�������
��

dx 
� vx 
��������
� ����
n1

vx
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?� &���
� nx �= n1 � nx �= n2� tan (arg (vx)− ϕ (Sx) + 90◦)n2R > n2I -���
���'� &��?.

� �	 
�������
�� dx 
� vx 
��������
� ����
n2R [1 + j tan (arg (vx)− ϕ (Sx) + 90◦)]
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�������
�� -	��� B��.� 
� � 
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� nx = n3 =

n2R [1 + j tan (arg (vx)− ϕ (Sx) + 90◦)] � �� ���
� 
�� ���� ��	������ �
�$��
��

B� &���
� nx �= n1� nx �= n2� � nx �= n3� tan (arg (vx)− ϕ (Sx) + 180◦)n1R >

n1I -���
���'� &��B.� � �	 
�������
�� dx 
� vx 
��������
� ����
n1R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]

vx

���
���� 	� ���
���'� 
�	 
�������
��

-	��� B��.� 
� � 
'	� 
� nx = n4 = n1R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]�

������
�����9

6 ������ ��
 �������� 	���
��� S1� ��
�	���� 
� �����
���	�!� @
��� 7�*A �� ��������


�� )�
���� �� d1� n1 = v1d1� n2 = v2d1� d2λ =
n2

v2suc
� d4λ =

n1

v1pred
� �
 )�
�� �� vx ��

	���	����

*� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�*�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #*�* � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n2

vx
, nx = n2, ��

?��	�� >!���� �
� 
� 	����	�!� #*�* �� �
��� 	
��
�� ����� � 	
���� �A nx = n3� �A

nx = n4 � 	A nx = n1� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n2

vx
� )���:	���� 
� 	����	�!� #*�* �


� 	����	�!� ��
 ������������ 6����� Sx =
S2

dx
� ����� S2 �� ����� ��
 �������� ��

) ���	�� n1 � n2� � arg (n2 − n1) = 0◦�


A (�� d∗x �
 ����������� �� vx ����������� 	���
n3

vx
� �����	�� Sx =

S3

d∗x
�����

S3 �� ����� ��
 �������� �� ) ���	�� n2 � n3� arg (n3 − n2) = 90◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 90◦ − ϕ (Sx)� #��� vx ��

�
 ����� ) ���	�� �����	�� arg

(
n3

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�

arg (n3) = arg (n2) + 90◦� nx = n3 )���:	� 
� 	����	�!� #*�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 90◦ − arg (n2) + arg (d1)− 90◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .



2�� 4� n2I = 03 n2R �= 0� �'�

(�� α = arg (n2)� α = 0◦ � α = 180◦� �����	�� arg (n3) = 90◦ � arg (n3) = 270◦�


� �
� �� �� �����
� ����
� n3R = n2R �= 0� ;�� ������ dx �� 
�� ��

	�!�� d∗x

�� 
� �� � nx = n3 �� �� 
�� ��

	�!��

	A = ��� �
 ����� 	��� �� �
 ������� 7�*�

�A (�� d∗x �
 ����������� �� vx ����������� 	���
n1

vx
� �����	�� Sx =

S1

d∗x
� �����

S1 �� ����� ��
 �������� �� ) ���	�� n4 � n1� arg (n1 − n4) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 270◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n1

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�

arg (n1) = arg (n2) + 270◦� nx = n1 )���:	� 
� 	����	�!� #*�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 270◦ − arg (n2) + arg (d1)− 270◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .

(�� α = arg (n2)� α = 0◦ � α = 180◦� �����	�� arg (n1) = 270 � arg (n1) = 90◦�


� �
� �� �� �����
� ����
� n1I = n2I = 0� ;�� ������ dx �� 
�� ��

	�!�� d∗x ��


� �� � nx = n1 �� �� 
�� ��

	�!��

+� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�*�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #*�+ � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n1

vx
� nx = n1� ��

?��	�� >!���� �
� �� nx �= n2� 
� 	����	�!� #*�+ �� �
��� 	
��
�� ����� � 	
���� �A

nx = n3 � �A nx = n4� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n1

vx
� )���:	���� 
� 	����	�!� #*�+ �


� 	����	�!� ��
 ������������ 6����� Sx =
S1

dx
� ����� S1 �� ����� ��
 �������� ��

) ���	�� n4 � n1� � arg (n1 − n4) = 270◦.


A = ��� �
 ����� 	��� �� �
 ������� 7�*�

	A (�� d∗x �
 ����������� �� vx ����������� 	���
n4

d∗x
� �����	�� Sx =

S4

d∗x
� �����

S4 �� ����� ��
 �������� �� ) ���	�� n3 � n4� arg (n4 − n3) = 180◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 180◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	� �����	�� arg

(
n4

d∗x

)
= arg

(
n1

dx

)
� �� ����� �� ���
	� �
�



�'- ����� #�
������
���

arg (n4) = arg (n1) + 270◦� nx = n4 )���:	� 
� 	����	�!� #*�+� �
���� �
�

arg

(
vx
v1

)
= arg (n1) + 270◦ − arg (n1) + arg (d1)− 180◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) + 90◦.

(�� α = arg (n1)� α = 0◦ � α = 180◦� �����	�� arg (n4) = 270◦ � arg (n4) = 90◦�

���� �� �� �����
�� ����
� n4I �= 0 �
���� �
� n1I = 0� ;�� ������ dx �� 
��

��

	�!�� d∗x �� 
� �� � nx = n4 �� �� 
�� ��

	�!��

.� = ��� �
 ����� 	��� �� �
 ������� 7�*�

7� = ��� �
 ����� 	��� �� �
 ������� 7�*�

�

%��� �� n1R = 0* n1I �= 0�

2� ���
�	�!� �� �
����� �� 
� :�
�� ,�.�

9��
�� ,�.� ��	����

� 	�� n1R = 0� n1I �= 0�

2��
��� ��	

�,��
���
�� ���� S1 �� 
�$����� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
 ��� �>�����


v1 =
n1

d1
� v2 =

n2

d1
� �	 ���� 
� 	� �������� 
���
�� � S1� 
� �>�����
 v2 =

n2

d1
� v2suc =

n2

d2λ
� �

�	 ���� 
� 	� �������� ���
���
�� � S1� ��� �>�����
 v1pred =
n1

d4λ
� v1 =

n1

d1
� ��
�
 �� 
����
�

����1������� ��� Sx �� 
�$����� 
� 	� �������� 
� �>�����
 vxpred =
nxpred

dx
� vx =

nx

dx
��



2� �� n1R = 03 n1I �= 0� �''


����
� ����1������� 
��
� vx �
 �� �>����� ������������� � 	� �����
����'� 
�	 
�$����� Sx

��� �� ���� 
� 	� �������� -($��� B�H.� 5������
�

�� arg

(
vx
v2

)
= arg (d1)+ϕ (Sx) -���
���'� &���. � �	 
�������
�� dx 
� vx 
��������
�

����
n2

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	� 
� nx = n2 � ��

���
� 
�� ���� ��	������ �
�$��
��

�� &���
� nx �= n2� arg

(
vx
v1

)
= arg (d1)+ϕ (Sx)+90◦ -���
���'� &���. � �	 
�������
��

dx 
� vx 
��������
� ����
n1

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� �


'	� 
� nx = n1 � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� nx �= n1 � nx �= n2� tan (arg (vx)− ϕ (Sx) + 90◦)n2R > n2I -���
���'� &��?.

� �	 
�������
�� dx 
� vx 
��������
� ����
n2R [1 + j tan (arg (vx)− ϕ (Sx) + 90◦)]

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	� 
� nx = n3 =

n2R [1 + j tan (arg (vx)− ϕ (Sx) + 90◦)] � �� ���
� 
�� ���� ��	������ �
�$��
��

B� �� nx �= n2� nx �= n1 � nx �= n3 �������
 nx = n4�

������
�����9
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��� S1� ��
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�� )�
���� �� d1� n1 = v1d1� n2 = v2d1� d2λ =
n2

v2suc
� d4λ =

n1

v1pred
� �
 )�
�� �� vx ��

	���	����

*� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�*�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #*�* � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n2

vx
, nx = n2, ��

?��	�� >!���� �
� 
� 	����	�!� #*�* �� �
��� 	
��
�� ����� � 	
���� �A nx = n3� �A

nx = n4 � 	A nx = n1� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n2

vx
� )���:	���� 
� 	����	�!� #*�* �


� 	����	�!� ��
 ������������ 6����� Sx =
S2

dx
� ����� S2 �� ����� ��
 �������� ��

) ���	�� n1 � n2� � arg (n2 − n1) = 0◦�


A = ��� �
 ����� 	��� �� �
 ������� 7�*�

	A = ��� �
 ����� 	��� �� �
 ������� 7�*�



�00 ����� #�
������
���

�A (�� d∗x �
 ����������� �� vx ����������� 	���
n1

vx
� �����	�� Sx =

S1

d∗x
� �����

S1 �� ����� ��
 �������� �� ) ���	�� n4 � n1� arg (n1 − n4) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 270◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n1

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�

arg (n1) = arg (n2) + 270◦� nx = n1 )���:	� 
� 	����	�!� #*�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 270◦ − arg (n2) + arg (d1)− 270◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .

(�� α = arg (n1)� α = 90◦ � α = 270◦� �����	�� arg (n2) = 180◦ � arg (n2) = 0◦�


� �
� �� �� �����
� ����
� n2I = n1I �= 0� ;�� ����� dx �� 
�� ��

	�!�� d∗x ��


� ��� � nx = n1 �� �� 
�� ��

	�!��

+� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�*�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #*�+ � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n1

vx
� nx = n1� ��

?��	�� >!���� �
� �� nx �= n2� 
� 	����	�!� #*�+ �� �
��� 	
��
�� ����� � 	
���� �A

nx = n3 � �A nx = n4� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n1

vx
� )���:	���� 
� 	����	�!� #*�+ �


� 	����	�!� ��
 ������������ 6����� Sx =
S1

dx
� ����� S1 �� ����� ��
 �������� ��

) ���	�� n4 � n1� � arg (n1 − n4) = 270◦.


A = ��� �
 ����� 	��� �� �
 ������� 7�*�

	A (�� d∗x �
 ����������� �� vx ����������� 	���
n4

d∗x
� �����	�� Sx =

S4

d∗x
� �����

S4 �� ����� ��
 �������� �� ) ���	�� n3 � n4� arg (n4 − n3) = 180◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 180◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	� �����	�� arg

(
n4

d∗x

)
= arg

(
n1

dx

)
� �� ����� �� ���
	� �
�

arg (n4) = arg (n1) + 270◦� nx = n4 )���:	� 
� 	����	�!� #*�+� �
���� �
�

arg

(
vx
v1

)
= arg (n1) + 270◦ − arg (n1) + arg (d1)− 180◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) + 90◦.

(�� α = arg (n1)� α = 90◦ � α = 270◦� �����	�� arg (n4) = 0 � arg (n4) = 180◦�



2�- 	� n2R = 03 n2I �= 0� �0�

;�� ����� n4 = (0, 0) �� �
��� ��� 
�� ��

	�!�� �
�� �
 ) ���	� vx �� �� 	����

.� = ��� �
 ����� 	��� �� �
 ������� 7�*�

7� (� nx �= n2� nx �= n1 � nx �= n3 �����	�� nx = n4�

�

2�� �������� ���
������ ��� ���
���� �
 ������� 7�+ ����� Sx �� 
� �������� �� ) ���	��

vx =
nx

dx
� vxsuc =

nxsucc

dx
� �� ������� ������������ � vx �������	����� � 
� ��	�C���������

%�!� )� n2R = 0* n2I �= 0�

2��
��� ���

�����
�� ���� S1 �� 
�$����� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
� ��� �>�����


v1 =
n1

d1
� v2 =

n2

d1
� �	 ���� 
� 	� �������� 
���
�� � S1� 
� �>�����
 v2 =

n2

d1
� v2suc =

n2

d2λ
� �

�	 ���� 
� 	� �������� ���
���
�� � S1 ��� �>�����
 v1pred =
n1

d4λ
� v1 =

n1

d1
� ��
�
 �� 
����
�

����1������� ��� Sx �� 
�$����� 
� 	� �������� 
� �>�����
 vx =
nx

dx
� vxsuc =

nxsuc

dx
�� 
����
�

����1������� 
��
� vx �
 �� �>����� ������������� � 	� �����
����'� 
� �� ���� 
� 	� ��������

��� �	 
�$����� Sx� 5������
�

�� arg

(
vx
v2

)
= arg (d1) + ϕ (Sx) − 90◦ -���
���'� &���. � �	 
�������
�� dx 
� vx


��������
� ����
n2

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	� 
�

nx = n2 � �� ���
� 
�� ���� ��	������ �
�$��
��

�� &���
� nx �= n2� arg

(
vx
v1

)
= arg (d1) + ϕ (Sx) -���
���'� &���. � �	 
�������
�� dx


� vx 
��������
� ����
n1

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	�


� nx = n1 � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� nx �= n1� nx �= n2� � tan (arg (vx)− ϕ (Sx) + 270◦)n1R > n1I -���
���'� &��B.

� �	 
�������
�� dx 
� vx 
��������
� ����
n1R [1 + j tan (arg (vx)− ϕ (Sx) + 270◦)]

vx

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	� 
� nx = n4 =

n1R [1 + j tan (arg (vx)− ϕ (Sx) + 270◦)] � �� ���
� 
�� ���� ��	������ �
�$��
��

B� �� nx �= n2� nx �= n1 � nx �= n4 �������
 nx = n3�
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���
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�� )�
���� �� d1� n1 = v1d1� n2 = v2d1� d2λ =
n2

v2suc
� d4λ =

n1

v1pred
� �
 )�
�� �� vx ��

	���	����

*� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�+�
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vx
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��
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� 	����	�!� ��
 ������������ 6����� Sx =
S2

dx
� ����� S2 �� ����� ��
 �������� ��

) ���	�� n2 � n3� � arg (n3 − n2) = 90◦.


A (�� d∗x �
 ����������� �� vx ����������� 	���
n3

vx
� �����	�� Sx =

S3

d∗x
� �����

S3 �� ����� ��
 �������� �� ) ���	�� n3 � n4� arg (n4 − n3) = 180◦ @��� 
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�����
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�� �
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d∗x
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= arg

(
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)
� �� ����� �� ���
	� �
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arg (n3) = arg (n2) + 90◦� nx = n3 )���:	� 
� 	����	�!� #+�*� �
���� �
�

arg

(
vx
v2

)
= arg (n2) + 90◦ − arg (n2) + arg (d1)− 180◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx)− 90◦.

(�� α = arg (n2)� α = 90◦ � α = 270◦� �����	�� arg (n3) = 180◦ � arg (n3) = 0◦�


� �
� �� �� �����
� ����
� n3R = n2R� ;�� ������ dx �� 
�� ��

	�!�� d∗x �� 
�
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�� ��

	�!��
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)
= arg (n1)− arg (n2) + arg (d1)− arg(d∗x)

= 270◦ + arg (d1) + ϕ (Sx) = arg (d1) + ϕ (Sx)− 90◦.

(�� α = arg (n2)� α = 90◦ � α = 270◦� �����	�� arg (n1) = 0 � arg (n1) = 180◦�
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� �� �� �����
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π
2 dx =

ρdxI − jρdxR�
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	� �
�
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= arg
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�
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)
= arg (n2) + 90◦ − arg (n2) + arg (d1)− 180◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx)− 90◦.
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= 270◦ + arg (d1) + ϕ (Sx) = arg (d1) + ϕ (Sx)− 90◦.

(�� α = arg (n2)� α = 0◦ � α = 180◦� �����	�� arg (n1) = 270◦ � arg (n1) = 90◦�
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�	 
�������
�� -	��� B��.� 
� � 
'	� 
� nx = n3 =

n2R [1 + j tan (arg (vx)− ϕ (Sx) + 180◦)]� � �� ���
� 
�� ���� ��	������ �
�$��
��

B� &���
� nx �= n1� nx �= n2 � nx �= n3� �	 
�������
�� dx 
� vx 
��������
� ����
n1

vxsuc

���
���� 	� ���
���'� 
�	 
�������
�� -	��� B��.� 
� � 
'	� 
� nx = n4 = n1

vx
vxsuc

�

������
�����9

6 ������ ��
 �������� 	���
��� S1� ��
�	���� 
� �����
���	�!� @
��� 7�*A �� ��������


�� )�
���� �� d1� n1 = v1d1� n2 = v2d1� d2λ =
n2

v2suc
� d4λ =

n1

v1pred
� �
 )�
�� �� vx ��

	���	����

*� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�+�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #+�* � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n2

vx
� nx = n2� ��

?��	�� >!���� �
� 
� 	����	�!� #+�* �� �
��� 	
��
�� ����� � 	
���� �A nx = n3� �A



�0- ����� #�
������
���

nx = n4 � 	A nx = n1� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n2

vx
� )���:	���� 
� 	����	�!� #+�* �


� 	����	�!� ��
 ������������ 6����� Sx =
S2

dx
� ����� S2 �� ����� ��
 �������� ��

) ���	�� n2 � n3� � arg (n3 − n2) = 90◦.


A = ��� �
 ����� 	��� �� �
 ������� 7�+�

	A = ��� �
 ����� 	��� �� �
 ������� 7�+�

�A (�� d∗x �
 ����������� �� vx ����������� 	���
n1

vx
� �����	�� Sx =

S1

d∗x
�

����� S1 �� ����� ��
 �������� �� ) ���	�� n2 � n1� arg (n2 − n1) = 0◦ @���


� �����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = −ϕ (Sx)� #��� vx ��

�
 ����� ) ���	�� �����	�� arg

(
n1

d∗x

)
= arg

(
n2

dx

)
� �� ����� �� ���
	� �
�

arg (n1) = arg (n2) + 270◦� nx = n1 )���:	� 
� 	����	�!� #+�*� �
���� �
�

arg

(
vx
v2

)
= arg (n1)− arg (n2) + arg (d1)− arg(d∗x)

= 270◦ + arg (d1) + ϕ (Sx) = arg (d1) + ϕ (Sx)− 90◦.

(�� α = arg (n1)� α = 90◦ � α = 270◦� �����	�� arg (n2) = 180◦ � arg (n2) = 0◦�


� �
� �� �� �����
� ����
� n2I = n1I �= 0� ;�� ����� dx �� 
�� ��

	�!�� d∗x ��


� ��� � nx = n1 �� �� 
�� ��

	�!��

+� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�+�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #+�+ � 
�

	����	�!� ��
 ����������� �� �����0�	��� �����	�� 
� ��

	�!� dx =
n1

vx
� nx = n1� ��

?��	�� >!���� �
� �� nx �= n2� 
� 	����	�!� #+�+ �� �
��� 	
��
�� ����� � 	
���� �A

nx = n3 � �A nx = n4� � �
� �� 	��� 	���� �
 )�
�� ��
 ����������� dx �����������

)���:	� 
� 	����	�!� ��
 ������������

(�� dx �
 ����������� �� vx ����������� 	���
n1

vx
� )���:	���� 
� 	����	�!� #+�+ �


� 	����	�!� ��
 ������������ 6����� Sx =
S1

dx
, ����� S1 �� ����� ��
 �������� ��

) ���	�� n1 � n2� � arg (n2 − n1) = 0◦.


A = ��� �
 ����� 	��� �� �
 ������� 7�+�

	A (�� d∗x �
 ����������� �� vx ����������� 	���
n4

d∗x
� �����	�� Sx =

S4

d∗x
� �����

S4 �� ����� ��
 �������� �� ) ���	�� n4 � n1� arg (n1 − n4) = 270◦ @��� 
�
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�����
���	�!�A� � ��� 
� �������	�!� 7�* arg (d∗x) = 270◦ − ϕ (Sx)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n4

d∗x

)
= arg

(
n1

dx

)
� �� ����� �� ���
	� �
�

arg (n4) = arg (n1) + 270◦� nx = n4 )���:	� 
� 	����	�!� #+�+� �
���� �
�

arg

(
vx
v1

)
= arg (n1) + 270◦ − arg (n1) + arg (d1)− 270◦ + ϕ (Sx)

= arg (d1) + ϕ (Sx) .

(�� α = arg (n1)� α = 90◦ � α = 270◦� �����	�� arg (n4) = 0◦ � arg (n3) = 180◦�


� �
� �� �� �����
� ����
� n4R = n1R = 0 � ;�� ������ dx �� 
�� ��

	�!�� d∗x

�� 
� �� � nx = n4 �� �� 
�� ��

	�!��

.� = ��� �
 ����� 	��� �� �
 ������� 7�+�

7� ⇐| (� nx = n4 �����	�� Sx =
S4

dx
� ����� S4 �� ����� ��
 �������� �� ) ���	�� n4 � n1�

)���:	������ �
� arg (n1 − n4) = 270◦ @��� 
� �����
���	�!�A� #��� n4 = n1
vx

vxsuc
� dx =

n4

vx
� �
����
����� �� ����� �
� dx =

n1

vxsuc
�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� dx =
n1

vxsuc
)���:	� 
�

	����	�!� ��
 ������������ �����	�� nx = n4 = n1
vx

vxsuc
� 
� 	
�
 �� �)�������

�

2�� �������� ����� ��
� ����������� ������ �
 	��� �� 
� �������� 	���
��� �� 
�

	
�������� �� ���
����� �� 	���������� 
� ���
�	�!� �� 
� ��	� 	���
��� �� 
� 	
��������

� 
�� 	���� �� 
�� �
� 
� �����
���	�!� ��
�	��� ��� ��
 �
��

6A d2R = 0� d2I �= 0�

�A d2I = 0� d2R �= 0�

#A d1R = 0� d1I �= 0�

%�-� )� d2R = 0* d2I �= 0�

2� ���
�	�!� �� �
����� �� 
� :�
�� ,�7�



��0 ����� #�
������
���

9��
�� ,�7� ��	����

� 	�� d2R = 0� d2I �= 0�

2��
��� ���

�,��
���
�� ���� A1 �� ���� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
 ��� �>�����


v1 =
n1

d1
� v2 =

n1

d2
� �	 
�$����� 
� 	� �������� 
���
�� � A1� 
� �>�����
 v2 =

n1

d2
� v2suc =

n2λ

d2
�

� �	 
�$����� 
� 	� �������� ���
���
�� � A1� ��� �>�����
 v1pred =
n4λ

d1
� v1 =

n1

d1
� ��
�
 ��


����
� ����1������� ��� Ax �� ���� 
� 	� �������� 
� �>�����
 vxpred =
nx

dxpred
� vx =

nx

dx
��


����
� ����1������� 
��
� vx =
nx

dx
�
 �� �>����� ������������� � 	� �����
����'� 
�	 ���� Ax

��� �� 
�$����� 
� 	� ��������� 5������
�

�� arg

(
v2
vx

)
= arg (n1) + φ (Ax) -���
���'� &?��. � �	 ������
�� nx 
� vx 
��������
�

���� d2vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
�	� 
� dx = d2 � ��

���
� 
�� ���� ��	������ �
�$��
��

�� &���
� dx �= d2� arg

(
v1
vx

)
= arg (n1) +φ (Ax)+ 90

◦
-���
���'� &?��. � �	 ������
��

nx 
� vx 
��������
� ���� d1vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� �


�	� 
� dx = d1 � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� dx �= d1 � dx �= d2� �	 ������
�� nx 
� vx 
��������
� ���� d2vxpred 
���
����

	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
'	� 
� dx = d3 = d2
vxpred
vx

� � �� ���
� 
��

���� ��	������ �
�$��
��

B� &���
� dx �= d1� dx �= d2� � dx �= d3� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d1R >

d1I -���
���'� &?�B.� � �	 ������
�� nx 
� vx 
��������
� ����

d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d4 = d1R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

))
�
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6 ������ ��
 ��	� 	���
��� A1� ��
�	���� 
� �����
���	�!� @
��� 7�.A �� �������� 
��

)�
���� �� n1� d1 =
n1

v1
� d2 =

n1

v2
� n4λ = d1v1pred � n2λ = d2v2suc� �
 )�
�� �� vx �� 	���	����

*� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�.�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #.�* � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d2vx� dx = d2� ��

?��	�� >!���� �
� 
� 	����	�!� #.�* �� �
��� 	
��
�� ����� � 	
���� �A dx = d3�

�A dx = d4 � 	A dx = d1� � �
� �� 	��� 	���� �
 )�
�� ��
 �
������� nx �����������

)���:	� 
� 	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d2vx� )���:	���� 
� 	����	�!� #.�* �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S2

� ����� S2 �� ����� ��
 �������� ��

) ���	�� d1 � d2� � arg (d2 − d1) = 0◦�


A (�� n∗
x �
 �
������� �� vx ����������� 	��� d3vx� �����	�� Ax =

n∗
x

S3

� �����

S3 �� ����� ��
 �������� �� ) ���	�� d2 � d3� arg (d3 − d2) = 90◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 90◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d3

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�

arg (d3) = arg (d2) + 90◦. dx = d3 )���:	� 
� 	����	�!� #.�*� �
���� �
�

arg

(
v2
vx

)
= arg (n1) + φ (Ax)− 90◦ + arg (d2) + 90◦ − arg (d2)

= arg (n1) + φ (Ax) .

#��� arg (d3) = ± arg (d2)� nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d3 �� �� 
��

��

	�!��

	A = ��� �
 ����� 	��� �� �
 ������� 7�.�

�A (�� n∗
x �
 �
������� �� vx ����������� 	��� d1vx� �����	�� Ax =

n∗
x

S1
� �����

S1 �� ����� ��
 �������� �� ) ���	�� d4 � d1� arg (d4 − d1) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 270◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d1

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�

arg (d1) = arg (d2) + 270◦. dx = d1 )���:	� 
� 	����	�!� #.�*� �
���� �
�

arg

(
v2
vx

)
= arg(n1)− 270◦ + φ(Ax) + arg(d2) + 270◦ − arg(d2)

= arg(n1) + φ(Ax).



��� ����� #�
������
���

#��� arg (d2) = ±90◦� ���?� 
� �������� arg (d1) = 0◦ � arg (d1) = 180◦� 
�

	
�
 �� �� �����
�� ;�� ������ nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d1 �� ��


�� ��

	�!��

+� = ��� �
 ����� 	��� �� �
 ������� 7�.�

.� ⇐| (� dx = d3 �����	�� Ax =
nx

S3
� ����� S3 �� ����� ��
 �������� �� ) ���	�� d2 � d3�

)���:	������ �
� arg (d3 − d2) = 90◦ @��� 
� �����
���	�!�A� #��� d3 = d2
vxpred
vx

�

nx = n3 = d3vx� �
����
����� �� ����� �
� nx = d2vxpred�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� nx = d2vxpred � )���:	�


� 	����	�!� ��
 �
�������� �����	�� 
� ��

	�!� nx = dxvx� dx = d3 = d2
vxpred
vx

�

�� ?��	�� >!���� �
� �� dx �= d2 � dx �= d1� 
� ��

	�!� �� ������ 	
��
�� 	
����

dx = d4�

(�� n∗
x �
 �
������� �� vx ����������� 	��� d4vx� �����	�� Ax =

n∗
x

S4

� ����� S4

�� ����� ��
 �������� �� ) ���	�� d3 � d4� arg (d4 − d3) = 180◦� � ��� 
� �������	�!�

7�+ arg (n∗
x) = 180◦ − φ (Ax) = arg (nx) + 90◦�

#��� vx �� �
 ����� ) ���	�� arg

(
nx

d3

)
= arg

(
n∗
x

d4

)
� �� ����� �� ���
	� �
�

arg (d4) = arg (d3) + 90◦� ;�� 
� �����
���	�!�� 	
���� d2R = 0 �����	�� d3R = 0�

;�� ������ �
 �������� �� ) ���	�� d2 � d3 ���� �� �
 �&� ����������� )���:	������

�
� arg (d2) = ± arg (d3) = ±90◦� � ���?� 
� �������� arg (d4) = 0◦ � arg (d4) =

180◦� 
� 	
�
 �� �� �����
� �
�� d3I = d4I � 
� �
� ���
�	���� �
� d3 = (0, 0)� ����

(0, 0) /∈ Dp(s,b) ���?� �
 �
����������� ���
����� �� 
� ��		�!� .�*� ;�� ������ nx ��


�� ��

	�!�� n∗
x �� 
� �� � dx = d1 �� �� 
�� ��

	�!��

7� = ��� �
 ����� 	��� �� �
 ������� 7�.�

�

%�.� +� d2I = 0* d2R �= 0�

2� ���
�	�!� �� �
����� �� 
� :�
�� ,�,�

2��
��� ��-

�,��
���
�� ���� A1 �� ���� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
 ��� �>�����


v1 =
n1

d1
� v2 =

n1

d2
� �	 
�$����� 
� 	� �������� 
���
�� � A1� 
� �>�����
 v2 =

n1

d2
� v2suc =

n2λ

d2
�
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9��
�� ,�,� ��	����

� 	�� d2I = 0� d2R �= 0�

� �	 
�$����� 
� 	� �������� ���
���
�� � A1� ��� �>�����
 v1pred =
n4λ

d1
� v1 =

n1

d1
� ��
�
 ��


����
� ����1������� ��� Ax �� ���� 
� 	� �������� 
� �>�����
 vxpred =
nx

dxpred
� vx =

nx

dx
��


����
� ����1������� 
��
� vx =
nx

dx
�
 �� �>����� ������������� � 	� �����
����'� 
�	 ���� Ax

��� �� 
�$����� 
� 	� ��������� 5������
�

�� arg

(
v2
vx

)
= arg (n1) + φ (Ax) -���
���'� &?��. � �	 ������
�� nx 
� vx 
��������
�

���� d2vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
�	� 
� dx = d2 � ��

���
� 
�� ���� ��	������ �
�$��
��

�� &���
� dx �= d2� arg

(
v1
vx

)
= arg (n1) +φ (Ax)+ 90

◦
-���
���'� &?��. � �	 ������
��

nx 
� vx 
��������
� ���� d1vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� �


�	� 
� dx = d1 � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� dx �= d1 � dx �= d2� tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)
d2R >

d2I -���
���'� &?�?.� � �	 ������
�� nx 
� vx 
��������
� ����

d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d3 = d2R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

))
� ��

���
� 
�� ���� ��	������ �
�$��
��

B� &���
� dx �= d1� dx �= d2� � dx �= d3� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d1R >

d1I -���
���'� &?�B.� � �	 ������
�� nx 
� vx 
��������
� ����

d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d4 = d1R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

))
�
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���
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6 ������ ��
 ��	� 	���
��� A1� ��
�	���� 
� �����
���	�!� @
��� 7�.A �� �������� 
��

)�
���� �� n1� d1 =
n1

v1
� d2 =

n1

v2
� n4λ = d1v1pred � n2λ = d2v2suc� �
 )�
�� �� vx �� 	���	����

*� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�.�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #.�* � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d2vx� dx = d2� ��

?��	�� >!���� �
� 
� 	����	�!� #.�* �� �
��� 	
��
�� ����� � 	
���� �A dx = d3�

�A dx = d4 � 	A dx = d1� � �
� �� 	��� 	���� �
 )�
�� ��
 �
������� nx �����������

)���:	� 
� 	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d2vx� )���:	���� 
� 	����	�!� #.�* �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S2

� ����� S2 �� ����� ��
 �������� ��

) ���	�� d1 � d2� � arg (d2 − d1) = 0◦�


A (�� n∗
x �
 �
������� �� vx ����������� 	��� d3vx� �����	�� Ax =

n∗
x

S3

� �����

S3 �� ����� ��
 �������� �� ) ���	�� d2 � d3� arg (d3 − d2) = 90◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 90◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d3

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�

arg (d3) = arg (d2) + 90◦. dx = d3 )���:	� 
� 	����	�!� #.�*� �
���� �
�

arg

(
v2
vx

)
= arg (n1) + φ (Ax)− 90◦ + arg (d2) + 90◦ − arg (d2)

= arg (n1) + φ (Ax) .

(�� α = arg (d2)� α = 0◦ � α = 180◦� �����	�� arg (d3) = 90◦ � arg (d3) = 270◦�


� �
� �� �� �����
� ����
� d3R = d2R �= 0� ;�� ������ nx �� 
�� ��

	�!�� n∗
x

�� 
� �� � dx = d3 �� �� 
�� ��

	�!��

	A = ��� �
 ����� 	��� �� �
 ������� 7�.�

�A (�� n∗
x �
 �
������� �� vx ����������� 	��� d1vx� �����	�� Ax =

n∗
x

S1

� �����

S1 �� ����� ��
 �������� �� ) ���	�� d4 � d1� arg (d4 − d1) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 270◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d1

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�
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arg (d1) = arg (d2) + 270◦. dx = d1 )���:	� 
� 	����	�!� #.�*� �
���� �
�

arg

(
v2
vx

)
= arg(n1)− 270◦ + φ(Ax) + arg(d2) + 270◦ − arg(d2)

= arg(n1) + φ(Ax).

(�� α = arg (d2)� α = 0◦ � α = 180◦� �����	�� arg (d1) = 270◦ � arg (d1) = 90◦�


� �
� �� �� �����
� ����
� d1I = d2I = 0� ;�� ������ nx �� 
�� ��

	�!�� n∗
x ��


� �� � dx = d1 �� �� 
�� ��

	�!��

+� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�.�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #.�+ � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d1vx� dx = d1� ��

?��	�� >!���� �
� �� dx �= d2� 
� 	����	�!� #.�+ �� �
��� 	
��
�� ����� � 	
����

�A dx = d3 � �A dx = d4� � �
� �� 	��� 	���� �
 )�
�� ��
 �
������� nx �����������

)���:	� 
� 	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d1vx� )���:	���� 
� 	����	�!� #.�+ �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S1
� ����� S1 �� ����� ��
 �������� ��

) ���	�� d1 � d4� � arg (d4) = arg (d1) + 270◦.


A = ��� �
 ����� 	��� �� �
 ������� 7�.�

	A (�� n∗
x �
 ����������� �� vx ����������� 	��� d4vx� �����	�� Ax =

n∗
x

S4
�

����� S4 �� ����� ��
 �������� �� ) ���	�� d3 � d4� arg (d4 − d3) = 180◦ ���


� �����
���	�!�� � ��� 
� �������	�!� 7�+� arg (n∗
x) = 180◦ − ϕ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d4

)
= arg

(
nx

d1

)
� �� ����� �� ���
	� �
�

arg (d4) = arg (d1) + 270◦� dx = d4 )���:	� 
� 	����	�!� #.�+� �
���� �
�

arg

(
v1
vx

)
= arg (n1)− 180◦ + φ (Ax) + arg (d1) + 270◦ − arg(d1)

= φ (Ax) + 90 + arg (n1) .

(�� α = arg(d1)� α = 0◦ � α = 180◦� �����	�� arg (d4) = 270◦ � arg (d4) = 90◦�

���� �� �� �����
� ����
� d4I �= 0 �
���� �
� d1I = 0� ;�� ������ nx �� 
��

��

	�!�� n∗
x �� 
� �� � dx = d4 �� �� 
�� ��

	�!��

.� = ��� �
 ����� 	��� �� �
 ������� 7�.�

7� = ��� �
 ����� 	��� �� �
 ������� 7�.� �



��1 ����� #�
������
���

%�/� �� d1R = 0* d1I �= 0�

2� ���
�	�!� �� �
����� �� 
� :�
�� ,�-�

9��
�� ,�-� ��	����

� 	�� d1R = 0� d1I �= 0�

2��
��� ��'

�,��
���
�� ���� A1 �� ���� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
 ��� �>�����


v1 =
n1

d1
� v2 =

n1

d2
� �	 
�$����� 
� 	� �������� 
���
�� � A1� 
� �>�����
 v2 =

n1

d2
� v2suc =

n2λ

d2
�

� �	 
�$����� 
� 	� �������� ���
���
�� � A1� ��� �>�����
 v1pred =
n4λ

d1
� v1 =

n1

d1
� ��
�
 ��


����
� ����1������� ��� Ax �� ���� 
� 	� �������� 
� �>�����
 vxpred =
nx

dxpred
� vx =

nx

dx
��


����
� ����1������� 
��
� vx =
nx

dx
�
 �� �>����� ������������� � 	� �����
����'� 
�	 ���� Ax

��� �� 
�$����� 
� 	� ��������� 5������
�

�� arg

(
v2
vx

)
= arg (n1) + φ (Ax) -���
���'� &?��. � �	 ������
�� nx 
� vx 
��������
�

���� d2vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
�	� 
� dx = d2 � ��

���
� 
�� ���� ��	������ �
�$��
��

�� &���
� dx �= d2� arg

(
v1
vx

)
= arg (n1) +φ (Ax)+ 90

◦
-���
���'� &?��. � �	 ������
��

nx 
� vx 
��������
� ���� d1vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� �


�	� 
� dx = d1 � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� dx �= d1 � dx �= d2� tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)
d2R >

d2I -���
���'� &?�?.� � �	 ������
�� nx 
� vx 
��������
� ����

d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d3 = d2R

(
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 90◦

))
� ��

���
� 
�� ���� ��	������ �
�$��
��
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B� �� dx �= d1� dx �= d2 � dx �= d3� �������
 dx = d4�

������
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6 ������ ��
 ��	� 	���
��� A1� ��
�	���� 
� �����
���	�!� @
��� 7�.A �� �������� 
��

)�
���� �� n1� d1 =
n1

v1
� d2 =

n1

v2
� n4λ = d1v1pred � n2λ = d2v2suc� �
 )�
�� �� vx �� 	���	����

*� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�.�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #.�* � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d2vx� dx = d2� ��

?��	�� >!���� �
� 
� 	����	�!� #.�* �� �
��� 	
��
�� ����� � 	
���� �A dx = d3�

�A dx = d4 � 	A dx = d1� � �
� �� 	��� 	���� �
 )�
�� ��
 �
������� nx �����������

)���:	� 
� 	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d2vx� )���:	���� 
� 	����	�!� #.�* �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S2

� ����� S2 �� ����� ��
 �������� ��

) ���	�� d1 � d2� � arg (d2 − d1) = 0◦


A = ��� �
 ����� 	��� �� �
 ������� 7�.�

	A = ��� �
 ����� 	��� �� �
 ������� 7�.�

�A (�� n∗
x �
 �
������� �� vx ����������� 	��� d1vx� �����	�� Ax =

n∗
x

S1

� �����

S1 �� ����� ��
 �������� �� ) ���	�� d4 � d1� arg (d4 − d1) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 270◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d1

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�

arg (d1) = arg (d2) + 270◦. dx = d1 )���:	� 
� 	����	�!� #.�*� �
���� �
�

arg

(
v2
vx

)
= arg(n1)− 270◦ + φ(Ax) + arg(d2) + 270◦ − arg(d2)

= arg(n1) + φ(Ax).

(�� α = arg (d1)� α = 90◦ � α = 270◦� �����	�� arg (d2) = 180◦ � arg (d2) = 0◦�


� �
� �� �� �����
� ����
� d2I = d1I �= 0� ;�� ����� nx �� 
�� ��

	�!�� n∗
x ��


� ��� � dx = d1 �� �� 
�� ��

	�!��

+� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�.�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #.�+ � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d1vx� dx = d1� ��



��- ����� #�
������
���

?��	�� >!���� �
� �� dx �= d2� 
� 	����	�!� #.�+ �� �
��� 	
��
�� ����� � 	
����

�A dx = d3 � �A dx = d4� � �
� �� 	��� 	���� �
 )�
�� ��
 �
������� nx �����������

)���:	� 
� 	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d1vx� )���:	���� 
� 	����	�!� #.�+ �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S1

� ����� S1 �� ����� ��
 �������� ��

) ���	�� d1 � d4� � arg (d4) = arg (d1) + 270◦.


A = ��� �
 ����� 	��� �� �
 ������� 7�.�

	A (�� n∗
x �
 ����������� �� vx ����������� 	��� d4vx� �����	�� Ax =

n∗
x

S4

�

����� S4 �� ����� ��
 �������� �� ) ���	�� d3 � d4� arg (d4 − d3) = 180◦ ���


� �����
���	�!�� � ��� 
� �������	�!� 7�+� arg (n∗
x) = 180◦ − ϕ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
n∗
x

d4

)
= arg

(
nx

d1

)
� �� ����� �� ���
	� �
�

arg (d4) = arg (d1) + 270◦� dx = d4 )���:	� 
� 	����	�!� #.�+� �
���� �
�

arg

(
v1
vx

)
= arg (n1)− 180◦ + φ (Ax) + arg (d1) + 270◦ − arg(d1)

= φ (Ax) + 90 + arg (n1) .

(�� α = arg (d1)� α = 90◦ � α = 270◦� �����	�� arg (d4) = 0◦ � arg (d4) = 180◦�

;�� ����� d4 = (0, 0) �� �
��� ��� 
�� ��

	�!�� �
�� �
 ) ���	� vx �� �� 	����

.� = ��� �
 ����� 	��� �� �
 ������� 7�.�

7� (� dx �= d2� dx �= d1 � dx �= d3 ���� ��� dx = d4�

�

2�� ���
������ �������� ��� ���
���� �
 ������� 7�.� ����� Ax �� 
� ��	� �� 
� 0�������

�� ) ���	�� vx =
nx

dx
� vxsucc =

nx

dxsucc
� �
������ �� ������� ������������ � �������	������ �


� ��������C��	��

%��0� )� d2R = 0* d2I �= 0�

2��
��� ���0

�����
�� ���� A1 �� ���� ����	��� 
� 	� �������� 
�	 ���#���� 
� ��	���
� ��� �>�����
 v1 =
n1

d1
� v2 =

n1

d2
� �	 
�$����� 
� 	� �������� 
���
�� � A1� 
� �>�����
 v2 =

n1

d2
� v2suc =

n2λ

d2
� �
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�	 
�$����� 
� 	� �������� ���
���
�� � A1� ��� �>�����
 v1pred =
n4λ

d1
� v1 =

n1

d1
� ��
�
 ��


����
� ����1������� ��� Ax �� ���� 
� 	� �������� 
� �>�����
 vxsuc =
nx

dxsuc
� vx =

nx

dx
� ��


����
� ����1������� 
��
� vx �
 �� �>����� ������������� � 	� �����
����'� 
� �� 
�$����� 
�

	� �������� � �	 ���� Ax� 5������
�

�� arg

(
v2
vx

)
= φ (Ax) + arg(n1) − 90◦ -���
���'� &B��. � �	 ������
�� nx 
� vx


��������
� ���� d2vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
�	� 
�

dx = d2� � �� ���
� 
�� ���� ��	������ �
�$��
��

�� &���
� dx �= d2� arg

(
v1
vx

)
= φ (Ax) + arg(n1) -���
���'� &B��. � �	 ������
�� nx 
�

vx 
��������
� ���� d1vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
�	� 
�

dx = d1� � �� ���
� 
�� ���� ��	������ �
�$��
��

?� &���
� dx �= d1� dx �= d2 � tan

(
arg

(
1

vx

)
− φ (Ax) + 270
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(
arg

(
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vx
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���'� 
�	 ������
��
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� � 
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(
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vx

)
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�� ���� ��	������ �
�$��
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B� �� dx �= d2� dx �= d1 � dx �= d4 
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 ����� ) ���	�� �����	�� arg
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	� �
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arg (d3) = arg (d2) + 90◦� dx = d3 )���:	� 
� 	����	�!� #7�*� �
���� �
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arg
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vx

)
= arg (d2) + 90◦ − arg (d2) + arg (n1)− 180◦ + φ (Ax)

= arg (n1) + φ (Ax)− 90◦.

#��� arg (d3) = ± arg (d2)� nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d3 �� �� 
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	�!��
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 ������� 7�7�

�A (�� n∗
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 �
������� �� vx ����������� 	��� d1vx. �����	�� Ax =

n∗
x

S1
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�� ;�� ������ nx �� 
�� ��

	�!�� n∗
x �� 
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�� ��
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 ������� 7�7�
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�� ����� ���
�	�	�!� ��
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� 	����	�!� #7�7 �� �
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	� �
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x) = arg (vx)+180◦−φ (Ax)� ;�� ����� α = arg (vx)−φ (Ax)+270◦�

� 	��� �
 ���
����� �� d4 )���:	� d4I = d1R tan (α) > d1I @��� 
� �����
���	�!�A�

�� ��	��� 
� 	����	�!� #7�7 �� �����0�	��

(� dx = d3 �����	�� d3 = d3R + jd3I = jd1R tan (arg (vx) + 180◦ − φ (Ax))� � �
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������� n∗
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��� 	�
	

���� �������� 
� �������!�
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(� dx = d3� �����	�� arg (d3) = arg (d4) + 270�� �� ���� 	��� arg (d3) = 90◦ �

arg (d3) = 270◦� �����	�� arg (d4) = 0◦ � arg (d4) = 180◦� 
� �
� �� �� �����
�

����
� d4I = d3I �= 0� ;�� ������ nx �� 
�� ��

	�!�� n∗
x �� 
� �� � dx = d3 �� �� 
��

��

	�!��

7� (� dx �= d2� dx �= d1 � dx �= d4 �����	�� ���� ��� dx = d3�

�
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����
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��
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��� ����� #�
������
���
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(
v2
vx

)
= φ (Ax) + arg(n1) − 90◦ -���
���'� &B��. � �	 ������
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� vx


��������
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���
���� 	� ���
���'� 
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� � 
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�$��
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� dx �= d2� arg
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vx

)
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���
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� � 
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�

dx = d1� � �� ���
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�� ���� ��	������ �
�$��
��

?� &���
� dx �= d1 � dx �= d2� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d2R >

d2I -���
���'� &B�?.� � �	 ������
�� nx 
� vx 
��������
� ���� nx =

d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d3 = d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
� � ��

���
� 
�� ���� ��	������ �
�$��
��

B� &���
� dx �= d1� dx �= d2 � dx �= d3� tan

(
arg

(
1

vx

)
− φ (Ax) + 270◦

)
d1R >

d1I -���
���'� &B�B.� � �	 ������
�� nx 
� vx 
��������
� ���� nx =

d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 270◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d4 = d1R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 270◦

)]
�
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= arg

(
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d2
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� �� ����� �� ���
	� �
�

arg (d3) = arg (d2) + 90◦� dx = d3 )���:	� 
� 	����	�!� #7�*� �
���� �
�

arg

(
v2
vx

)
= arg (d2) + 90◦ − arg (d2) + arg (n1)− 180◦ + φ (Ax)

= arg (n1) + φ (Ax)− 90◦.

(�� α = arg (d2)� α = 0◦ � α = 180◦� �����	�� arg (d3) = 90◦ � arg (d3) = 270◦�


� �
� �� �� �����
� ����
� d3R = d2R �= 0� ;�� ������ nx �� 
�� ��

	�!�� n∗
x

�� 
� �� � dx = d3 �� �� 
�� ��

	�!��

	A = ��� �
 ����� 	��� �� �
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x �
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d1
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= arg
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� �� ����� �� ���
	� �
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���� �
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arg

(
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vx
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= 270◦ + φ (Ax) + arg (n1) = φ (Ax) + arg (n1)− 90◦.
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� dx �= d2� arg

(
v1
vx

)
= φ (Ax) + arg(n1) -���
���'� &B��. � �	 ������
�� nx 
�

vx 
��������
� ���� d1vx 
���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
�	� 
�

dx = d1� � �� ���
� 
�� ���� ��	������ �
�$��
��



2��� �� d1R = 03 d1I �= 0� ���

?� &���
� dx �= d1 � dx �= d2� tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)
d2R >

d2I -���
���'� &B�?.� � �	 ������
�� nx 
� vx 
��������
� ���� nx =

d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
vx 
���
���� 	� ���
���'� 
�	 ������
��

-	��� B�B.� 
� � 
�	� 
� dx = d3 = d2R

[
1 + j tan

(
arg

(
1

vx

)
− φ (Ax) + 180◦

)]
� � ��

���
� 
�� ���� ��	������ �
�$��
��

B� &���
� dx �= d1� dx �= d2 � dx �= d3� �	 ������
�� nx 
� vx 
��������
� ���� d1vxsuc


���
���� 	� ���
���'� 
�	 ������
�� -	��� B�B.� 
� � 
'	� 
� dx = d4 = d1
vxsuc
vx

�
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)�
���� �� n1� d1 =
n1

v1
� d2 =

n1

v2
� n4λ = d1v1pred � n2λ = d2v2suc� �
 )�
�� �� vx �� 	���	����

*� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�7�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #7�* � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d2vx� dx = d2� ��

?��	�� >!���� �
� 
� 	����	�!� #7�* �� �
��� 	
��
�� 	
���� �A dx = d3� �A dx = d4

� 	A dx = d1� � �
� �� 	��� 	���� �
 )�
�� ��
 �
������� nx ������������ )���:	� 
�

	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d2vx� )���:	���� 
� 	����	�!� #7�* �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S2
� ����� S2 �� ����� ��
 �������� ��

) ���	�� d2 � d3� � arg (d3 − d2) = 90◦�


A = ��� �
 ����� 	��� �� �
 ������� 7�7�

	A = ��� �
 ����� 	��� �� �
 ������� 7�7�

�A (�� n∗
x �
 �
������� �� vx ����������� 	��� d1vx. �����	�� Ax =

n∗
x

S1
�

����� S1 �� ����� ��
 �������� �� ) ���	�� d2 � d1� arg (d2 − d1) = 0◦ @���


� �����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = −φ (Ax)� #��� vx ��

�
 ����� ) ���	�� �����	�� arg

(
n∗
x

d1

)
= arg

(
nx

d2

)
� �� ����� �� ���
	� �
�

arg (d1) = arg (d2) + 270◦. dx = d1 )���:	� 
� 	����	�!� #7�*� �
���� �
�

arg

(
v2
vx

)
= 270◦ + φ (Ax) + arg (n1) = φ (Ax) + arg (n1)− 90◦.



��1 ����� #�
������
���

(�� α = arg (d1)� α = 90◦ � α = 270◦� �����	�� arg (d2) = 180◦ � arg (d2) = 0◦�


� �
� �� �� �����
� ����
� d2I = d1I �= 0� ;�� ����� nx �� 
�� ��

	�!�� n∗
x ��


� ��� � dx = d1 �� �� 
�� ��

	�!��

+� ⇐| = ��� �
 ����� 	��� �� �
 ������� 7�7�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� 
� 	����	�!� #7�+ � 
�

	����	�!� ��
 �
������� �� �����0�	��� �����	�� 
� ��

	�!� nx = d1vx� dx = d1� ��

?��	�� >!���� �
� �� dx �= d2� 
� 	����	�!� #7�+ �� �
��� 	
��
�� ����� � 	
����

�A dx = d3 � �A dx = d4, � �� 	��� 	���� �
 )�
�� ��
 �
������� nx �����������

)���:	� 
� 	����	�!� ��
 �
��������

(�� nx �
 �
������� �� vx ����������� 	��� d1vx, )���:	���� 
� 	����	�!� #7�+ �


� 	����	�!� ��
 �
�������� 6����� Ax =
nx

S1
� ����� S1 �� ����� ��
 �������� ��

) ���	�� d1 � d2� � arg (d2 − d1) = 0◦.


A = ��� �
 ����� 	��� �� �
 ������� 7�7�

	A (�� n∗
x �
 �
������� �� vx ����������� 	��� d4vx� �����	�� Ax =

n∗
x

S4
� �����

S4 �� ����� ��
 �������� �� ) ���	�� d4 � d1� arg (d1 − d4) = 270◦ @��� 
�

�����
���	�!�A� � ��� 
� �������	�!� 7�+ arg (n∗
x) = 270◦ − φ (Ax)� #��� vx

�� �
 ����� ) ���	�� �����	�� arg

(
nx

d1

)
= arg

(
n∗
x

d4

)
� �� ����� �� ���
	� �
�

arg (d4) = arg (d1) + 270◦� dx = d4)���:	� 
� 	����	�!� #7�+� �
���� �
�

arg

(
v1
vx

)
= arg (d1) + 270◦ − arg (d1) + arg (n1)− 270◦ + φ (Ax)

= arg (n1) + φ (Ax) .

(�� α = arg (d1)� α = 90◦ � α = 270◦� �����	�� arg (d4) = 0◦ � arg (d4) = 180◦�

;�� ����� d4 = (0, 0) �� �
��� ��� 
�� ��

	�!�� �
�� �
 ) ���	� vx �� �� 	����

.� = ��� �
 ����� 	��� �� �
 ������� 7�7�

7� ⇐| (� dx = d4 �����	�� Ax =
nx

S4
� ����� S4 �� ����� ��
 �������� �� ) ���	�� d4 � d1�

)���:	������ �
� arg (d1 − d4) = 270◦ @��� 
� �����
���	�!�A� #��� d4 = d1
vxsuc
vx

�

nx = d4vx� �
����
����� �� ����� �
� nx = d1vxsuc�

⇒| ;��� ��������� ���� ���
�	�	�!�� ����� ������ �
� �� nx = d1vxsuc� )���:	� 
�

	����	�!� ��
 �
�������� �����	�� dx = d4 = d1
vxsuc
vx

� 
� 	
�
 �� �)�������

�
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